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The cost price of 36 books is
equal to the selling price of 30
books. The gain per cent 1s :
36 ol =t @ gea 30 fRamt @
fawa gea. & awer €, @ ufaee o S|
F

4
(a) 20% (b) 16 %

(c) 18% ) 822 %

If 3 toys are sold at the cost
price of 4 toys of the same kind,
the profit will be:

Afe 3 faelH #1 4 fadl # arE e
W A S g, @ ufred ey 9| S

1
(a) 25% (b) 335 %

(c) 662 % (d) 50%

If the cost price of 15 tables is
equal to the selling price of 20
tables. the loss per cent is :

afg 15 Al &1 a0 Jod 20 wo & fa
4% WO €, o ufeed el S| w1 g
(a) 20%
(c) 25% (d) 37.5% A

The cost price of 18 a_rtléles 18

equal to the selling p Ce of 15
articles. The gain p cent 18:

afz ISNﬁﬁWT@J 15 =g
F fan, = awad B9 ufaem @
@ H

(a) 15% (b) 20%

(c) 25% (d) 18%

The ratio of cost price and
selling price is 5 : 4, the loss
per cent 1s :

T el el fo, 1 S 5:4 8, dl
ufqerd @ w1
(a) 20%

(c) 40%

(b) 25%
(d) 50%

328 |

2
N 16—10
) BBy 63%

(b) 30% =

PROFIT & LOSS

The ratio of the C. P. and 8. P.
of an article 1s 20: 21. What is
the gain per cent ?

T FE H AWM qed wen faw w7
A 20221 7, @ wfawd e F| FH
la) 5% (b) 5.5%

[c) 6% (d) 6.25%

If selling price of an article is s~

5
profit per cent on it is : K, e
afg fwdl o &1 9. 39F @ﬂ‘q 3‘35_“‘1
® T 0 E, @ e tvnﬂmm F
a) 120% (6{160%

(d) 40% ) 0%

If the cost-ytice’ of 12 oranges
is equal to, Sﬁﬂlng price of 10
oranges, then the percentage

of profitis
12 AR @ T 10 S F A

- G

(b) 20%

(c) 18% (d) 25%

In selling an article for Rs 76,
there 1s a profit of 52%. If it 1s
sold for Rs. 75, the profit per-
cent will be

76 TH | UF 9% HI 997 T 52% AN
T 1 AR 39w w75 T § A
L2 R o 1 e e ord

(a) 44% (b) 46%

(c) 48% (d) 50%

10. A merchant marked cloth at 50

per metre. He offers 2 successive
discounts of 15% and 20%. The
net price/metre is:

FE A w92 W 50 wa " g T
STt L &1 9 FE: 15% 3 20%
e 2@ 21 ufd . fee (32) #iwa w
g7

8 . g .
— times of its cost price, the
P

11.

12.

13.

14.

15.
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(a)* 32.50 (b) *42.50
(c)* 34.00 (d) *40.00
A coco t merchant finds that

the cost p‘mce of 2750 coconuts
is E}:fe sa&me as the selling price
of 2500 coconuts. His loss or

(o fere = e 7 © R 2750

aifrel #1 %7, 2500 TiEe + fag
% qU €, A SuR yfewE @ 71w
1 B?

(a) 5% (b) 10% gain
(c) 15% loss (d) 20% gain

If the cost price of 15 books is

equal to the selling price of 20
books. The loss percent is

4% 15 TohaEl 1 %9 Jed 20 el &
fag, & s &, o wiew w1t s
(a) 16 (b) 20
(c) 24 (d) 25
If the loss of percent on article

is 15%. Then the ratio of the
cost price and sell price will be

Tt fodll =g W 15% 1 81 & df 385
w9 Ueq AR o e 1 E SaEu?
(a) 17 : 20 (b) 20 : 17
(c)23: 15 (d) 15 : 23

The cost price of 24 apples 1s
the same as the selling price
of 18 apples. The percentage of
g4l 1s.

24 W4t 1 w7, 18 Tal = fay +
TR €, A afend o F|

(@) 123 (b) 145
() 163 (@) 33

If the cost price of an article is
80% of its selling price, the
profit percent is :
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16.

17.

18.

19.

20
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afe f&edt g 1 %9 g Iua faq
1 80% €, A yfaw@ 9 7 |

1
(a) 20% (b) 225 %

(c) 24% (d) 25%
List price of TV is Rs. 2300 and
discount series found to be 25%

and 10%. Then the selling price
of TV is

faedt A1, F1 g=t F19a Rs. 2300 &
3R 31 W =L 25% 3 10% 7@ ar

fowa qod wdgu?
(a)Rs. 1255.5 (b) Rs. 1525.5
(c)Rs. 1552.5 (d) Rs. 1555.2

The cost price : selling price of
an articleis a : b . If b 1s 200%
of a then the percentage of
profit on cost price is

UF g w4 Ted 99 fan. w1 S
a:b @l 3 b, a # 200% €, @ F4
Weq W Afowra ey #@a wH

(a) 75% (b) 125%

(c) 100% (d) 200%

Gopi goes from place A to B to
buy an article costing 15% less
at B. although he spends Rs.
150 on travelling, still he gains
Rs. 150 compared to buying it
at A. His profit percent is:

Tt feRet o W wied ® fow e A
¥ wF B & 9 § FiE @H B W
TE 9% 15% #9 Jod W oot 2
7afd AH-s # 9% Rs. 150 =
2 S F iR off T A 9 39 mied = -
qo § 3¥ Rs. 15037[@:%1?11%‘}*

2L

22.

23.

SR W WO 0§ 0
(a)4.5 b6
(€)7.5 @ 8 L

If toys are bought a‘ﬁ;?'fi each
and sold at Rs. 4.50 eﬁ%h then
the loss 1s: &;"

aft faei 5 ufd f@?ﬁﬂn 1 Y
4.50 i faeim &1 @ & 4= fad T

gfeer 17 @ F
(a) 10% (b) 115%
() 12% (d) 13%

The price of a refrigerator and
a television set are in the ra-
tio 5 : 3. If the refrigerator costs
Rs.5500 more than the televi-
sion set, then the price of the
referigerator is :

24.

F fEsher qen uw do o % gedl
F1 SR 5:3 71 AR WFoRe F F1d
o =0 F 5500 wAfaw A ket #=Y

FiHd TG FHL
(a) Rs.27500  (b) Rs. 8250
(c) Rs. 13750 (d) Rs. 16500

If books bought at prices from
Rs. 150 to Rs. 300 are sold at
prices ranging from Rs. 250 to
Rs. 350. what is the greatest
possible profit that might be
made in selling 15 books ?

1509 300 # o9 3 yeai W fHad
wldl ol € @i 250 § 350 & =
F gedl W IR A= S eA 15
fopaml #1 A=A W Afawan e
gm?

{a) Cannot be determined

(b) Rs. 750

(c) Rs. 4,250

(d) Rs. 3,000 b

An article marked at Rs. 540 1§
sold at Rs. 496.80 in an\ “off-
season offer. Then thga{ate of
discount offered (in percent] is
Rs. 540 =ifrd Wﬁ{ FK T Aw
Hrow 3§ Rs. 4968%)1??3@\‘?11?1'1%‘

mmﬂéigﬁaff%ﬁ(uﬁmn)?nﬂ?
(@7 0 (b)7.5
(©)8 o’ (@ 10

A house ‘and a shop were sold
for"‘/lgs. 1 lakh each, In this
_fransaction, the house sale re-
Cdudlted into 20% loss whereas

. the shop sale into 20% profit.

The entire transaction resulted
i -

T Y G91 UH §HM, T &l | o
F A= T T T 209 FP A GE qer
THA W 20% FT 9 &A1, @ QR H:
i = @

|a) no loss no gain

: 1
(b) gain of Rs. alakh

lakh

(c) loss of Rs. 15

(d) loss of Rs. % lakh

A shopkeeper sells two T. V. sets
at the same price. There 1s a gain
of 20% on one TV and a loss of
20% on the other. State which of
the following statement is correct

25.

27.

28.
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TF FHFASR aUat el W g Al d2
aea1 81 AfE UF 9 3H 20% F1 AN g
qom I W 3IW 20% w @A g, A g
q FH W FOH TA 2

(a) The shopkeeper makes no
net gain or profit

(b] The shopkeeper loses by 2%
(c) The shopkeeper gains by 4%
(d) The shopkeeper loses by 4%
A man sells two pipes at Rs. 12
each. He gains 20% on one and
loses 20% on the other. In the
whole transaction, there is
TF A 12 TE/MAET F1 =T H ) UE
A1 B W R S 20% TN g A
@i‘m%ﬁ?ﬁ%ﬁ%‘fﬁ@ a7 HR
Eak ERI[, A TEl

o~ [a] Nmther loss nor gain

. [b] Profit of Rs. 1
““lc) Loss of Rs. 1

(d) Profit of Rs. 2

. A shopkeeper sells two tape

recorders at the same price .On
one, he gains 10% and on the
other he loses 10%. The total gain
or loss in the transaction is

UF gHAER 7 AR THE FIEd W
A1 B TEA JURKTE W W 10% w19
B ¥ T gHY SURETER W SH 10% HT
=1 et &, 9 39 O ¥ ufaem o @
g I F
(@) 1% gain (b) 1% loss

(c) No loss or gain

(d) 2% loss

A man bought a watch for 10%
discount. If he had bought for
20% discount he would have got
the watch for * 125 less. The
marked price of the watch is.
Tl =faq 3 % 92 10% #1 T T
TEN A 98 W 20% # P W
wiiga at 39 9t © 125 %8 | foert
S F ifRd qod aary?

(a) * 2500 (b) - 1250

(c) * 3750 (d) * 1000

By selling a tape-recorder for
* 1040 a man gamns 4%. If he sells
it for * 950, his loss will be

UF afFEET #1040 § 591 W UF
IfRT 1 4% H o B 3 AR 9w
* 950 ¥ 39 dr 39 farr wiawe =i 2nir?
(a) 5% (b) 4%

(c) 4.5% (d) 9%
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29.

A television and a refrigerator
were sold for Rs. 12,000 each If
the television was sold at a loss
of 20% of the cost and the re-
frigerator at a gain of 20% of the
cost, the entire transaction re-
sulted in

12000 9 H a=1 W AR Iolfash #:)
20% BT W qen s F 20% A9 W
I T, A R OER w1 ufom = @
() No loss or gain

(b) Loss of Rs. 1,000

(c) Gamn of Rs. 1,000

(d) Loss of Rs. 1,200

Two bicycles were sold for Rs.
3990 each gaining 5% on one
and losing 5% on other. The
gain or loss per cent on the
whole transaction is :

<1 grEfHel F1 3990 FE/ARRRA FT T
d o TN Yeddl WEfHT W 5% @Y
i & qun gEld W su i Ed #, @ @
O} 1 @9 1w F GEeE T w
(a) neither gain nor loss

(b) 2.5% gain

(c) 2.5% loss

(d) 0.25% loss

31. A cloth merchant has
announced 25% rebate in prices
If one needs to have a rebate of

' 40 then how many metres of
cloth costing * 32 per metre he
should purchase.

TF FIS-STH 7 AT FE | 25%
T H 5N 6T GETER A e #5040
Ff T2 oA A, @ IH sguﬁﬁamﬁf

30.

(a) 6m/ . (b) 5m /nﬁryf"‘i
(c) 10m /. (d) '?m@!\ﬁj
32. ATV was sold at a préfit of 5% If

it had been sold at aprgﬁt of 10%
the profit would Wave been® 1000
more. What is 1tg cost price?

T dial 5% o9 W = @ A 59
10% & W o= S df 1000 @1 #fy
% Y B SHB] FE-Ted SR’
(a)* 20000 (b) * 5000

(c)* 10000 (d) * 15000

A man sells two chairs at Rs. 120
each and by doing so he gains
25% on one chair and loses 25%

on the other. His loss on the whole
m Rs. 1s

33.
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34.

35.

36.

T = 120 ufa FE F S E 2 FEEr
THT T SR 9 Teel B W 25% o
aon Tmd wEt W I 25% wfy 6 E,
IGF FA TA(EE H) T4 F

(a) 20 (b) 16

[c) 25 (d) 30

A man sold two articles at Rs.
375 each. On one, he gains
25% and on the other, he loses

25% . The gain or loss% on the
whole transaction is

% AfF 7 375 ofq a%g F oW H I
TR SN TF TG W IH 25% A @l
A 5Hd A W W 25% o ;A |
R F vfwm W el e w5

(a) 6% loss

(b) 4 % profit

(c) Rs. 30 profit (d) 6- . 27 loss

A man wanted to se]l an article )

with 20% profit: but he acutall
sold at 20% loss for Rs. 480
what price he wanted to. segll 1{
to earn the profit? ™

TF R A ae #1200 A T
F=1 =Ea ® afE ergféu 480 H 20%
T T AT e @ S § W e

Ted WA gﬁfm >l
(a) Rs. 72w . (b) 840
(c) Rs. 60‘0 (d) Rs. 750

If an’; ax"ﬁ‘cle is sold at 5% gain
1nstead of 5% loss, the man
gamef Rs. 5 more. Flnd the cost
pr’me of that article

Tﬁﬁmﬁaﬁaﬁaﬁmaﬁaﬁ

_‘)._ R S R Y gt

37.

38.

% W Bl @ 9% F A Jed Jd F
(a) Rs. 100 (b) Rs. 105
(c) Rs. 50 (d)Rs. 110

On selling an article for Rs. 105
a trader loses 9%. To gain 30%
he should sell the article at

TF SR UF 5 F AfE 105w H
¥ €, A 3W 9% H B B 21 30%

w9 A F ford 38 awg i e s
WA =ifed?

(a) Rs. 126 (b) Rs. 144

(c) Rs. 150 (d) Rs. 139

An article 1s sold at a loss of
10%. Had it been sold for Rs. 9
more there would have been a
% on it. The cost

price of the article is:

gain of Pl

39.

41.

42.
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-"axloss of 12—%
\ -:"for Rs.

TF G T 10% B W S g A

R 9 T s H A A 125 % H

o B, 1 S F A0 ged T
(a) Rs.40 (b) Rs.45
(c) Rs.50 (d) Rs.35

By selling a table for Rs. 350
instead of Rs. 400, loss per cent
increases by 5%. The cost price
of table is :

TF Hel &1 400 T F 8¢l 350 | &=
W wfaeE e 5% @2 St #, @ AN F
A e AT FH
(a) RslﬁSO
(c) Re@ng

(b) Rs.417.50
(d) Rs.1,000

. A algqpkeeper sells an article at

Had he sold it

51.80 more, he would
have earned a profit of 6%. The
cost price of the article is

T GHASR TF F5] &l lZ%%ETﬁT{

w1 €, A% 9% 39 3% F1 51.80 T
AT Hed T 9 @ I8 6% T B
qt 9% F1 @ god 7 H

(a) Rs.280 (b) Rs.300

(c) Rs.380 (d) Rs.400

A person sells a table at a profit
of 10%. If he had bought the
table at 5% less cost and sold

for Rs. 80 more. he would have
gained 20%. The cost price of
the table 1s

us =Afad TH TS B 10% 9 9 a=Ear
21 Ak 9% q9 F 5% FH A W
wiEHT 80 T ifuF Ted W A= o
TE 20% T oMY B, A B FH ANE

T T4
(a) Rs. 3,200  (b) Rs. 2,500
(c) Rs. 2,000  (d) Rs. 200

An article is sold at a profit of
20%. If it had been sold at a

profit of 25%, it would have
fetched Rs. 35 more. The cost
price of the article 1s :

TF T I 20% ¥ T = T Al
o 1 25% TN T &= Sl @ IHH 35
T eAfas AR SN, o Sy 1 A

Tea F1 Fil
(a) Rs. 650 (b) Rs. 700
(c) Rs. 750 (d) Rs. 800
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43.

44.

45.

46.

47.
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A man gains 20% by selling an
article for a certain price. If he
sells it at double the price, the
percentage of profit will be :

TF =% HI TR [T o0 WSt
uF AR 20% 9 TR 21 AE qE IH
T F1E T FHAT T o 59w
i 1 A9 B2

(a) 40 (b) 140

(c) 100 (d) 120

A radio 1s sold for Rs. 990 at a
profit of 10%. What would have
been the actual protit or loss on
it had it been sold for Rs. 890 ?
wF et F 10% a9 W 990 H A=
T AfE W 890 T W = W@t
T =1 ene =1 =1iH 8idi?

(a) Rs. 10 loss (b) Rs. 10 profit
(c) Re. 90 loss  (d) Rs. 90 profit

A man gets Rs. 13 more by
selling an article at a profit of

1 -
125% than selling it at a loss

of 12 % The cost price of the

art1cle is -

1 e
mﬂaﬁﬁua%mﬁa&wua%

A9 WA= S & A 13 v s
e €, o 9% ®1 .9, 96 HI

(a) Rs.25.50 (b) Rs. 38
(c) Rs.52 (d) Rs. 65
The percentage of loss when an .«

article 1s sold at Rs. 50 1s the,v’.

same as that of the profit when- -
it is sold at Rs. 70. The abdve-~
mentioned percentage of.fprofflt
or loss on the article 13

50 ¥4 o fHeh =5g Fi w‘aﬁ'-ﬁ il
wfeema B Bt € ol S 1
70 TR H A W FHLE AR R W
19 41 B A H

2
(a) 10% (b) 16 %

(c) 20% (d) 22%%

A man sells an article at 10%
loss. If he had sold it at Rs. 10
more, he would have gained
10%. The cost price of the
article 1s

48.

49.

T AT T g 10% e 9 d=a 2
e 78 = F 10 T AfF qod T

=@ A I 10% TN EE, A 9w w1
F4 Yed F1G F

(a) Rs. 50 (b) Rs. 55

(c) Rs. 100 (d) Rs. 110

If a man were to sell his chair for
Rs. 720, he would loss 25%. To
gain 25% he should sell it for
afs wF =afw e wE KAk 720
T H A €, @ 59 25% 1w et
%, @ 25% o HHA B ferg 39 HEl F
e 9o W W a9 =0fed?

ja) Rs. 1,200  (b) Rs. 1,000

[c) Rs. 960 (d) Rs. 900

A book seller sells a book at a profit
of 10%. If he had bought it at 4%

less and sold it for Rs. 6 more. he

s 3 P,
would have gained 187 %. The [ °

cost price of the book is .y
TF T o @ fEae 10%@?‘3;
T ¥ AR TE 39 A AT
Tqm@ﬂzmmﬁmﬁaﬁ{m{mm

ma’rmls-%ag‘m%ﬁmw

R S LA
/ rb]Rs 140

(a) Rs. 130
(c) Rs. ]50 "4 (d) Rs. 160

50. An n;wmeasé ‘of Rs. 3 in the sell-

ing price’ of an article turns a
Vs Nl

loss of 7—%1nt0 a gain of 7—%

’El;;e cost pnce (in Rs.) of the ar-
ticle 1s :

o AR AR A3 A A

al.

1 4 1 g a
75 % B % el 7 % o o e |l
T F FI-Ted T4 H=E
(a) 25 (b) 20
() 15 (d) 10
A businessman sells a com-
modity at 10% profit. If he had
bought it at 10% less and sold
it for Rs. 2 less, then he would

have gained 163 . The cost

price of the commodity is
TS A U a5 B 10% T W awdr

#1 4R o8 o9& F1 10% %9 54 9 @l
AR 2% 9 A AT 162 o6 7 2,

Al =% H G T T

B2

53.

59;

56.
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o5 2
L _\e(a} 2 65 %

(a) Rs. 32 (b) Rs. 36

(c) Rs. 40 (d) Rs. 48

A store sells a watch for a profit
of 25% of the cost prize. Then
the percentage of profit against
selling price 1s

TH BRH ad §od & 25% " W
=t A= St ¥ fosa g W oA #@
yftwra e srm?

(a) 22% (b) 20%

(c) 18% (d) 15%

If the selling price of an article
is doubled, then its loss
percent is converted into equal
profit pereent. The loss percent
on the£ xcle 1s

e B 1 4 T e
i it # aar wfavm o e 2,

(b) 33%

1
() 335 % (d) 34%

. A man sold some articles at a

gain of 10%. He spent his total
sale proceeds to purchase such
articles again. This time, while
selling them, he incurred a loss
of 10%. His loss or gain in the
transaction was

TF AfF A 10% a9 W FHD TeGga Fi
N ST A Tt F e Ui g s
YER T WA @iEE B SfFA = AR T
Fgel B 4 WY 10% e &, @ OR
o ofeerd =9 = =1 7w

(a) 1% loss (b) 1% gain

(c) no profit no loss

(d) 2% loss

By selling a basket for
Rs. 19.50, a shopkeeper gains
30%. For how much should he
gell it to gain 40%?

UF F F 19.50 ¥ F d=A W UH
THMRN T 30% 19 T 2, W 40% TN

FAH % fod 39 2+ foFe s ™
S =ifed)

(a) Rs. 21 (b) Rs. 21.50
(c) Rs.24 (d) Rs. 23

A man purchased a bedsheet
for Rs. 450 and sold it at a gain
of 10% calculated on the selling
price. The selling price of the
bedsheets was

TF A A 450 ¥ OH uE =i
wiewt 39 fay & 10% @ W 99
feam, 1 w=vie #1 fam, s A

(a) Rs. 460 (b) Rs. 475
(c) Rs. 480 (d) Rs. 500
|" 331
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S8.

59.

60.

61.

62.
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If an article is sold at 200%
profit then the ratio of its cost
price to its selling price will be
afs fedt a/g 1 200% @9 T S
ST € A qed 9o fa, # S
6 L

(@ 1:2 (b)2:1

(c)1:3 (d) 3:1

An article is sold at 5% profit.
The ratio of selling price and
cost price will be

TF T I 5% 9 W 4= I@E, @
faq, 991 %9 9o & I # em?
(@) 1:5 (b) 20 : 21

(c) 21 : 20 (d) 5:1

By selling a bicycle for Rs. 2,850
a shopkeeper gain 14%. If the
profit is reduced to 8%, then the
selling price will be

2850 ¥ ¥ UF WEfFd 996! TH
TFAER 14% 19 FA@ 81 9f% e
W2HT 8% T Wl ¥, A fad, 9| w1
(a) Rs. 2,600 (b) Rs. 2,700

(c) Rs. 2,800 (d) Rs. 3,000

A fruit seller makes a profit of
20% by selling mangoes at a

certain price. If he charges Rs.
1 more for each mango, he can

make a profit of 40%. Find the
selling price of a mango in the
first case.

oF ffead 97 o S A sEE T T
forgmel 20% =9 FHe 81 4 = 1 e
T Uh A Sl A1 39 40% @M B
et feofa B am 1 5 T I
(a) Rs. 6 (b) Rs. 5

(c) Rs. 5.50

handcart for Rs. 720, he wo{tld of
loss 25%. To gain 25"»@‘f the

selling price 18~
wF AR o R 720 ﬂ‘ %‘%ﬁn 5
39 25% #t T B %*?ﬁ‘QS%

FuR faRm # ﬁaﬁ{gﬁq 2 e
(a) Rs. 960 (b) Rs. 1,200
(c) Rs. 1,000  (d) Rs. 2,100

A grocery dealer cheats to the
extent of 10% while buying as
well as selling by using false
weight. What is his increase in
the profit percentage?

Told @2 & ST FE TF GHRAIR
wisd 99 10% 1 <N FHE & Fen
I THF St 10% o9 FHE E, @
S W e § fee gt e

332 |

(d) Rs. 7 p, y

If a man were to sell }%13\"";

(a) 20%
(c) 22%
(d) None of these

(b) 21%

63. Dinesh bought two radios for Rs.

1,920. he sold one at a profit of
20% and the other at a loss

6% %. If the selling price of both

radios are same, then find the
cost price of both radios.

femer 91920 9 <1 e =i = I
2
20% M9 9T a9 g9 =l 63 %M W

a9 fem 3R Im ed =1 fawa g
TR & A < e w1 % g T
(a) Re. 800 and Rs. 1,120
(b) Rs. 840 and Rs. 1,080
(c) Rs. 860 and Rs. 1,060
(d) Rs. 900 and Rs. 1,020

64. The reduction of Rs. 12 in the

selling price of an article igxﬂ

changes 5% gain int?& éi)"js

loss. The cost prlce c}f ‘the
article is ';

wWa?ﬁmgwﬁ”maﬁw

%Tm#vs%wv?ﬁazéﬁ

&I Bt %ﬁT aﬁ 1 %9 ed T FL
l2) REZTA0  (b) Rs. 160
(c) Rs.-80 (d) Rs. 100

% HT

65. Aﬂ “afticle was sold at a profit of

C¥2%. If the cost price would be

“ 10% less and selling price

would be Rs. 5.75 more, there
would be profit of 30%. Then at
what price it should be sold to
make a profit of 20% ?

TF A% F 12% 9 W a= EI IR
4 qeq 10% F9 war & fawa
qeq '5.75 eifuw W @ 30% 0T
giaal  20% e Fw:EA & fad
g5 # fFH FHq T d=1 7641 Ffen)
|a) Rs.115 (b) Rs. 120

(c) Rs. 138 (d) Rs. 215

66. A radio dealer sold a radio at a

loss of 2.5%. Had he sold it for
Rs. 100 more. he would have

gained 7 . In order to gain

12% % he should sell it for

67.

69.

70
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wF fear-faga 3w Heat 2.5% =i
o aH afs g8 e #1100

. y i
o YT T Al W 7 % @4

gl lza%mmmmaﬂm

& fred w1 A S =fed?
(a) Rs. 1080  (b) Rs 1125
(c) Rs. 850 (d) Rs. 925

An article is sold at a gain of
15%. Had it been sold for Rs. 27
more. the profit would have
been 20%. The cost price of the
article g%

TH FEYFLASU T A T AR
'e.'a;'?’ S T A S A 20%

_mﬂ”%’m T 9% FT H9 God T FHL
' (&Rs. 500
. CJC) Rs. 540

(b) Rs. 700
(d) Rs. 545
A businessman bought an
article and sold it at a loss of 5%. If

he had bought it for 10% less and
sold it for Rs. 33 more, he would

have had a profit of 30%. The cost
price of the article is

= 4 UE gEHE =he @i 39 5%
zif1 3= fom afz 52 gmm Fo10%
FU Wed W, Gieal oW 33 afuw
Hed WA= dl 3§ 30% o g, ot
HHA FH AR Hed A6 i

(a) Rs. 330 (b) Rs. 155

(c) Rs. 150 (d) Rs. 300

A shopkeeper sells an article
at 15% gain. Had he sold it for
Rs. 18 more, he would have
gained 18%. The cost price (in
Rs.) of the article is

UF TEARR A UF G 15% M W
It A 9 T FH 18 AuE g
a1 A IW 18% 9 B, A T F

F4 qoq T F
(a) 540 (b) 318
(c) 600 (d) 350

There would be a 10% loss. if
rice 1s sold at * 54 per kg. To
earn a profit of 20%, the price

of rice per kg will be

e =@ i 54 9fd fFm # s g o=
M E, @ 10% F 7 & 20% #
w9 WA e & fore e = i R
wima et gni?
(a) 72

(c)' 63

(b)* 70
(d) 65
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73.

4.

73.
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Pooja wants to sell a watch at a
profit of 20% . She bought it at
10% less and sold it at * 30 less,
but still she gained 20%. The
cost price of watch

Yol i TF g o= W 20% T o
e ® AfE 35 9w U 10% w9 °
i Bt AR 30 FH W A+ gl ar
T4 20% FH1 WY FAT T AL HT
A Hed # 87

(a)* 240 (b) * 250

(c) ~220 (d) 225

A profit of 12% is made when a
mobile phone is sold at ' P and
there 1s 4% loss when the phone
1ssold at'Q. Then Q : Pis

afg OieEe ®iH P ®1 T 9 &= S
o 12% 1 o9 e ok A% QW
I S T 4% FT E Bt 51 Q: P
N m?

(@) 1:1 (b)6:7

(c)4:5 (d)3:1

An article 18 sold at a profit of
25%.1f the selling price is
doubled, the profit % will be:
I g 25% o @rH 9L SHT S &1 4t
farst T g = o = @ anw far
B2

(a) 200% (b) 150%

(c) 100% (d) 50%

A man purchased an article for °
1500 and sold it at 25% above the
cost price. If he has to pay ' 75 as

tax on it his net profit percentage
will be:

76.The marked price of an article

is 10% higher than cost price.
A discount of 10% 1is given on
marked price. In this kind of
sale, the seller bears:

frdt ag w1 oifrd yeu SEE e
T § 10% A 81 Alhd Ted T 10%
H g2 & S &, @ fashar w1 wiave
A B el

(a) no loss no gain

(b) a loss of 5%

[c) a gain of 1%

(d) a loss of 1%

77. A dealer makes a profit of 20%

78.

C1¢'s0 : 61

even after giving a 10% discount
on the advertised price of a
scooter. If he makes a profit of
Rs. 7500 on the sale of the
scooter. the advertised price was

T I F fafm e mon g
F AR TF S 20% T FAG EN
% 3/ 7500 T AN T, WK

1 fafvd 9ed 7d ) . w-...
a) Rs. 45000 (b) Rs. 42500)"
c) Rs. 50000 (d) Rs. 52500

A shopkeeper earss a pr0f1t of
12% on selling a bgék at, J0% dis-
count on the prinfed price. The
ratio of the cést, price and the
printed pri@e""df the book is

TF THER Wi T T 10% B2
A BN 12% et om &, @ %
W/ﬂmﬁfﬁﬁ T F1 ST F1d
()99 : 125  (b)25:37

(d) 45 : 56

79\ A tradesman allows a discount

ww | Y T A 1500ﬁmrrﬁ" )

aﬁvanmtgaﬁzs%ﬂﬁmmsm
o9 fean afs 39 s ZSWWFFEI
ﬁww%mmﬁaj‘eﬂ’ﬂaﬁ

ufgera 0 8i? \_
(a) 25% (b) 3/0%
(c) 15%

a’fd,}:zqo’ﬁ

By selling some éoeds at " 31, a
salesman loses 7% on his
output. Find the percentage
profit or loss, when he sells the
same at " 35.

F7 UWH 31 F d9H W, HewHT HI
T IR 7% H F0 F E, A 3w
wME w035 # Fun W IW fEa
yfeera @19 - #1fq 2l

(a) Loss 7% (b) Profit 5%

(c) Loss 5% (d) Profit 7%

80.

“ of 15% on the marked price.
How much above the cost price
must he mark his goods as to
gain 19% ?

T AN 3 g3l & 3Afhd Jod ™
15% B2 341 2, 91 IQ agell W faen
i 39 19% o4 &0

(a) 34% (b) 40%

(c) 25% (d) 30%

Rita bought a television set with
20% discount on the labelled

price. She made a profit of Rs.

800 by selling it for Rs. 16,800.
The labelled price of the set was

a1 4 #fRd o W 20% H T2 9=
A gu uF fefasa F= 16, 800 H
T=e 800 % o9 FEEI, af e
w1 3fhd Yed 1 F
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(b) Rs.20,000
(d) Rs. 24,000

(a) Rs.18,000
(c) Rs. 20,800

. The price of a shirt after 15%

discount, i1s * 119. What was the
marked price of the shirt
before discount

et FHE FT g 15 F B2 3 F 15
'119 % B2 & TEet HHIS FI HiHd Tod
N oean?

(a)* 129 (b) * 140

(c)* 150 d) * 160

. The cost price of an article is

Rs. 800. After allowing a
discount of 10%, a gain of 12.5%
18 rnade Then the marked
pnce %Fﬂhc article 1s

TE o9 W F4 ge9 800 T 21 10%
@&ﬁw{ 12.5% 9 € &, Tt o

@) Rs. 1,000
' () Rs. 1,200
. A shopkeeper

(b) Rs. 1,100

(d) Rs. 1,300
allows 23%

commission on his advertised

price and still makes a profit of
10% . If he gains Rs. 56 on one

item, his advertised price of the
item, in Rs. is

TF FHAER faafid 9o W 23%FHIeA
3 % dEeE 10%ens Fhma g1 3k §
o W 56 W wHE F, A G

fomfd qea @
(a) 820 (b) 780
(c) 790 (d) 800

. The marked price of an article

is 50% above cost price. When
marked price is increased by
20% and selling price is in-
creased by 20%. the profit be-
come doubles. If orginal marked
price 1s Rs. 300, then original
selling price is

T 9% 1 3ffFd Yed 3qF @ oI
¥ 50% sfaw 21 wa sfed gea
20% =& e T § 3R fawa ge i
20% @ fean s € @ end & a
Sl g1 4fk arEfas sifEd ged 300
B A awdfas fawa gea 2

(a) Rs.200 (b) Rs. 250

(c) Rs. 240 (d) Rs. 275

. Afan is listed at Rs. 150 and a

discount of 20% 1s given.Then
the selling price 1s

TF W@ W 150 §eF i A T SR

20% Ft g2 & A S gea = B
(a) Rs. 180 (b) Rs. 150
(c) Rs. 120 (d) Rs. 110
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86. The cost of manufacture of a

8.

88.

89.
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tape recorder is Rs. 1,500. The
manufacturer fixes the marked
price 20% above the cost of manu-
facture and allows a discount in
such a way as to get a profit of 8%.
The rate of discount 1s

TF T 1 3RA 4o 1500 7
fafmia 2uftrTEt #1 gea 3T g
d 20% FRHT AFHET F ¢ SR 3@
TER T2 < ¢ R IH 8% oA w E,
g2 w1 ufaeE A H

(a) 12 (b) 8

(c) 20 (d) 10

How much percent above the cost
price should a shopkeeper mark
his goods so as to earn a profit of
32% after allowing a discount of
12% on the marked price?

12% B2 37 F FEeR 32% W FAA
% ford gFMeER #1 A T% W A
Teq | fmam vfwem sifus ge9 &ifea
T =fed?

(a) 50% (b) 40%

(c) 60% (d) 45%

A dealer purchased a washing
machine for Rs. 7,660. After al-
lowing a discount of 12% on its
marked price, he still gains
10%. Find the marked price of
the washing machine.

TF Sl 3 7660 § ww =ifer wei
T dfFd go9 W 12% g2 A &

WA, 38 10% ® @M g g, @

Fifer wefA #1 #Afra o7 7@ F

(a) Rs. 9,575
() Rs. 9,755,

() Rs. 8,246
A publisher printed © -2000
$t iof Rs.

copies of a book at a ’géf
70,000. He distributeg 400 copies
free as specimen‘copies. ‘He gave
30% discount orf*marked price of
each book which 1s Rs.75. What
1s his gain or loss percent age?
TF Y 4 70,000 F @@ 9w
u#F fHaa #1 2000 wfoar o 3w
400 il wosfit= v % 4 | g
dfe fean ¢ yds feae W 30% =2
M ¢ @R v feem w T s 2,
@ 3HE wfe @w @ e wa w
(a) 20% gain  (b) 20% loss

(c) 10% loss (d) 10% gain

334 |

(b) Rs. 8,426,

90.

9%

92.

94.

."\

) (a) Rs. 13,000

While selling to the retalier, a
company allows 30% discount
on the marked price of their
products. If the retailer sells
those products at marked price,

his profit % will be:

U HUA fi3en %1 9HF sEH 9 S
g F FiRd e W 30% T <t 8 AR
fder 37 axged 1 ifre g9 W A E,
A 2hHT WfeR @ S

la) 30% b) 5 %

6
(c) 40% (d) 422 %

A trader marked the price of
a commodity so as to include
a profit of 25%, but allow a dis-
count of 16% on the marked
price. His actual profit will be

el & o S0 39 25% T S 9 ST
#1 el a8 ol 5 W 16%3?!?@’3@}

#A R A SR -c.ir?gz,
(a) 16% (b) 25%9’
(c) 5% (d)9%

A got 30% conces-éfmn»on the la-
bel price of an artlcle and sold
for Rs. 8 750«%’1th 25% profit on

price Was {J
A qﬂ;aﬁa}amr@ww%ﬁ
T A4 Ehe & iR 38 A g

_m?fi%mq FAM EY '8,750 H a4

¥ o # o gea TE F

(b) Rs.16,000
() Rs. 12,000 (d) Rs. 10,000
A shopkeeper marks his goods
15% above cost price, but allows
20% discount for cash. His net
loss 1s

TF FHFMIN SO FEGA W AN ged
F 15% 3 gea sifea @ €, dfeT
THT W 20% T2 I §, o IHHT U
#f1 3| w4

(a) 3% (b) 5%

(c) 8% (d) 10%

A shopkeeper sold sarees at Rs.
266 each after giving 5%
discount on labelled price. Had
he not given the discount, he
would have earned a profit of

12% on the cost price. What was
the cost price of each saree?

95.

.96

Th A ST g R T TR T S

Qi

98.
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TF THARR AT Jod W 5% P2 A &
v 266 Wi WE H w2 9 @feat
A= B A e wE A q0 A Y 2% =
o BT, O WEE @ 5T WSl
A qed T H

(a) Rs. 280 (b) Rs. 260

(c) Rs. 240 (d) Rs. 250

Arvind purchased a wrist watch
with 30% discount on the labelled
price. He sold it with 40% profit on
the price he bought, What was his
percent loss on the labelled price?

#ifFd 5o W 30% B U F g SR

q HFE S G, T TeT W 40%
‘gmw@zﬁmﬁm wfpa
H@H{W/mﬁmﬁlﬁ@?
@2y’ (b) 6
r"'tc)..ﬂ (d) 8

“tradesman marks his goods

“30% more than the cost price.

: 1
If he allows a discount of 6; %
then his gain percent is

T A AT 7 WA 964 H 30%

aﬁmqmaﬁam%laﬁaﬁéi%
W A ¢ @ SHH WawH ard Fd

(a) 23% % (b) 22%

(c) 212 % (d) 30%

A retailer purchased radiosets
at the rate of Rs. 400 each from
a wholesaler. He raised the
price by 30% and then allowed
a discount of 8% on each set.

His profit will be

uF feem A seder 9 400 ° WG e
+1 3 ¥ e iR wow el WS
30% ¥ed =grht Hiehd ol aur 8% B
¥ #, @ A ulem @ 9| Fh

(a) 19% (b) 78.4%
(c) 22% (d) 19.6%
The difference between

successive discounts of 40%
followed by 30% and 45%
followed by 20% on the marked

price of an article 1s * 12. The
marked price of the article is:

T wg W 40% T R 30% dr
45% w2 Tl 20% T & ®faw =2 &
R 12 Bl A AT T oA T R
(a) * 400 (b) * 800
(c) * 600 (d) * 200
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99.

A dealer buys an article listed
at' 100 and gets successive dis-

counts of 10% and 20%. He

uF fraE &1 sifFa 9o * 100 1
den w3 fEaEt 0 274.50 ¥

(a) 320
(c) 420

(b) 400
(d) 360

apends 1095 of the Cout Prics I T, :‘I ufaea 22 I 'n!;‘h 108.A manufacturer fixes his
on transportation. At what (a)'8.23% (b) 8.16% 11 : 33 L o h
price should he sell the article c) 8.5% (d) 8.34% seling price at T the
to earn a profit of 15%? 104. A trader marks his goods 20% cost of production. If cost of
TF 2er * 100 3fHa Gea F TF a5 above cost price but allows }.;.I.S production goes up by 12% and
i £ slw 5§ 10% Ten 20% F1 customers a discount of 10_/6! manufacturer raises his
s y i ot !:he cost pr{ce of a goods, which selling price by 10%, his
Ell;()i ‘}"Iol ag fererdt o @%5“ Iml PR is sold for ' 216, 1s: percentage profit is
15% @19 &HA % fou 3§ =% = o o mﬁ_. 11‘?:; . 1
foFe ged W A= wifew? q 20% frF ged G‘IE';E‘%W U fafia SaEA @rm d 335 %
i wfehs ekt #1 10% T2 <@ &, 9 T
(a) * 90.80 (b) * 92.00 aw, S 216 4 T TwE @ s T o R e Fera e
(c) *91.20 (d) *91.08 e o 7fg TéIFTrl 12% =g 9t & @R
100.A shopkeeper allows a dis- fﬁ;] . 108 (b)* 180 fafratar fora goa 10% =7 =
count of 10% on the marked % @f-w o F ufgvEar fead 22
price of a camera. Marked (c) © 196 (d)* 200
0

price of the camera, which

. . .5 @362 % 20,
cost him ' 600, to make a profit 105.1f the cost price of an item is 5 A O [a_) 369 Ve (b) 3021 Ve
of 20% Shou‘]d\ b?: of its marked price and the & 3,
TF IHAGT FR F ARG oA W profit 1is 20%, then the (c) 35% (d) 285’6

10% 7z 3 & Afg % &1 %9 9
Y600 %, d 20% =9 FAH F fad
FW F AT Hod F B AE?
(a) * 800 (b) * 650
(c) * 750 (d) * 700

101.The marked price of a watch

percentage of discount is, /-

Qﬁmﬂlﬂaﬁmiﬁl;ﬁ;ﬁéﬁﬁ

-

T H %ﬁma@m.’?ﬁ%aq

& ¥, mq\amqﬁr&mm?
.

. Mohan puchased a bag with 20

percent discount on the
labelled price. He sold it with
40 percent profit on the price
he bought. The percentage of
profit on the labelled price is:

s ' 720. A man boug’ht the !a] 20% aaj ﬁ)] 63— 3 ﬁﬁq ﬁ affEa W T 20% m = q\z
same for * 550.80 after getting Ny W TE A a3 i T W
two successive discounts. the
first being 10%. :hen sZcond EC] 70 % ) 33 40 S & @ W: a9 e s
discount rate is 106. IfO? éhoﬁkeeper wants to give Ted W o F1 wiave e 82

S C | 720 21 208 Yiscount on cost prize of a (@) 20% (b) 24%

R - 58 : i fdy e has to sell it for * 300. If 0 )
=1 79 W= F1°550.80 ¥ =ltEm % (c) 12% (d) 18%

“He sells it at °

", gain percent is

%|3ﬁgqq-\fﬁq-{mqu 405, then his

’ 110. A house was sold for * v by giv-
fremdt €, aft weeh e 10% ¢, aT,v’ N\

ing a discount of x%, then the

afs wF gEFER fadn W 20% #T

» list price was:
T W2 22 m, : i P
%4 §ed W A Aedl 8, 9 39 9% O !
@) 12% (b) 14% A S s TF WEH x% I G TRy H s
; b o 300 # F=1 w2 Afg = 39 405 T @ SEE g T o
(s) 159 (8) 18%.¢ ¥ dw &, @ wwE o @ g '
102.Allowing 20% add) 15% Sy S 100 y _
successive discounts, the p . (a) 1- X (b) 00
selling price ‘of an ‘article (a) 5% (b) 8% 100 100 -y
becomes * 3,060; then the (c) 6% (d) 4% 100 100 x
marked price will be: 107.A dealer fixed the price of an (©) To0 yx A To0—=

103.
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20% ar 15% Ht HFEF T 31 W
uF 9% F g gea - 3060 € S
2, d a% 1 Afwd gea #7022

(a) * 4,400 (b) * 5,000

(c) * 4,500 (d) * 4,000

List price of a book 1s * 100. A
dealer sells three such books
for * 274.50 after allowing dis-
count at a certain rate. find the
rate of discount.

article 40% above the cost of
production. While selling it he
allows a discount of 20% and
makes a profit of * 48. The cost of
production (in ) of the article is
TF fasa A TH 9w B FW SARA
ard ¥ 40% #fuw W FiE ®
W ¥ T TE 20% F [ E M
W 48 F M W 2 IW I W
I @ H) fEE @7

111.
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Successive discount of 10%,
20% and 25% on the price of
an article will reduce the price

by:
ol 7 W 10%, 20% 3R 25%
TR e F TG H FOW A FH D
St ?

(a) 46%
(c) 45%

(b) 54%
(d) 55%

|" 335
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112.

How much percentage above
the price should a
shopkeeper mark on his goods
so that after allowing a
discount of 10% he should
gain 26%°?

T THFSR I ard 9ed ¥ faan a1
& Hed HH AR W SfEd Ay
5 10% =1 g2 =1 % 915 39 26% F1
9 9rE B8P
(a) 140%
(c) 16%

cost

(b) 25%
(d) 40%

113.A sells a bicylcle to B at a profit of

20%. B sells it to C at a profit of
25%. If C pays Rs. 225/- for it, the
cost price of the hicyle for A 1s:
A T "EfEE 20% 19 W B ® 99 5@
%1 B =@ wifkel 1 25% @9 W C H
9 Za1 &1 9 C 225 * F1 A B €,
1 uEfFd W A F1 @E Jod 79 FH
(a) Rs. 110/-  (b) Rs. 125/-
(c) Rs. 120/-  (d) Rs. 150/-

114.A house worth Rs. 1,50,000 is

115.

116.

336
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sold by X at a 5% profit to Y, Y
sells the house back to X at a
2% loss. Then find profit and
loss in the entire transaction.

X, 5% Y W, TF T 59 F FHd
'1,50,000, y I d=a1 81 y T 2% w0
TR x I 99 1 #1 | G H oy
71 B A w1

(a) X gains Rs. 4,350

(b) X loses Rs. 4,350

(c) X gains Rs. 3,150

(d) X loses Rs. 3,150

percent, wholesaler &éﬁ N
percent and retailer A

percent, then the prod\i tion
cost of an article, whose, retail
price 18 Rs. 1,265, :4& }_"--*“
A T SARE 10% 1 B €, ik
@il 15% am R Baun e
25% T FEE E, & T H SAEA
FA T FE AR TR GIU [T 1265
T 2

(a) Rs. 700 (b) Rs. 750

(c) Rs. 800 (d) Rs. 900
Krishna bought a camera and
paid 20% less than its
original price. He sold it at 40%
profit on the price he had paid.
The percentage of profit earned by
krishna on the original price was

117.

118.

119

EAfaF I G 20% FH Yed W FON A
T 0 Gl WS P W 40% N
T EY AT S A 2 2, @ A

T T 39 6 wiawa & @y g
(a) 22 (b) 32
() 12 (d) 15

A manufacturer sells an
article to a wholesale dealer at
a profit of 10%. The wholesale
dealer sells it to a shopkeeper
at 20%profit. The shop-keeper
sells it to a customer for Rs. 56,100
at a loss of 15%. Then the cost
price of the article to the manu-
facturer is

T IAEE 9 faRd F1 TR g5
10% =% T A=l 21 ererda Se fagar
THER &1 20% @9 T A= § a
THIRR TEF F 15% 711 156,100

# e 81 Seed F e T F1 ara o, O

T 2
(a) Rs. 25,000 (b)Rs. 100(15}
(c) Rs. 50,000 (d) Rs. 55,000

A sells a cycle to Bat a ﬁr{rﬁt of
10%, B sells to C at a lﬁroﬁt of
20%. If C pays Rs. 264-forit, how
much did A pay fﬁ'r lt?

A¥ B 10%§mmﬁnﬁfﬁw|
B C H 20%- - Tefeet 3 7%
cC ﬁ-zmﬁu;far‘ér@fﬁrm\ﬁmﬁﬁ

el B4
[a] Rs 260 (b) Rs. 220
(©)( RS 225 (d) Rs. 234

Awsold a tape-recorder to B for

"Rs. 4,860 at a loss of 19%. Again

120.

. 2. Bsold it to C at price that would
If a manufacturer gains 10;“’ O R Wi Nl

give A a profit of 17%. The gain
of Bis

A+ B #4860 ¥ 19% wif1 T TF
2afiErEt g B3 C #i 2uftdy 39
Fid W FEISEE A FO17% w9
gl B &1 ufied @ S|

2 1

@) 225% (b) 333 %
4 2

©) 445% (d) 665 %

A dlshonest fruit vendor sells his
goods at cost price but they uses a
weight of 900 gm for the 1 kg.
weight. His gain percent is:

T 49 GHRMER AT 9WH F.H, W
Fan ¥ A 1 kg, ® T W 900gm.
a9 TR FE F1 SHEI He wfava
o9 Fd H

121

123.

124.
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1
(a) 12% (b) 115 %

(©) 105% (d) 10%

A dishonest shopkeeper, using
a faulty balance makes a profit
of 5% while buying as well as while
selling his goods. His actual gain
percent in the whole process
amounts to

T 9EHH FEFEER d9MH ElEd 'Y
5% 9 q91 FHHE d=d T9Y 9 5%
A HAC A SEHT FHE wiqwd @

I aﬂw’;
(@) T1 y’ (b) 10
() 20:25 (d) 10.5

-~A man sells a car to his friend

at 10% loss. If the friend sells it

“for Rs. 54,000 and gains 20%, the

original cost price of the car was
T A 7 10% B W TF &1 379 77
= 3= 9fy e o4 59 ww W
54000 * ® FEHT 20% °NG FAEN A, o
FN 1 JEGfaF F4 Jod T4 B

(a) Rs. 25,000 (b) Rs. 35,000
(c) Rs. 45,000 (d) Rs. 50,000
A sells a cycle to B at a profit of
20% and B sells it to C at a loss
of 25%. If C bought the cycle for
* P, then the cost price of it for A
was

A tF miEfse B w1 20% & @9 W
9 & @R B 3@ C & 25% #1 =i
W AT 3 2 AR CF 9% "efEa P
H aiE 8, d@t A ® fou 3R AW
T eft?

§l 9
@ % F b} 55 P

9 10
€ 15 P @ 5P

A man buys a cycle for Rs. 1400
and sells it at a loss of 15%.
What is the selling price of the
cycle?

TF A 1400 ¥ A UH UEfEA
Tl & iR I 15% aft o A= W E,
o wefea w1 fam 5@ w4

(a) Rs. 1202 (b) Rs. 1190

(c) Rs. 1160 (d) Rs. 1000
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L27.

128.

129.

130.
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selling an article for
Rs. 651, there is a loss of 7%.

The cost price of that article 1s
" 651 H T I = T 7% HiEIE B
&, d 9% 1 @ qed W

(a) Rs. 744 (b) Rs. 751

() Rs. 793 (d) Rs. 700

.Find the selling price of an

article if a shopkeeper allows two
successive discounts of 5% each
on the marked price of Rs. 80

A TH EASN 80 T FH(Ed qeA
At fFet aeg W 5% w A FEE g2
2, @ A W A 9@

(a) Rs. 70.20  (b) Rs. 70.10

(c) Rs. 72.00  (d) Rs. 72.20

A saleable article passes suc-
cessively in the hands of three
traders. Each trader sold it fur-
ther at a gain of 25% of the cost
price. If the last trader sold 1t for
Rs. 250 then what was the cost
price for the first trader ?

ww fawt 9ra axg w9 o famare
% Tl ST ¥ yeEE fama | 25%
o gU S 4= q@ ¥, 4fg
aifam fasar 3 osg =1 250 &9 o =0
1, vedl fashal &1 %9 Yod Fd HL
(a) Rs. 128 (b) Rs. 150

(c) Rs. 192 (d) Rs. 200

A reduction of 20% in the price of
salt enabled a purchaser to obtain
4 kg. more for Rs. 100. The re-
duced price of salt per kg is :

THE B HWA A 20% FA T FTH B
HT1 TF A 100 94 | 4 fpamm
eﬂh’cﬁ THH TG il €, T F 2

(a) Rs. 4
(c) Rs. 6.25 (d) Rs. 6.50
An increase of 20% in the - price
of mangoes enables &pﬂpson to
purchase 4 rnangoe§ less for Rs.
40. The price of 153 Lnangocs
before increasé ‘was’

A F e W 20% 9fg & 9 &
FNO Tk AfF 40 ¥ H 4 3 FH
wlg Tel 2, @ gfg 4 @ 15 e

e M

(a) Rs. 10 (b) Rs. 15

(c) Rs. 20 (d) Rs. 25

A reduction of 20% in the price

of sugar enables me to
purchase 5 kg more for Rs. 600.
Find the price of sugar per kg
before reduction of price.

M F1 T H 20% F FH B FROH
600% ¥ 5 fra wifus = als g
# w0 @ v I F F T w=h
(a) Rs. 24 (b) Rs.30

(c) Rs. 32 (d) Rs. 36

131.A shopkeeper gains 20% while

buying the goods and 30% while
selling them. Find his total gain
per cent.

TF THFAIR TEE TR g 20% o0
A1 3% 99 T 30% N9 FAE €, 9
IHF FH AR AH FE FHL

@) 50% (b) 36%

(c) 56% (d) 40%

132.The list price of an article is

Rs. 900. It 1s available at two
successive discounts of 20%
and 10%. The selling price of
the article 1s:

TH TR T STHET qoq T 900 Bl A
20% 3 10% % 31 FANME T2 & A 4

foerdt €1 o #1 faoka e 87 4
(a) % 640 (b) % 648 3y
c) % 540 (d) & 548

133. A dishonest grocer se]la,_mge at a

profit of 10% and also uses
weights which are/20% less than
the marked weight.’ ‘The total gain
earned b y hpﬁ will be

TF 4EHN 0, T T TS
m%ﬁtmuﬁmﬁzﬂ%m
?ﬁ?ﬁ’é’” *a; S e fawa e
L ZAN
faj 37 5%
C|&) 30.5%

(b) 32%
(d) 35%

134 A dishonest dealer professes to
(b) Rs. 5 A/

sell his goods at the cost price
but uses a false weight of 850 g
instead of 1 kg his gain per-
cent 1s

T AEHAA SeR @A Jed W OSEr
T WA W G w E efE
g | f6. M F awet 850 WA F e
%, @ Suw ufvE @19 J@

12 11
(@) 1745 % (b) 17 =%

11 11
) 11 % (d) 117 %

135.A man bought two goats for Rs.

1008. He sold one at a loss of 20%
and other at a profit of 44% if
each goat was sold for the same
price the cost price of the goat
which was sold at loss, was:

136.

U AfF 1008 T99 H | AhiE Gied
B 9% TH aHG F 20% B W qur Eh
FHN F 44% AN W TG 21 AR TAF
THA F I HOE FIHG W A= B, A
Rt e o e o e o M o ol | e

(a) Rs. 648 (b) Rs. 360
(c) Rs. 568 (d) Rs. 440
One trader calculates the

percentage of profit on the
buying price and another
calculates on the selling price.
When their selling prices are
the same, then the difference
of their actual profits 1s Rs. 85
and botl} «claim to have made
20% ppfgt what is the selling
price of éach?
TH AR A AH E0E ged W

-:---Gﬁem%awwwmﬂmwﬁ

;_g:maﬁm%maﬁmﬁgm

137.

138.
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“Ea %, @ 9 20% @9 B9 FT qEn

F & IA F A9 F AR Rs. 85
dl vd% # Ay | wl

(a) Rs. 1700  (b) Rs. 2100

(c) Rs. 2550 (d) Rs. 2750

A trader bought two horses for
Rs. 19,300. he sold one at a loss
of 20% and the other at a profit
of 15%. If the selling price of
each horse is the same, then
their cost prices are respec-
tively.

TF =AfF 719,500 § | 92 GiE
TF HE ® T 20% T W T TR
g F IE 15% @9 a9 fam afk
I = w0 fowa g wEE g4 9
g 1 HHY A ol J| H

(a) Rs. 10,000 and Rs. 9,500

(b) Rs. 11,500 and Rs. 8,000

(c) Rs. 12,000 and Rs. 7,500

(d] Rs. 10,500 and Rs. 9,000

X sells two articles for Rs. 4,000
each with no loss and no gain
in the transaction. If one was
sold at a gain of 25% the other
is sold at a loss of

X 7 < Fgg#t #4000 wfd 7 F1 R
G = T9Y IY 7 9 o0 g3 A il afy
Teett w5 1 25% T == T Al G5
a5 # et ftea af w = e

2
(a) 25% (b) 18- %

(c) 16 % (d) 20%

|’ 337
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140

141.

142.

143.

A man purchases two fans for
Rs. 2,160. By selling one fan at
a profit of 15% and the other at
a loss of 9% he neither gains nor
loss in the whole transaction.
Find the cost price of each fan
in Rs.

TF AR 2160 ¥ 7 98 BlED 21
@ # | qeel 9@ i = W Iw 15%
o9 9 S YW I §9d W 3H 9%
1 w1 et g1 G § 39 7 ey
T w1 g &4 u9F vE w1 % Tl
Biclcal

(a) 710,1450
(c) 810,1350

(b) 1530,630
(d) 1340,820

.IfI would have purchased 11 ar-

ticles for Rs.10 and sold all the
articles at the rate of 10 for Rs.
11, the profit percent would
have been:

afs 55 10 T2 F 11 oxqd @l qen
3% 11 ¥4 0 10 9&q0 ®1 22 § == faan
Al HO wfavE @M SE

(a) 10% (b) 11%

(c) 21% (d) 100%

A person buys some pencils at
5 for a rupee and sells them at
3 for a rupee. His gain per cent
will be:

TF =i 3 H e 5 daeeed w5 ww
T Gl 3 3% 3 e S § Aaw
fea, t swa wiowE e 3 F

2 2
(a) 665 % (b) 765 %

(c) 56 % (d) 462 %

100 oranges are bought fore’ﬁs
350 and sold at the rate {b} Rs.
48 per dozen. The pfcentage
of profit or loss 1s : ol

350 T 100 WR R qo 48
/SR T A A T e e
o Bft 9| w0
(@) 15% loss

g

(b) 15% gain

(c) 14%% loss (d) 142 - % profit

Oranges are bought at the rate
of 10 for Rs. 25 and sold at the
rate of 9 for Rs. 25. The profit is
25 T HF 10 R F W H TR GO ™
3 = 25 TR H 9 G H WA A=
oo, 9t fham w9 Tm

338 |
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(@) 977 % (b) 10%

(c) 11%% (d) 12%%

144.A person bought some articles

at the rate of 5 per rupee and
the same number at the rate
of 4 per rupee. He mixed both
the types and sold at the rate of

9 for 2 rupees. In this business
he suffered a loss of Rs. 3. The
total number of articles bought

by him was

F AfF FT agel F 5 TG B
T Y @l a1 I & R 4 TRYTH
® T W @ I A get F frer
R R 2 TR o T M W H 4=
feom 79 9] W 39 3 v Wt wh gl
I el R gl @dd o
(a)1090 (b) 1080

(c) 540 (d) 545

145.Ravi buys some toffees at 2 for

a rupee and sells them at 5

a rupee. His loss perce fa‘}
1 3 7@ e 2 I F
T 3R IR 5 ARFTE R
feon 1 S SR G

(a) 120 (b} 90’

(c) 30 [d] 60

2

146.Some tofﬁées “were bought at

the rate cf ];szor Rs. 10 and the
same’ ﬁi}}n‘ber at the rate of 9
for, Rs 10. If the whole toffees
was sold at one rupee per tof-
wfge, then the gain or loss in the
wflole transaction was

F 2 10% 9 11 e # 1 & FEae @

Wi @ S 10T H 9 A W
W O Il wd AEeR Ol W
ST I L Er
4 wioed 19 1 e 96w

(a) loss of 1%  (b) gain of 1%
(c) neither gain nor loss

(d) gain of 1.5%

147.A man buys a certain number

of oranges at 20 for Rs. 60 and
an equal number at 30 for Rs.
60. He mixes them and sells
them at 25 for Rs. 60. What is
gain or loss per cent ?

T AF60 T H 20 § & WH FB
Had 9o 394 2 ol 60 % 9 30 Hal #i
T | ST B 9% 3T T, F HwT
60 ® H 25 HR # W H I I &, @
IHEH AW A A FOgfaeE J@ H

..,‘

148.

o

149,

150.

151.
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(a) Gain of 4%

(b] Loss of 4%

(c) Neither gain nor loss
(d) Loss of 5%

If the total cost of 73 articles
having equal cost 1s Rs. 5,110
and the total selling price of 89
such articles is Rs. 5,607, then
in the transaction, there will be
GuE &Gl arel 73 IEge w1 %, el
5,110 % & iR 56l R & 89 aeqsil
* Ha fag 5607 % &, @ 97 &
qftoTs = w7
(a) a lo%gﬁ’of 15%

(] a, gﬁm ‘of 10%

(c) e ﬂ I,OSS of 10%

[d] a gain of 15%

Axrnan purchased some eggs at

~ "\ ““3for Rs. 5 and sold them at 5 for
hflv’z

Rs.12. Thus he gained Rs. 143
in all. the number of egges he
bought is

% Afdd 5% H 3 342 WA F77 2
Tl § #R 12% | 5 32 WY 37
9 %A1 &1 39 98 ¥ 39 143 ¥ @4 g4
%, 9 3w fra o =miE 9

(a) 210 (b) 200

() 195 (d) 190

A man bought oranges at the
rate of 8 for Rs. 34 and sold
them at the rate of 12 for Rs.
57. How many oranges should
be sold to earn a net profit of
Rs. 45?

UF 5 34 ¥ § 8 Hal ® W H A
afedl &, At 3% 57% ° 12 9a &1
G99 @ ¢ 45 % o A ® ol

(a) 90 (b) 100
(c) 135 (d) 150

A shopman bought pens at the
rate of 7 for Rs. 10 and sold
them at a profit of 40%. How
many pens would a customer
get for Rs. 10?

TF HFAEER 10% § 7 Fem & W/
Fem TR €, 3 3% 40% @9 W
&% W &, @ wew w10 T F fEe
Fern et
(a) 6

(¢) S

(b) 4
(d) 3
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153.

Krishan purchased a number of
articles at Rs. 10 for each and
the same number for Rs. 14

each. he mixed them together
and sold them for Rs. 13 each.

Then his gain or loss percent is
FUE 7 FF a5 10 ® dfd a1 F
Ao I B e 14 T AR R W H
wiE 98 3% uw 91y et 32 13%
T F W H A9 2@ E, @ ufava enw
71 B T H

(a) Loss 8%% (b) Gaingg Y

(c) Loss 82% (d) Gain 85%

A man purchases some
oranges at the rate of 3 for Rs.
40 and the same quantity at 5
for Rs.60. If he sells all the
oranges at the rate of 3 for Rs.50,
find his gain or loss percent (to
the nearest integer).

TF AEHT 40 ¥4 W 3w X W w5
gt @iied & 3 Ia B e 9 w5
R 60 T § 5 H 5§ i B
afe g wf ¥at 50 ¥ H 3 # W
F d=aw &, @ SH wrw e A enw
sgan w1fa &1 gfavea (freean quris
) AW FHifem)

(a) 34% loss/®IfA

(b) 31% profit/=na

(c) 31% loss/®f

(d) 32% profit/ =mrs

154 Nikita bought 30 kg of wheat at

155.
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the rate of Rs. 9.50 per kg of

wheat and the same amount of p

wheat at the rate of Rs. 8. 50
per kg and mixed them.
sold the mixture at the rafe. of
Rs. 8.90 per kg. Her total profit
or loss in the transacot&on was :
Al 4 9.50 T fareid B < 30
fareimm T qe 8.50 gqﬂfﬁﬁ??mm =+ =TT
. . L
fram # we=E 3w fasm = 8.90
i/ fReE 1 5 9 o= e i 39 9l
T 30 o fRen e wf gem?

(a) Rs. 2 loss  (b) Rs. 2 profit
(c) Rs. 6loss (d) Rs. 6 profit
Nita blends two varieties of tea
one costing Rs. 180 per kg and
another costing Rs. 200 per kg
in the ratio 5 : 3. If she sells the
blended variety at Rs. 210 per
kg. then her gain is

156.

157

158.

."\

i 1 Rs 180 ufd f&. . @1 Rs. 200
wfd .. o < YR % w9d gfhdl bl
5 : 3 % e fen e | 9 5w fagor
#, Rs 210 ¥fd f&. m. #1 sx @ 3=
3HH1 Ufcerd 9 Ja F

(@) 110 % (b) 11 %

() 12 % (d) 13 %

A shopkeeper bought 80 kg of
sugar at the rate of Rs. 13.50
per kg. He mixed it with 120kg
of sugar costing Rs. 16 per kg
in order to make a profit of 20%,
he must sell the mixture at
TF R 13.5% / fRw # W w
80 fw.m. =it wiear €1 92 39 =t Fi
16 * / fHm. =t 120 fran =i
foe 2ar #1 20% o9 FHH # O 39
fagm =t fvd = | S= =1fed

(a) Rs.18 per kg

(b) Rs.17 per kg

(c) Rs.16.40 per kg

([d) Rs.15 per kg

.To gain 10% on selling, d’te

mixture of milk and wa\ter* at
the cost price of pure g;i‘ﬂk the
quantity of water to bé_mixed
with 50 kg of purémilk is

50 feam. 95 3 q ﬁ?ﬁ‘l A frremn
6 fasm FLAE 39 % A 9w
W T T/ 1% 3T st =

a) 2.5 kY (b) 5 ka

() 7.5kg~"  (d) 10kg

A rmﬂ(rnén bought 70 litres of
rnl;fk or Re. 630 and added 5

b
Npod

_I_”lt__,xjés of water. If sells it at

Ks.9.00 per litre, his profit

~_ percentage 1s

e .J

159

TF A 7 630 % H 70 off. 39 ==
AR s 5 oft, e faen e fagor #i
% 9% wft oft. 1 W F S &, @ i
=Y Ad F

(@) 8%% (b) 7%

(o) 82% (d) 75%

.A milkman makes 20% profit

by selling milk mixed with wa-
ter at Rs. O per litre. If the cost
price of 1 litre pure milk is Rs.
10, then the ratio of milk and

water in the said mixture is
T guEren g9 3R uE ® fagm # 9
w04 gfd off. # 9§ d=H 20% @9
FAE %1 9f% 1 . 5 g9 BT FHa
10 2, i fusmr & g9 9 9 1 S
A

L4

160.

161. Ty
ing * 35 and ' 40 per kg respec-

162.

163.
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@) 3:1 (b)4:1
(€)3:2 d4:3
A shopkeeper bought 15kg of
rice at the rate of Rs. 29 per kg
and 25 kg of rice at the rate of
Rs. 20 per kg. He sold the mix-
ture of both types of rice at the
rate of Rs. 27 per kg. His profit
in this transaction is
% gErer 15 feam =@ 29 9fa
fem *t = & Aw1 25 fem =aw =i
120 wfT fEm #1 < | wiww 21 A
= & TH qiY ARt g w5 a9
127 Wi G F W A T, @
SHHT qrfl T F
(a). R”s 1:55 (b) Re. 150
[e}ﬁs 140 (d) Rs. 145
Two blends of a commodity cost-

tively are mixed in the ratio 2 :

3 by weight. If one-fifth of the
mixture 1s sold at * 46 per kg
and the remaining at the rate *
55 per kg, the profit percent is

fordt aeg & %@ * 35 @R 40 wfd
fem =t @@ =t 3 fagol oS
% AER 2: 3% U H fulsa fma
s #1 afx 1/5 fasor 46 wfa fean
3 v * 55 ufd e @Y s 9w
S 2. @ o wfawaar R 27

(a) 50 (b) 20

(c) 40 (d) 30

A milkman mixed the water
with milk to gain 25% by sell-
ing the mixture at cost price.
The ratio of water and milk is:
TF g famdl F @rE Hed Wgy
==t 25% F1 A FAH F A 39
4 et feen fem wrlt sl gw @

A fehe €7
(a) 5:4 b)1:5
(€)4:5 (d1:4

On selling 17 balls at Rs. 720
there is a loss equal to the cost

price of 5 balls. The cost price
of a ball is :

17 & Ht 720 T F q94 W 5 T
P AN Jod h GUEL Bl el #,
ufa afar =a 7o 9w

(a) Rs. 45 (b) Rs. 50
(c) Rs. 60 (d) Rs. 55
|’ 339
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164. Mohan bought 25 books for Rs.

165.

166.

167.

168.

2,000 and sold them at a profit
equal to the selling price of 5
books. The selling price of 1
book is:

e J 2000 T F 25 R m A #Aw
3% 5 fFramt & fag & susw @y
Fd g 94 fan, 9t 1 fraa # fa,
Elclcxl

(@) Rs. 100 (b) Rs. 120

(c) Rs. 150 (d) Rs. 200

By selling 144 hens Mahesh
suffered a loss equal to the sell-
ing price of 96 hens.
per cent is

144 T F1 d=4 T WEW H 96 HffEl
% fag, # Fua o o €, ST ufe
eI T =i

(a) 40 (b) 30

(c) 50 (d) 41

By selling 100 pencils, a shop-
keeper gains the selling price of
20 pencils. His gain per cent is
100 Hfae = 994 | UF IFEEE FH
20 Hfeedt # fag, % =ws a9 g €,
@l wfavd @9 6 =)

(a) 25 (b) 20

() 15 (d) 12

By selling 33 metres of cloth a

person gains the cost price of
11 metres. Find his gain%

33 o w92 S=uHt wF =l 11 o
FR F FI YA B T A FAM B,
o 9 gfaer o9 | Hi

His loss

840 T I S % 1 SFERE T 10%
9 W A S I TG P 5% w0
il E e I W o B T A e e
(a) Rs. 87780 (b) Rs. 798

(c) Rs. 924 (d) Rs. 37.80

170.By selling an article at % of the

171

marked price, there is a loss of
10%. The profit percent, when
the article is sold at the marked
price is

afe forelt e F 3 SR T F 2

Teq T S W €, @ 10% F1 @l gt
%, 91 39 9% F1 ifhd g WA §
fehe widerd &1 o9 Brm?

(a) 20% (b) 30%

(c) 35% (d) 40%

A merchant fixes the sale ;

price of his goods at 15% aboye
the cost price. He sells His
goods at 12% less th@n”?tkzé

fixed price. His percel;ﬁgag,e of
profit is:
T AT ST =g N L e

3 1;%mﬁmmélwﬁa€
a&] F1 FifT FAH 12% F9 950 W
Fot 7, mmgﬁmmaﬂaﬁl

(b) lg

(d) 2

r,}l

172 A person sells an article for Rs.

-
3350/ b 3350/ ’f
[&] 319 [ ] .Y \ : -
1,7,
(c) 33% (d) 34= ?{'6#‘
A cloth merchant o 'é"ellfng 33

metres of cloth obtains.a profit
equal to the sea],ﬁng price of 11
metres of cloth the profit is
UF FI2T AT 33 A FIST d9H 11
W wUE % fa. 9 & Fua A\ FuE
g, @ e o9 {

(a) 40% (b) 22%

(c) 50% (d) 11%

169 .An item costing Rs. 840 was sold

by a shopkeeper at a gain of 10%
and it was again sold by the new
buyer at aloss of 5%. Find selling
price of the item 1is:

340 |
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173

75 and gains as much per cent
as the cost price of the article
in rupees. The cost price of the
article is

F Al TF g% F 75 T A S
&, foed 38 @ goa & aue (T
H) uferd ww B ¥, @ Ay F A

T Fd F
(a) Rs. 37.50  (b) Rs. 40
(c) Rs. 50 (d) Rs. 150

I purchased 120 exercise books

at the rate of Rs. 3 each and sold

é of them at the rate of Rs. 4

each, éof them at the rate of Rs.

5 each and the rest at the cost
price. My profit per cent was

T 120 e gt i 3 TR
ﬁﬂﬁ@ﬂﬁammﬁﬁ% T
gfwe # 4 TAfEE ® R 9
= fam, % um qfEmsre =S
T/ F1 T W = G qen 9=
g8 AwrE g w1 § @ ged W
a9 a1 €, @ Hu gfave oy {6 H

(a) 44% (b) 445 %
C e 10 o
(o) 442 % (d) 45%
174.A rnemh int buys an article for
Rs. 27 sells it at a profit of

O

10%). oi jehe selling price. The
selhng, sprice of the article is :

T A 27 T g @ &

ST, B 10% o9 W A A E A

Vam w1 fag 3@ F

(a) Rs. 29.70
(c) Rs. 37

(b) Rs.30
(d) Rs.32

175.A clock was sold for Rs. 144. If

176.

177.
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the percentage of profit was nu-
merically equal to the cost
price the cost of the clock was

TF UE FI 144 T H S o | oAty
Hfew a9 Hifhs €9 9 5 & T
% W €, T R Ged T B
(a) Rs. 72 (b) Rs. 80

(c) Rs. 90 (d) Rs. 100

If the price of eraser is reduced by
25%. A person can buy 2 more
erasers for a rupee. How many

erasers are available for a rmipee
after reduction ?

@Z & FEAl H 25% FH F AR TH
el | w94 | 2 wEg s w@lis i
2, d om uw T E faa w@e fae
(a) 8 (b) 6
(c) 4 (d) 2

Raghavan purchased a scooter

at 3 of its selling price and

15
sold 1t at 12% more than its
selling price. His gain is.

wﬁﬁqa 'Hﬂ‘ﬁ@m

whe ain fag, @ IZ%ERT%EHEWQ'J
e, <t sgw1 wiav™ oy T F
(a) 20% (b) 30%

1 3
(c) 3875 % () 2073%
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179.

180.

181.
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By what percent must the cost
price be raised in fixing the sale
price in order that there may be
a profit of 20% after allowing a
commission of 10% ?

fa.q, feffe =W g %= 99 =+ fFar
Fe@ o1 fF 10% FHYH 3 F I99R
20% <9 B

1

(a) 25 (b) 1333

() 335

(d) 30

Two- third of a consignment
was sold at a profit of 5% and
the remainder at a loss of 2%.
If the total profit was Rs. 400.
then the value of the consign-
ment was

f‘m"ﬁrmaﬁ% T T 5% N

T qY WY G Hi 2% B 9T s S
1 7% e 19 400 T T, < FAEETEE

F1 Yed Fd F

(a) Rs. 15,000 (b) Rs. 15,500
(c) Rs. 16,000 (d) Rs. 16,500
A man buys a field of agricul-

tural land for Rs. 3,60,000. He
sells two-fifths at a gain of 25%.
At what price must he sell the
remaining field so as to make
an overall profit of 10%?

wwﬁaﬁsbo.ooumﬁ@w

m'q“rlmﬁa'a' ST Y 25% 4

182.

183.

184.

A man buys some articles at
Rs. P per dozen and sells them

P 2 ;
at Rs. g Per piece. His profit per

cent is

P ¥ uff o9 &1 X 9 wF = A

TP W W AR 3+ ' o
I% HI W a9 @, 9w wfawd
a9 T H

(@) 30 (b) 40

(c) 50 (d) 60

By selling an article, a man
makes a profit of 25% of its sell-
ing price. His profit percent is
TF a5 F A W U A 0 fam
T 25% 9 B &, Al Wi @ {6
(a) 20 (b) 25

1
(d) 335

A cloth merchant sold half of his
cloth at 20% profit, half of ‘fh&
remaining cloth at 20% 16: Sand
the rest was sold atAts.tost
price. In the total _trans#ction,
his gain or loss be B

UF HIS SAH a@vw a:qre';l b=l
A FUL B 20% T T AN T T
FGE F AGIBLL0% M W a4 A9
FuE F) I Hea o A ¥, A R AR
F I 1 ﬁﬁ;‘?m w9 = T TE F
[a]ﬁS% profit

2
(c) 163

fbi ‘Neither loss nor gain

"’"{c}’ 5% loss

Wﬁﬂﬂl?ﬁﬁ?ﬁg‘é aﬂmaﬁa'z:ﬁ:m/ }8

HiAd W S 6 10% ®1 Fa e
(a) Rs. 1,00,000 (b) Rs. 1 1;5,000'
(c) Rs. 2,16,000 (d) Rsﬁ’l 25__‘ 000

3 i -

A dealer sold 3, of this? articles
at a gain of 20%3and the re-
maining at cost price. The gain
per cent earned by him in the
whole transaction is

qmwmaﬁaﬁﬁg a1 20 %

9 I a1, == 2 aRg Sl i @ qod
WS A Y, NI R AR A wmH
yfoerd @19 T F
(a) 13
(c) 15

(b) 14
(d) 16

'\
s

186.

3 (d) 10% profit

.A man bought 20 dozen eggs for
Rs. 720. What should be the sell-
ing price of each egg if he wants
to make a profit of 20%?

T AfF A 720 T R 20 T S
G| AfE T8 20% 9 FAA 9wd © A
vfa 2 #1 faq. 7@ F

(a) Rs. 3.25 (b) Rs. 3.30

(c) Rs. 3.50 (d) Rs. 3.60

A vendor sells lemons at the
rate of 5 for Rs. 14. gaining
thereby 40%. For how much did
he buy a dozen lemons?

wF fada 145 6 59 &t A g
e €, fored 3@ 40% w9 g €,
T4 1 551 frad = o @ligr an
(a) Rs. 20 (b) Rs. 21

(c) Rs. 24 (d) Rs. 28

187.Mahesh purchased a radio at

188.

189.

190.

191.
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9 g ; ;
T of its selling price and sold it

at 8% more than its orginal
selling price. His gain percent is:

Wﬁf‘aq%

mier @ amﬁ?s fag 4@ 8% ufiux
e W oA fen, @t vfae e w9 H
(a) 20% (b) 18%

(c) 10% (d)8%

Richa purchased an article at

q@m@%@m

4
= of its ];@t price and sold it at

20% ﬂ'for&* than the list price.
Rlch‘;as proﬁt percent was

-:-ﬁ@;ﬁwq_\maa S I W 7
Ut 7on <8 oot 709 9 20% s

e T o fan, ot f=n &1 ufaea @
W FA

(a) 50 (b) 40

(c) 30 (d) 25

The difference between the
selling price of an article at a
profit of 15% and at a profit of
10% 1s Rs. 10. The cost price of
the article is

fredt o=y % 15% @9 = fa7, 7
10% =19 w fay, &1 2w 10 £ 2, @
I F A eI Fd FHL

(a) Rs. 100 (b) Rs. 120
(c) Rs. 150 (d) Rs. 200
The difference between the

selling price and cost price of an
article 1s Rs. 210. If the profit
per cent is 25, then the selling
price of the article is

fordlt o%g & fa.q. 991 9§ F1 AR
210 % 21 A% wfawm @\ 25% &, @
o5 w1 faq 7@ w1

(a) Rs. 950 (b) Rs. 1,050

() Rs. 1,150  (d) Rs. 1,250

If selling price of an article is
reduced by 60%, then there is

a loss of 10% on cost price. The
initial profit percent was

afs ferddt a5g &1 f5.5, 60% w9 8 =
g %4 gv9 @ 10% @i edl g, dl
ariifas vfavm w9 9@ w1

(a) 70 (b) 80

(c) 100 (d) 125

|" 341

www.spardha.guru



192.

193.

194.

195

When the price of cloth was re-
duced by 25%, the quantity of
cloth consumption increased
by 20% what was the effect on
gross receipt of the shop?

FIE F R H 25% FFAN H B
F1 @9d 20% 9% Sl 24l SHEERR B
F S W F GHE TSI

(&) 5% increase

(b) 5% decrease

(c) 10% 1increase

(d) 10% decrease

An item when sold for Rs. 1,690
earned 30% profit on the cost
price. Then the cost price is

1690 ¥ TH =5 I A4 T NE oot
W 30% @ T A A Yed
F

(a) Rs. 507 (b) Rs. 630

(c) Rs. 1,300  (d) Rs. 130

A sells an article to B making

a profit of é of his outlay. B sells

it to C, gaining 20%. If C sells

it for Rs. 600 and incurs a loss

1 . .
of & of his outlay, the cost price
of A is

Aﬁmq@mé AT Y FHR

TU UF 9% B # A9 d B 20%
w9 FAR g C & 39 & afk C
1 T

IGF @O qed & % Eiu| mﬁ@’f
@A F FT g T F 4“"&
(a) Rs. 600 (b) Rs. 50@
(c) Rs. 720 (d) Rs 88,0

.A bought an article), paylng 5%

less than the q_,fglna_l price. A
sold it with 20% profit on the
price he had paid. What percent
of profit did A earn on the
orginal price?

A7 TF I IEs §ed ° 5% FH9
T W @iE AR @E 59 W 20%
a9 FAW g A9 fEem @t arfaw e
9 A =l o wiaem e gl

(a) 10 (b) 13

() 14 d) 5
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1600 # 7 feom, fowd 3@

196.

197,

198.

200.

Two items A and B are sold at a
profit of 10% and 15% respec-
tively. If the amount of profit
received is the same, then the
cost price of A and B may be

9 FEgel A @ B &1 wAw: 10% Fer
15% TN W A= T S 9 H H
FUa Y ure g2, @ A a1 B & #A
Ted F B Ghdl &7

(a) Rs. 1,000, Rs. 1,500

(b) Rs. 5,000, Rs. 2,000

(c) Rs. 3,000, Rs. 2,000

(d) Rs. 3,000, Rs. 5,000

A shopkeeper sold his goods at
half the list price and thus lost
20%. If he had sold on the listed
price, his gain percentage
would be

20% =1 =11 gé1 38 A% o 9o W
I E q afers =1 uﬁmﬁﬁgﬁr
S o b
(a) 60%

/

(c) 20% (d),85%:

A dealer sold a;vt‘fcle at 6%
loss. Had he sQ}d it for Rs. 64
more, he Would have made a
profit of , 010‘%5 Then the cost of
the @gftwle’ s

@ﬁﬁm J et a5 * 6% # #H
W e AfE 3EY 3W A A E 64
“df¥is W A= @, @ S8 10% 1 @

B AR # A fwat 22

(a) & 400
(c) % 164

(b) % 200
(d) & 464

. A merchant finds his profit as

20% of the selling price. His actual
profit is

TE TUE W A W 20% w9 we
&, df SuE1 aRdfaw o9 = 82

(a) 20% (b)22%

[c) 25% (d) 30%
Oranges are bought at 7 for

Rs.3. At what rate per hundred
must they be sold to gain 33%?

3T R 7 W@ WO IR S ™
33% o9 FAH % fod ufq dwer 3%
frm = 9 A= T

(a) Rs. 56 (b) Rs. 60

(c) Rs. 58 (d) Rs. 57

201.

202

204.

205.

206
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[5:] 1?
T IFFEE ST W g e § r:&y selling 4 articles for 1
ad ger W A o T owER W@

A loss of 20% is incurred when 6
articles are sold for a rupee.To
gain 20% how many articles

should be sold for a rupee ?

& | T 7 6 TGS F A= S E A 20%
aif1 g &, 9 200 = FEA F T | T
o e Sgelt S SEA T

(a) 1 (b) 2

(c) 3 (d) 4

.By selling 12 oranges for Rs. 60,

a man losses 25%. The number
of oranges he has to sell for Rs.
100, so as to gain 25% is
60% T 12 Hat &=+ W UF =Afa i
25%@*15‘1& % 100% ¥ 3® fpe
wR A e, o 25% ama )
(a)s LO ; (b) 11

(d) 15

““rupee, a man losses 4 %. Had

he sold three articles per
rupee, the profit would have
been:

“1 ¥ 4 F5gH FFEE W S AR F
4% Tf1 @ 7, afE 9w ok ' A3

U 5= A 39 e wfavE ey e
(a) 30% (b) 28%
(c) 16% (d) 12%

By selling 80 ball pens for Rs.
140 a retailer losses 30%. How
many ball pens should he sell
for Rs. 104 so as to make a
profit of 30%?

140 * ¥ 80 dfd T 99 W TF FHAR
=1 30% o & et 21 30% are FAH
% ford 39 104 ° | fpem =fw 99 =
a7

(a) 32 (b) 52

(c) 48 (d) 42

If bananas are bought at the
rate of 4 for a mipee, how many
must be sold for a rupee so as

to gain 33 %%.

4% o T F 4 F W 9 T @R
S A T T O R S a9 W
fF 33 4% @1 @ &

(a) 4 (b) 3

(c) 2.5 (d) 2

.By selling 12 kg of potatoes for

63, a shopkeeper gains 5%.
What does his gain or lose per-
cent by selling. 50 kg of the
same potatoes for 247.30?
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207.

208

209.

210.

211.

info@spardha.guru

12 f&m =@ 63 & a9 W
THEAGR H 5% @9 B Bl AR =%
50 fm 311?1247.5013335\[31 ELED]
/et wfava SaEy)

(a) 1% profit/ems

(b) 1% loss/?1f1

(c) No profit noloss/ @ @™ 7 & &
(d) 2.5 % profit /=1

By selling 14 watches of equal
cost price at the rate of Rs. 450
each, there is a profit equal to

the cost price of 4 watches. The
cost price of a watch is

OuE w4 ged aell 14 924l #1450 %
=g FI Z W o= T, 4 9 ® A
Yeq % e oY Ol ©, Al T HE i

* gl T R

(a) Rs. 350 (b) Rs. 360

(c) Rs. 375 (d) Rs. 400

.If by selling an article for * 390

a shopkeeper gains 20%, then
the cost is

afg #E 9% © 390 # I W THERR
F1 20% FT 14 e €, q SHH T
87

(a) * 370 (b) * 325

(c) * 350 (d) * 300

A man buys 12 articles for Rs.
12/- and sells them at the rate

of Rs. 1.25 per article. His gain
percentage 1is:

qara:ﬁanwiﬂlzmaﬁm%

212.

213.

T T 1 12 W 1800 ° F W=,
518 3 Widdl % @ Jed & sUE el
Tom, @ UF 9l F AR e 99 R
(a) Rs. 120/~  (b) Rs. 150/-
(c) Rs. 1200/~ (d) Rs. 1500/-
A book-seller bought 200 text-
books for Rs. 12,000. He wanted
to sell them at a profit so that
he got 20 books free. At what

profit percent should he sell
them?

T qEE-fama 12000 © # 200
TE-JEF @ied #1 98 TEH H 36
THR & 991 W © 20 e 9
TH # fien 38 feod dfdwd @ T
e F A A

(a) 10 (b) 11

() 11.5 (d) 12

If the sales tax be reduced from

3% % wgl}ﬂt
difference does it make to ng"
son who purchases ) an
article whose marked pmee is
Rs. 8,400? y )

ﬁ\ H

1
to —%,

ﬂﬁmmm%%ﬁww%

Hﬁﬂmﬁ@m@@wﬁamw
wq@mwﬁsﬁﬂomaﬁﬁww

T+ ﬁ;‘”mﬁn &
(a)/Rs 20 (b) Rs. 15
(Q*Rs 14 (d) Rs. 10

3R 3% 1.25 * ufd o F1 ST A o= a'rIT 214 il terms of percentage profit

g 3T yiawd @9 96w
(a) 20 (b) 25
{€) 15 (d) 18
A trader bought 10 kg of g;ples
for Rs. 405 out of which 1 kg
of apples were foungitcx be rot-
ten. If he wishes to make a
profit of IOngoa‘t what rate
should he sell{the remain-
ing apples per kg?

TF AN 7405 H 10 framm G wde
w1 fopem 99 g1 g2 a1 9k 5
10% T SFHHA FRdl 39 9+ g H6 =
freimm foFm =3 O smn =l

(a) 49.5 (b) 48 (c) 46 (d) 47

12 copies of a book were sold for
Rs. 1800/- there by gaining
cost price of 3 copies. The cost
price of a copy is :

-

b
s

. which is the best transaction ?

C. P.(in Rs) Profit (in Rs.)
(I) 36 17
(I) 50 24
(ITI) 40 19
(IV) 60 29

Wiew w9 F AST § 3§ RE-
Ty waffas wESHT

A e d LK
(TR H) (Tl )
1. 36 17
2. 50 24
3. 40 19
4. 60 29
(a) I (b) 11
(c) III (d) IV

215.

216.

2L

218.
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bought an old
typewriter for Rs. 1200 and
spent Rs. 200 on its repair. He

sold i1t for Rs. 1680. His profit
per cent 1s:

TF AR 1 TE YU SETES 1200
T | =l ST 200 T SEET TweEa
W =@ R =8 TEwree F 1680 9
H e €, 7 Skl wfave o w6 H
(a) 20% (b) 10%

(c) 8% (d) 16%

The cost price of two dozen
bananas is Rs. 32 After selling

18 b?a’t_a;\s at the rate Rs. 12
. et
per‘)dozen, the shopkeeper

reduced to rate as Rs. 4 per

A man

g\ibz:-cﬁ The per cent loss is
RIS Fel FT A T 32 T E 18
Tl 12 T TS AR veEE

FHFFRR 7 e WY 4 T Ui S
fear, ot ufova af 1@ =+

(a) 25.2% (b) 32.4%

(c) 36.5% (d) 37.5 %

.The price of a jewellery,

passing through three hands.
rises on the whole by 65%. If
the first and the second sellers
earned 20% and 25% profit re-
spectively, the profit earned by
the third seller is

fordt e =Y F F 65% F agrd
S 8, 9 9% U & 9% U 9 e
% gr Al Sl 81 afk yem qmn G
Taman 3 FTET: 20% T 25% TN FEW,
a1 dre fagdar &1 e 9w

(a) 20% (b) 15%

(c) 10% (d) 5%

A person buys 100 cups at Rs.
10 each. On the way 20 cups
He the
remaining cups at Rs. 11 each.
His loss per cent is

TF Al 10 T9E/HT RS H 100 F9
wilisdl &1 UE 9 20 ®Y € W 9 99
TCFW F 11 FO/FT B I FA=
®, df Smet wfava e S@ i)

(@) 15 (b) 10

are broken. sells

1
() 175 (d) 12
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219.

220.

221.

293

223.

If the cost of pins reduces by
Rs. 4 per dozen, 12 more pins
can be purchased for Rs. 48.
The cost of pins per dozen
after reduction is:

=fg fim % 7o o 4 TE/ESE FH
e S A 48 T A 12 T e
il 51 gEdl Tl FH F AQ gia gs
o= &1 §ed Fa i

(@) Rs. 8 (b) Rs. 12

(c) Rs. 16 (d) Rs. 20

A piece of land came to a per-
son through three middleman
each gaining 20%. If the per-
son purchased the land for Rs.

3,45,600 the original cost of the
land was:

¥ &7 B wEd 2, 9% goiel 20%
19 T g1 Ay =fE 3 3,45,600
o oA wdd @, d s w1 arsfas
FIAd T FL

(a) Rs.1,00,000 (b) Rs.1,50,000
(¢) Rs.1,75,800 (d) Rs.2,00,000
A person bought two articles A
and B for Rs. 5,000. he sold A at
20% profit and B at 10% loss.He
thus gained 2% on his out lay.
The cost price of A was

% =fF A g g% A 991 B 5000 ¥
H =i 38 A ®1 20% T 9
B #1 10% &1ff W a=1, df 38 | 9%
" 2% @4 g2 A F F9 YoF 7 B
(a) Rs. 3,000 (b) Rs. 2,500

(c) Rs. 2,000 (d) Rs. 3,500

£

.A person sold a TV for Rs. 9,400\ J

then he lost a particulas/

amount. When he solﬁ: an-
other TV of the same_ type at
Rs. 10,600, his aﬁi was
double the formerflogss. What
was the cost pL}pe OF each TV?
qaraﬁﬁaaqmﬁfr = #9400
T § = €, 7@ 36 uw fafewa ufw
1 21 2t & 3T o9 9% gay A g2
F 10,600 T8 F Fwar € @ 59 fowed
wifa % Zpon ary g ®, 9 e A
T2 F1 F4 Ged A1 FL

(a) Rs. 9,800  (b) Rs. 10,000
(c) Rs. 10,200 (d) Rs. 10,400
A man sold 20 apples for Rs. 100

and gained 20%. How many
apples did he buy for Rs. 100?
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224.

225.

226.

."\_

227.

T =Afa 100 % ¥ 20 99 a9 20%
oY FHAE €, 35 100 T H o 99

=i 9
(a) 20 (b) 22
(c) 24 d) 25

A person bought 50 pens for Rs.
50 each. He sold 40 of them at
a loss of 5%. he wants to gain
10% on the whole. Then his
gain percent on

ing pens should be

T g 50 %/ FeH F1 5 F 50 Fem
Tied 1 98 40 Femi F 5% T W
o9 M ¢ T g FOH B R Yo @
T S WU we 10% @9

(a) 15 (b) 40

(c) 50 (d) 70

A cloth merchant sold halt of

the remain-

his cloth at 40% profit. half of .
remaining at 40% loss and the 2

rest was sold at the cost price.

In the total transactwn }ns
gain or loss will be B vl
TF FIS AANH M anqﬁ?q% ED)
40%61%4'413—1'@"1%3%3“\*:3?@
H1 40% B T a1 G HUE- ) @
Yo T AT A G ¥ T ufaa
e 4 B a@éﬁm

(a) 20% gain + (b) 25% loss

(c) 10% gaJ,n (d) 15% loss

A pepsori sold an article at 20%
profit, oh the selling price. After
wards, when the cost price
reﬁ‘uced by 10%, then he also
reduced the selling price by
10%. His percentage of profit on
cost price wil be

T AfF 7 T g W AT | w
20% =19 Fud BU == fEE U
T §E @rd ged 10% F9 8 T
9 389 off foFa gea 4 10% F1 &+
¥ €l [l @ Hod 9 S wfava ene
FE H

(a) 30 (b) 25

[c) 22.5 (d) 12.5

A salesman expects a gain of
13% on his cost price, If in a
month his sale was Rs.
7,91,000, what was his profit ?

T HouHT @ §od W 13% @ F#
amen TaEa #1 Aty fEl v suEt w5
fawt 7,91,000 Wit 381 @49 74
EXS

228.

229

230.

Copyright © All Rights Reserved | https://spardha.guru/

(o] Loss of 8%

(a) Rs. 85,659 (c) Rs. 88,300

(c) Rs. 91,000 (d) Rs. 97,786

Ramesh bought 10 cycles for Rs.
500 each. He spent Rs.2,000 on
the repair of all cycles. He sold
five of them for Rs. 750 each and
the remaining for Rs. 550 each.
Then the total gain or loss % is

‘500 W wEfFa 5 5T 9 ww 7 10
wrsferel TlE 399 9t gEfEd w T
T FHA 2000 @ fFA 10 wAwfFa §
H 5 Wl i 397 750 Wi aEfEa #i
T 99 99 Wl 1 SE 550 W ufa
WEfre # =X 9 o fmd w9 shew
o9 A B H

o~

oA 4 g
(a) Gain.of 8%

3

(o) Gain of 72%

(d] Loss of 7%%

.A man purchased 150 pens at

the rate of Rs. 12 per pen. He
sold 50 pens at a gain of 10%.
The percentage gain at which
he must sell the remaining
pens so as to gain 15% on the
whole outlay is

‘12 o Fem F | Y T AR T150
FeM @R, SEH F 50 FeH F I
10% w19 T 3 feam 9 ¥R § 15% o
FAH & fau 38 99 g Fom F R
FIT T = =fEw

(@) 215% (b) 20%

©) 17% @) 175 %

A trader purchases a watch and
a wall clock for Rs. 390. he sells
them making a profit of 10% on
the watch and 15% on the wall
clock. He earns a profit of Rs.
51.50. The difference between
the original price of the wall
clock and the watch is equal to
wF fowal 3 uF A SR uF e udl
390 § @i 77 T # 10% @ W
g <eR TE H 15% T W 99 <
£ #ir T8 @@ I 51.50 @9 B A
dER uE & drdfas Hed a9 =98 %
AEEF Ted F R T R

(a) Rs. 80 (b) Rs. 120

(c) Rs. 110 (d) Rs. 100
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232.

233

234.
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A merchant fixed the selling
price of his articles at Rs.700
after adding 40% profit to the
cost price. As the sale was very
low at this price level, he
decided to fix the selling price
at 10% profit. Find the new
selling price.

o g W 40% WY Sigd g0 UF
=T 79 J%g F w700 fifa
F1 9% ged R et 95 w9 @ o
& AT el W 10% Y SiEd gY
g g Fraif s = €41 sas
T fawa geg Id F

(a)Rs. 500 (b) Rs. 550
(c)Rs. 450 (d) Rs. 490
From 2008 to 2009, the sales of
a book decreased by 80%. If the
sales in 2010 were the same
as in 2008, by what percent did
it increase from 2009 to 2010 ?
2008 # 2009 % ¥= UH fHaw =t
famt 80% w0 @ T 9fg 2010 # ot
2008 % ausw Wid 2009 ¥ 2010
% 4 fart # fra wfava #6192
(a) 120% (b) 400%

(c) 80% (d) 100%

.The cost price of a radio is Rs.

600. The 5% of the cost price is
charged towards transporta-
tion. After adding that, If the
net profit to be made 1s 15%,
then the selling price of the ra-
dio must be

wF e #1 %9 geq '600 ' AR FA
g F1 5% F@AE W @9 el 2 3‘4’,
Tt digFt 4 15% @9 HAEL B
qt e w1 fowa gea @ ?Tﬁfq«f“
(a)Rs. 704.50 (b) Rs. 72‘”4 50
(c)Rs. 664.50 (d) R§f’6&4 50
A shopkeeper purwfiased aTV
for Rs. 2,000 angi a raﬂlo for Rs.
750. He se]ls the~TV-at a profit
of 20% and the radio at a loss of
5%. The total loss or gain 1is
UF gHFER 4 20001 uF J &t qur
750 ¥ uF iea =l 39 A o+
20% @19 W qen fed # 5% #f W
59 fean @ wa @ @ EfH Fa F
(a) Gain Rs. 352.50

() Gain Rs. 362.50

(c) Loss Rs. 332

(d) Loss rs. 300

235.

236.

237.

238.

The total cost of 8 buckets and
5 mugs is Rs. 92 and the total
cost of 5 buckets and 8 mugs is
Rs. 77. Find the total cost of 2
mugs and 3 buckets.

& @2l a91 59 7 F /A FHAd 92
T qen 5 A 991 8 W &1 HA HIAG
77 B 2 W qen 3 AeEl F FEd 9
Exdl

(a) Rs. 35 (b) Rs. 70

(c) Rs. 30 (d) Rs. 38

A person bought two bicycles for
Rs. 1600 and sold the first at
10% profit and the second at
20% profit. If he sold the first
at 20% profit and the
second at 10% profit. he would
get Rs. 5 more. The difference
of the cost price of the two
bicycles was:

TF A A 1600 H A WERe @ O
TH AEfEA 1 IR 10% oH 9 oaer o

o wEfrEd oS 20% @Y ™ ﬂ#
feom aft a7 weell wefea =i, 0% am
'CI'{ qg T I 10% NH T ?ﬂ o
© AfuE W g ol ?H‘f Hf%ﬁb_cﬁ ED
F1 YT F R sna )
(a) Rs. 50 ( }"ES 40
[c) Rs. 25 f*’]‘d] Rs.75
A man buys-3 tows and 8 goats
in Rs. 47,200. Instead of he
woddghaﬁve bought 8 cows and 3
goats'he“had to pay Rs. 53,000

mcﬁ‘e Cost of one cow is :

_.u;cu;arﬁmmwooq T3 g A

s”amﬁm@ﬁﬁlmaaﬁuﬁags
T AU 3 gHiE @iEa & odl 39
53.000‘3113435%'51113‘_1‘1,3%@111'43:

Tod I Hi
(a) Rs. 11,000 (b)Rs. 12,000
(c) Rs. 13,000 (d) Rs. 10,000

A fruit seller buys 240 apples
for * 600. Some of these apples
are rotten and are thrown
away. He sells the remaining
apples at '3.50 each and makes
a profit of * 198. The% of apples
thrown away are?

TF Ge-faga ‘600 H 240 A9 @lfear
% ST 9 %p 9 e 9 s 3%
% fom M T o4 wodE
'3.50 wfd €9 *1 T 9 s=H 198 #
Y FAEE, ° T ufae ¥ e T2
ja) 6% (b) 5%

(c) 4% (d) 7%

239.

240.

g, .
~wents 18 3 : 5,

A vendor purchased 40 dozen
bananas for * 250. Out of these
30 bananas were rotten and
could not be sold. At what rate
per dozen should he sell the
remaining bananas to make a
profit a of 20%?

wF foFm ¥ 40 s oFe 250 F
@i 3 ¥ 30 FA WS 7U 9 3N
IR o= T S EWFN SH I Sl H
gfd =i frm 51 W S=a =nfew fsmm
20% =1 @9 w7

(a) * 12 (b)* 10

(c)*8 (d)°6

Pawan kaul earns 15 percent
on anﬁlwstment but loses 10
permenf on another invest-

mehityIf the ratio of two invest-
then the com-

) _];gixied loss percent is

241.

242,
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o i TF PRV W 15% 19 HHE

& wftrs gat fder o 3§ 10% =1 =it
B afk S Feel w1 sam 3 5 & @
Fol wfaerd &1 A i

() (b)

(c) (d)

A trader sells two bullocks for Rs.
8,400 each, neither losing nor
gaining in total. If he sold one of

the bullocks at a gain of 20%,
the other is sold at a loss of

uF SAME 8400 S H &L G Q) e
=1 B UF e 20% =G WA=
21 s g1 R W S A e A wf
SRS A e A e B
B 9T F=?

mloe o
o|en ol

2
(a) 20% (b) 185 %

(c) 14%% (d) 21%

A merchant has 1000 kg sugar,
some part of which he sells at
8% profit and the rest at 18%
profit. He gains 14% on the
whole. The quantity sold at 8%
profit is:

TF = F uE 1000 fEwm =5
THF HP AT T 8% o9 W AW I
18% w9 W =l g1 3 FA 14%
e gl 81 Al W 39 8% nH
A

(a) 600 kg (b) 640 kg
(c) 400 kg (d) 560 kg
|’ 345
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243

244,

245.

246.

.By selling an article at

3
4 of
selling price, a trader incurred
a loss of 10%. The profit/loss
percentage, when it is sold at
the original selling price, is

3
ot =g = faw! oo & Zméﬁﬁ

W fa@a #1 10% #i w7 g =afz ==
o fagt Yea WS s Al e
&1 wfawa 1 e

(&) 20% loss (b) 120% profit
(c) 32.5% loss (d) 20% profit
A sold a watch at a gain of 5%

to B and B sold it to C at a gain
of 4%. If C paid Rs. 91 for it,

then the price paid by A is:
AF TF T2t 5% % AT | B F ==
N B3 4% % sfaen W C i &=
7fs CA39= faw Rs. 91 o1 v, o A
T IEET R e o W oAd?

(a) Rs. 84.33  (b) Rs. 83

(c) Rs. 82.81 (d) Rs. 83.33
By selling an Umbrella for Rs.
30, a shop-keeper gains 20%
during a clearance sale the
shop-keeper allows a discount
of 10%. Find his gain percent
during the sale season.

T FASE & 30 % H DAl = W
20% 1 sifqen e €1 ferie 9w &
aqa de 10% 1 B2 <l #1 ¥l & S
STkt sfeny ufaea w@ wifeEm?

1
@75 (o) 8

(c) 9
A sells a car priced a¥ Rs.

36,000. He gives a d1$cp‘lﬁ1t of
8% on the 1% Rs. 20,000ahd 5%
on the remaining Rg 16,000 B

also sells a car of t’he same

make, period at™ Ra. 36 000. He
gives a discount of 7% on the
total prices. Calculate the
actual prices charged by A and
B for the cars.

A T% FW 36,000 % H A=Al 2 A€
Tedl 20,000 % W 8% H BT &M &
@i 919 16,000 & W 5% H w2 a1
21 B o SH W ® w1 36,000 % §
A=A 1 T8 e Ged W 7% F gL A4
21 A3 Bgr s & fou a9 #1 7
FH HIAd TALYL?
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@7 p o)

247.

248.

250.

(&) 30%

(a) A = Rs. 33, 500;
B = Rs. 33,400
(b) A = Rs. 33, 450;
B = Rs. 33,650
(c)A = Rs. 33,480;
B = Rs. 33,600
(d)A = Rs. 33,600;
B = Rs. 33,480

A person buys a bag at 25% dis-
count on its original price. Af-
ter few days, he sells it to his
friend at 40% increase on the
original price. What 1s his profit
percentage(approx.)?

T S A F AN S Avfa® g
W 25% 7 F W9 @i w9 fH ® 9m,
3G T8 9 SgF andted g 8 40%
S 9T A9 W =l &= € S9h a9
1 T e @2

(a) 75% (b) 80%

(c) 87% (d) 85% f_ﬂ;-
A customer saves Rs. 32?0 at
the rabate of 20% on ﬂéet

price of an article. If &Ehe ‘cost

price of the varticle for
shopkeeper 1s Rg IQGU then
the profit percént of
shopkeeper )

TF e, waﬁﬁwqﬁm
20%aﬁt{a§ﬁ’WRs 320 1 F9q
m:j\m' Rs. 1000 %, df THR &
mmmmg?

(b) 28%

(c) 20% (d) 25%

.A loss of 20% gets converted

into a profit of 15% when the
selling price of an article 1s in-
creased by ' 70. Find the cost
price of the article

e UF 95 F fawa gea | 70 #1 3y
eft €1 T 20% w1 15% ena #§ afafid
T S Bl A W e gl W
(a) * 100 (b)* 150

() 200 (d) " 250

A discount of 10% is given by a
salesman for cash payment.
What should be the marked
price if he wants to earn a
profit of 5%?

TH HHT g TES EE W/ 10% F
F2 & S 21 A% 98 5% T AH FHAT
Fledl € 1 ARG ged F 2

251.

252.

3 t.heq, pubhs her,

(a) 16.66% (b) 15%
(c) 22% (d) 10%

A shopkeeper purchased 50
dozen cups for Rs. 3000. Out of

these, 60 cups were broken

and could not be sold. At what

rate per dozen should he sell

the remaining cup to make a

profit of 20%?

& §FFER 4 50 T5H 59 Rs. 3000 F

w1 T ¥ 60 F9 2 T AR 3 = W

Hehl 20% @9 o1 & I 39§ S i 0l

ufs <ok fora gea o S =few?

(a) Rs. 60 (b) Rs. 75

(c) Rs. 89 (d) Rs. 90

If a, cm'nffnssmn at the rate of
O“/d is given to a bookseller on

the\marked price of a book by

the pubhsher

. gans 20%. If the commision is

253.

254.
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“increased to 15%, then the

gain percent would be:

afz yFwE g TEE fama w U
T & Afed Hed W 10 Hfaerd wHeH
fean <1 2, df WIS 1 20 v s
el 1 A wHvE w1 15wl awr
S & @ fEe wfaem w1 enw g2

(@) 16%% (b) 13%%
©) 152 % d) 12 =%
6 2
For ' 25,500, a furniture shop

sells 3 computer tables and 5
chairs OR 2 computer tables
and 9 chairs. If one wants to
buy a set of only 1 computer
table and 1 chair, how much
does he need to pay:'

TE HAE H FHA 25500 F 3
FOR A SRS FEW M 2 FOR
a9 3R O it A= # afg g
ZifF 1 Fop e o 1 wie
el 8, @ IH fHEN A HE Fm?
() * 1,500 (b) * 5,100

(c) " 6,000 (d) " 7,500

The marked price of a laptop is
' 12000. In a clearance sale it
is sold at a discount of 15%,
incurring a lose of 4%. What
is the cost price of the laptop?
UF o9l w1 HfRd geq 12000 2|
=4 fgermig d9a # 15 ufavd @2 w =
ol €, faed 4 wfoed #1 e e €
AT T FA ToA T 827

(a) * 10200 (b) * 10625

(c) " 11200 (d) * 10272
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256.

257
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A shopkeeper has 11 books of
same cost price. He sells the
first book at certain price, then

he sells second book at a price
which is ' 1 less than the sell-
ing price of first book and then
he sells third book at a price
which is ' 1. less than the sell-
ing price of second book.
Following this pattern, he sold
all 11 books. If he sells sixth book
at its cost price. Find the over-
all percent profit or loss on sell-
ing all 11 books.

TF THER & U UH E F g &1 11
TEF B 9 Jecl TEE B Th AT
T W A €, R 38 9% 98 gl
& & faswd qed 81 FH & Hoed W
T & faFd qed 8 1 w9 e W
ol 21 T HAER 9 11 g e
1 AR 9% TSl THF H FI Tod W
=@ € A w11 gl # e e
T U NN AL B 1 wfav S F2
(a)20% (b) 10%

[c]—%

(d) No profit no Loss/d &4 7 8I1f7

James and Vaibhav are
gamblers. Last year, the ratio
between money lost by James
and Vaibhav was 4 : 5. The
ratios of their individual losses
of the last year and present
year are 3 5 and 2 : 3
respectively. If total

incurred to both of them thls,r“’ '
3,597,000 tzhe\""’

yvear is Rs.
present loss of James 18

maﬂ'{%ﬂaqaxrﬂ%‘ﬁq@aéﬁ
st 399 % & o F Al B T
4:5% fr@a o o ahm o §
SHT wIfTEl [ _\WQ"}:\S:SaﬂT
2 : 3% afz adur Ad ¥ < F AN
el @ et 3,57,000 € @ S
A wf TR €2
(a)1,70,000
(c) 1,68,000

(b) 1,59,00
(d) 1,37,000

.The C.P of 10 articles is equal

to the S.P of 15 articles. What
is the profit or loss percentage?
10 =getil #1 %9 qed 15 aegeil &
fawa qea & auay #1 @ A el
yfewE fa &7

loss « =

(a) 25.5%
(c) 10%

(b) 35%
(d) 33.3%

258.Two mobile phones are sold at

Rs. 6000 each. The first mobile
is sold at 20% profit and the
other one at 25% loss. What is
the percentage of loss or profit
incurred during the deal?

q HEEd BH Rs. 6000 9fd ®F F
T WA S € Yo W w5 20%
A T A T § SR (gl et w:
25% wif4 W A= S €1 4R B AR
BU @Y A BT 1 A9 1 B
(a) 7.7% loss  (b) 8.3 loss
()9 % loss (d) 2% profit

259 _A trader purchased a gift box for

Rs. 150. What should be the

marked price on the gift box so

that after allowing a discount of

10%, he makes a profit of 10%?

T = ¥ Rs. lsoﬁqmﬁwm L

@ﬂmlwﬁwaﬁww%w‘ﬁr
A ey, AfF 10% # 92 39 & 1w
ft, 98 10% F1 @9 T F g3 ?
(a)Rs. 180 (b)Rs. 18’3 3
(c)Rs. 186.6 g].rRs 190

260.A vegetable bcllef sells his

vegetables at/20% profit. At the

same timfe..he uses false

weights, &lﬁc'h is 10% less than

the actual welght What will be

h_‘lS tota’l gain percentage?

ﬁ m—:ﬁ fashar ot wfssal 20% 4
"qz‘aa?n #1 =9 T AT T IR HT

T F S At R @ 10%
N Fm o €1 SEF He @ 1 ufavd

1 Trm?

(a) 25% (b) 30%
70

(c) 33.33% d 185%

261.A shopkeeper purchases two

items for Rs. 520. One of them is
sold gaining 16% and the other
at a loss of 10%, thus making no
profit or loss. What is the selling
price of the item sold at loss?
T# gFHER Rs. 520 ¥ 81 a%qu @ifEd
1 % 95 T 9 16% o9 SR gl
10% =1fa & e ==a &, foed 39 7
@ @il & S A e gt 81 e S
T T =1 fawa gea w e

(a) Rs. 288 (b) Rs. 232

[c) Rs. 320 (d) Rs. 200

262.

264

265.
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Arun buys one kilogram of
apples for Rs. 120 and sells it
to Swati gaining 25%. Swati
sells it to Divya and Divya
again sells it for Rs. 198,
making a profit of 10%. What
is the profit percentage made
by swati?

30 Rs. 120 ®# s foamm o«
TiEdl § #1T 25% W F WY 98
% w@ifa #w 49 m B o 5%
feear &1 949 3t 2 1 3% fe 9 feem
10% @9 % Wl Rs. 198 # &% adl
g1 a3 fean @ wfawa afsta
T =7,
() 25% 4

(b) 20%
(c) ¥6.67%

(d) 15%

.A dishonest dealer professes to
.gell His goods at cost price but

usés a weight of 875 gms for

(the kilogram weight. His gain

in the percentage is

T = fosan aT9 @ ged W SE
F1 @ FE T AfEA FReum a5E &
Tl H 875 UM F a9 (A1) T T
T T ITF 9 WA fRe By

5
(a) 17% (b) 14 %
2
(c) 145 % (d) 14%

.At what percentage above the

cost price must an article be
marked so as to gain 33% after
allowing a customer a discount
of 5% ?

fedt g & %9 709 § W fFa
yfaera 39 3ifra Fimg @ =y &
e F1 5% i T2 & & Y GHRAH
il 33% 1 @9 2

(a) 40 % (b) 45 %

(c) 35 % (d) 47 %

A man buys a table and a chair
for 500. He sells the table at a
loss of 10% and the chair at a
gain of 10%. He still gain ' 10
on the whole. The cost price of
chair in rupees is

F1 =afa UF B 30 U FHH O 500 H
g #1 9F ¥ 10% e W3R
HE 10% & o W S € fR o 39

e T © 10 w1 @ g 31 5
9 T T H waE?
(a) * 200 (b) * 250
(c) * 300 (d) * 350
|" 347
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266.

267

268.

269.

270.

A dealer allows a discount of
15% A customer pays an
amount of ' 318.75 for an
article. At what price is the
article listed?

uF fa@a 15% #1 g2 a1 81 18
e TRt aeq & forg ' 318.75 &t
Tfer a1 w1 #1 9%g F g FEA
| FifAw?

(a)' 366.50 (b) * 375.00

(c)* 350.00 (d) * 431.25

.A man bought 25 crates of

oranges for 10,000. He lost 5
crates. In order to earn a total
profit of 25% of the total cost, he
would have to sell each of the
remaining crates at

ferdt =1fam 3 9@ & 25 %2 10000
¥ &li3 378 9 5 e @ T 3| 98 Y
#we H ® uoAw #2 fea 5w w =+
ITH! T AN T 25% FT A1 B2
(a)" 650 (b) 625

(c)” 600 (d) * 575

A man sells an article at 15%

profit. If he had sold it for. * 6

more, he would have gained
18%. The man bought the
article for

wa Afa fored avg F1 15% o W
21 afz 393 T 6 sfuE W A B,
T =9 18% T TN BRI TATHR A T T
fem =9 o i o

(a) 100 (b) 150

(c) 200 (d) 250

When a discount of 42 is allowed

on the marked price of an . -~
article, the new reduced price /

bcconles, 86% of the ongu@al
price. Find the marked pndg

afe fadft avq & siferd gear Tu ﬁQ ko
Fe & A g A T géé‘“a.ﬁm Bl
F19d 1 86% % Sl é’l SifFa Fr

G W? __ L L5
(a)* 250 a’(];,}‘>"'300
(c)* 350 (d ‘400
A merchant buys 25 litres of

milk daily at the rate '12 per
litre. He mixes 5 litres of water
in it and sells at the rate
* 10.40 per hitre. His gain/loss 1s:
wF FEAeR fd &7 25 e 3y 12
ufe it F1 5T | wiiga &1 369 7€ 5
offer i femst 10.40 9fd ofiet =1
W A 3 B qRHEN IHS R
=1 yfaw fhen €2
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271.A fan s listed at

|a) 8% profit
(c) 4% profit

(b) 2% profit
(d) 6% profit
© 150 with a

discount of 20%. What
additional discount must be
offered to the customer to bring

the net price to * 108?
TH U= H OgA g 20% F B B
o * 150 ¥ Wk 1 fhad afafea

e & = fF 3% ge9 - 108 # s
ta]llé% (b) 15%
(c) 8%

(d) None of these/T ¥ FF ==

272.Loss of 20% on selling prize is

equal to x% loss in cost price.
What is x?

faFt 979 W 20% = T, IrE o

T x% i T & a0 21 x o 87 , . %

(a) 20% (b) 25%

(c) 162 (d) 16% .

273 1f ]0% loss is made ofis aeihng

price, then the rage of’ loss on
the cost price m;kbe Yeud

afz fat 7 W 10%-%t aift it #,
A e W‘%‘Iﬁ H T T B
*’JI

(2) 115% b) 955%

(d) 11%

(c) 10%;

274. WEulﬂ se]_ling a watch, a shop-
’ kebper gives a d1sco1:mt of 5%.

‘If'he gives a discount of 7%, he

/-, o+ earns 15 less as profit. The

marked price of the watch is
TF THAGR FEt a9 79T 5% # F2
AR T 7% F g W A A
a9 % B9 H 15 FH FHE S| HE
sifra o1 F0 22
(a) 697.5

[c) 750

(d) None of these/3iH ¥ ®E &

(b) 712.5

275.A retailer gets a discount of

40% on the printed price of an
article. The retailer sells it at
the printed price. His gain
percent is

e Wzah Tershal TRl o o aifeRa wed
T 40% F1 G2 UIW FI | AR T
fasar 39 @ifFd g W o= ¢ @ 39
Toha wftera a4 g2

276.

277.

278.

2
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.A shopkeeper allows

(a] 40 (b) 55

(c) 66% (d) 75

A dealer marks a washing

machine for ‘7500, and allows
a discount of 6% on it. Find the
selling price

w# faga af¥m mvi= @ e ge
7500 ferem € it 36 W 6% # B2
a1 sua fawt geg 9@ Fifee?
(a) 6850 (b) 7050

(c) 7250 (d) 6950

A merchant marked the price
of an artiéle by incresing its pro-
ductlotef cost by 40% .Now he al-

lowss/,Qﬁ% discount and gets a
Rroﬁt éof Rs. 48 after selling it. The

'.-"'p{t_)gluction cost 18
@ W 40% # gy W oqd w2

¥4 T 20% T2 W a9 48 ® FAH
FAE ¢ IS A TN 2R

(a) Rs. 320 (b) Rs. 360

(c) Rs. 400 (d) Rs. 440
A watch dealer pays 10%

customs duty on a watch which
costs Rs. 500 abroad . He de-
sires to make a profit of 20%
after giving a discount of 25%
to the buyer. The marked price
should be

H 500 ® #f 9=t ¢ 10% HA g
¥ ? A% 'lEd @ 25% @e d@
20% o9 F9A Fed € Al 9dEy ISHA
i Fma == g e ?

(a) Rs. 950 (b) Rs. 800

(c) Rs. 880 (d) Rs. 660
25%
discount on his advertised price
and to make a profit 25% on his
outlay. What is the advertised
price |in Rs.) on which he gains
Rs. 6000 ?

FlE THARR AT fasifia #iHa W 25%
F W A § R IuE ufem W OSH
25% 1 =19 21l =96 fanfe S (F=
H)aarey f5m @ 38 6000 ® &1 o9
B 7 ?
(a) 36000
(c) 39000

(b) 40000
(d) 42500
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280.1f the profit on selling an

281.

article for Rs. 425 is the same
as the loss on selling it for Rs.
355, then the cost price of the
article 1s

ford oeg 425 ® W 9=H W @Y
o € o 3§ 355 ® W AT W B §
A W TG T FT Y AL ?

(a)Rs. 410 (b) Rs. 380

(c) Rs. 400 (d) Rs. 390

A & B jointly made a profit of
Rs. 1650 and they decided to
share it such that 1/3 of A's
profit is equal to 2/5 of B's
profit. Then profit of B 1s

foroet a9 <t A 7 91 fomrd =i @ 288. A shopkeeper buys a product of

g9 I"H 3T § youmh el Wl
20,000 ® W frwd @ feom @
M 3T W TF W SR 25% @9 SR
TE W 25% T gEl At A & FA o
7 B ST

(a) He lost more than Rs. 2000/
3% 2000 ¥ atfuw = wift &

(b) He lost more than Rs. 2000/
3% 2000 ® ¥ F7 F w6 €
c) He earned more than Rs.
2000 /3% 2000 & ¥ a1firs 1 o g

(d)He earned less than Rs.
2000/3% 2000 & | FH & &9 g1

A 3T B = TgH 9 9 1650 ® #1  285.A shopkeeper sells rice at 10%

o9 g AN SEH Ffvem fea R 3
SHFHI TH UHH feom w8 i A & @9
F 1/349m B % @1 F 2/5 «m
T B B # ey saEy ?

profit and uses weight 30% less
the actual measure. His gain
percent 1is

FE THEAER 10% o9 W =Eel a9 & o, )
AR Tt 9 ¥ 30% F9 o s O

289. M

150 per kg. 15% of product was
damaged. At what price [per kg)
should he sell the remaining
so as to earn a profit of 20%?
% gEASH 150 ufd fel o &t X ¥
T a5 wigd g1 39 ¥ 15% 9%
T2 B eI 20% oY WE w3 & fou
3% v =g fFa wima (ufe feet om)
T A=A e

13 13
*218— 207 —
(@) 17 (b) 17
(c)‘QQSE (d)* 21113

purchased two toy
cycles’%r 750 each. He sold
thege pycles, gaining 6% on
QJ;J,e “and losing 4% on the other.

“The gain of loss percent in the

whole transaction is

T s 9 fae wEfea wlEd 2

(a)Rs. 700 (b) Rs. 750 SERIE A § TR I W A ;fa_;“ ﬁﬁaﬁi 750 éﬁ?*z; '; i
o IHES] ]
(c)Rs. 850 (d) Rs. 800 2 1. 5% : b =l
: : (a) 57=% (b) 57—:?5: q o9 B € wafE gul el w
282.4% of the selling price of an 3 ;, 4% # @ T B & Tl o
article is equal to 5% of its cost 2 38 L q g —
price. Again 20% of the selling (c) 57*% [d] 57 ﬂ"i’ @ o a 5 “ .
price 18 Rs. 120 more than 22% SRR h ; L [1 (a] 1% loss (b) 1% gain
of.its cost Pr.ice. Th.e ra.tio of cost d1s§01§n$gr§p ;S%a oonwsthz () 1.5% loss (d) 1.5% gain
pr1f:e & pelling ooy i advertised pﬁpé of a camera. 290.The profit earned by a
et o & faFa qea #1 4% 39+ The pricesid’) that must be shopkeeper by selling a bucket
F9 9ed & 5% P aUa 2l T fawa marked on/the camera, which at a gain of 8%_ is ' 28 more then
Tl 20% 3% F9 T F 22% T cost’flmi 600 to make a profit when he sc.]ls 11.: at a loss of 8%.
120 ® s #1 37 g o fa of Qo%«ﬁyould be The cost price (in Rupees) of the
W & At oo e bucket 1s
7 3TI ey ? e 3
oy ' “10% e a1 #1 20% @9 WE FE & T TRAR BN T A w 8% H
(a)2:3 (b) 3:2 1™ Fr 600 = W AR SR F R M A9 W 8% HI B B HEE
Proon _,{ .
(c)4:5 (d) 5:4 £ mrven O s e s St? QSSTﬁJTfHFﬁj‘:mﬁ?v H T g
283.Due to 25% fall in the ratg of } (a) 60 (b) 800 (T #) = F?
eggs one can buy 2 dozeryeggs (a) 170 (b) 190
more than before by inveétion (c) 700 (d) 850 (c) 175 @) 165
Rs. 162. The th al rat : i
s. e the OI}éI’l rate 287.A dishonest dealer defrauds to 201.A Man bought 500 metre of

284.
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per dozen of the egg‘"s is
awg’fmmrr%;(paﬁﬁmaﬁw
162 ® © Weel ®I FroEr 2 ToH A0S
i TR S WY #) AR Y €Y 9
gf TS AV & T FiEd o ?
(a)Rs. 22 (b) Rs. 24

(c)Rs. 27 (d) Rs. 30

Last year Mr. A bought two
paintings. This year he sold
them for Rs. 20,000 each. On
one, he made a 25% profit and
of the other he had a 25% loss.

Then his net profit or loss is

the extent of x% in buying as
well as selling is goods by using
faulty weight. What will be the
gain percent on his outlay?

AU TG W FA AR o FW T
T AR x% TH WA HE & SHH!
AN WA @4 faeE = em?

(b) [% +12J%

2 )‘.‘2 .
o e

(a) 2x%

(c) [Qx-l—
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electric wire at 50 paise per
metre he sold 50% part at the
profit of 5%, at what % profit he
sold remaining as to gain 10%
o1 the whole transaction?

TF THEASR A 50 T8 i e # | W
500 = ﬁ?EﬁTnF i @i 39
TEH ° 50% # 5% & w9 9 =
ol G} W 10% o9 W FH F
o S# ¥ s somElT At w6
forea wfaym oy W S=a =ifee?

(a) 13% (b) 12.5%

(c) 15% (d) 20%
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292.

293

294

295.

296.

.A dealer is selling an article at

A book seller allowed 10%
discount on printed price. He

gets 30% commission from
publisher. His profit in percent

will be

forelt g fasan 4 affra oA ™ 10%

G2 I W TERF ° 30% FHYH 297
fieran €1 g1 @19 Wfav\ 1 g2

W FE EE 30% B W S
W 140 FE W A @ 39
40% 11 BT T 1 HF oA TR
(a) * 280 (b) * 200

() * 260 (d) - 300

.A shopkeeper purchased 510
eggs at the rate of * 20 per

4 dozen. 30 eggs were broken on

(a)20 (b) 28? the way. In order to make a
gain of 20%, he must sell the

(c) 25 d 282 remaining eggs at the rate of
[ fopett PTRR T * 20 Wi o W

510 #1v2 @@= 30 #ve T H =
MO I Y9 AUe TR 9w s=d =ifey
fm 38 20% =19 =7

a discount of 5% on the marked
price. If the marked price i1s
12% above the cost price and

the article was sold for * 532 (a) * 22.50 per dozen/ " 22.50
then the cost price is (in" | fa =<1
FIE fagar = axg #fed #9a 9 5% (b) * 25.50 per dozen/" 25.50
FId WA 21 AR R FE, F o <o
T Fﬂ_la?;’: 3‘2? \Eﬁ S o [c) * 26 per dozen/" 26 ¥fd Ej?l
T 332 i dl 39 q =l &4
, " R (d) * 26.50 per dozen/" 26 50
e (H ) = ' i 9.8
(a) 500 (b) 525 i /)
298. A sells a watch to B and makes a
() 505 (d) 520 loss of 12%. B m@lﬂe& a proﬁt of
.A shopkeeper increases the

price of an object by 40% and
then sells it at 25% discount
on the marked price. If the
selling price of such an object

be * 2100, its cost price for the
shopkeeper was?

¢ gEAER R ow W #hd 40%
ag 3l & R fEt 38 sfed FHa W
25% FI T2 & T o=dl 81 A IH T -
1 forsha 7 2100 B o Fw JHARRA
% foru 39 a%q #1 %9 oI = 2112

% by se]_h;lg\the Watch to C.
If A sells t]r’fe mtch to be at the

cost of v{'hlbh C purchased it,

therwtht:h percentage of loss or
poﬁt of A'will be.

;x Bgﬁ 12%3@111@3@3@31%

Ba'a'a:«ﬁcﬁlz % oY W 99

“'&mélaﬁAmmwa@m%,
forg g 9T =€t C A =l o 9 A
0 1l 1k 31 B 7 1 3 e

:a]]‘?ggg (b} 1500 2 (a)1% loss  (b) 1% Profit

c g

By what faction a4y [S P) [c) 2% loss (d) 2% Profit
must be multiplied i_gef"the cost 299.A man buys 3 type-I cakes and

price (C.P) if the Less i, 20%? 6 types-II cakes for * 900. He

qﬁgﬁgo%@aéﬁﬁﬁmﬁq sells type-I cakes at a profit of
15% and type-II cakes at a loss
7
SO R S R T T of 10%. If his overall profits is
[a]% (b) % " 30, the cost price (in ") of a
type-1 and of a type-II cakes is
©2 @ 2 i wAfer 2] % 3 % I B
* 3 6 % 900 wiEdl 31 w8 el H
Ramesh sold a book at a loss of

Feh Bl 15% @d W 3T 2E9-11 & s
F 10% afy W a=ar 1 afg 38 w5
* 30 1 @19 g2 B at 2rdu-1 i -
1% &% & %4 964 (° H) aaru?

30%. If he has sold it for * 140
more, he would have made a

profit of 40%. The cost price of
the book is

350 |
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300.

301.

302.

303

304.
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(a) 100,100 (b) 160,70
(c) 180,60 (d) 120, 90
2017 MAINS

For an article the profit is 170%
of the cost price. If cost price is
increases by 20% but the selling
price remains same, then what
is the new profit percentage?
U% % ® HA Jod & 170% v
g@ 21 afg w9 gea § 20% =1 gfs
e &1 sife o Woa gue = €,
A T e gfaer fRa &2

(a)4l & (b) SO

() 75 £ (d) 125

Whﬂf’e se"fhng an article for Rs.
],8459 a person suffered a loss

"0f 50%. At what price he should
,-_.havc sold the article (in Rs) to
“earn a profit of 50%.?

% F% H1 18450 % H A9 W UF
=Afa F1 50% H1 B Bt 81 50% H
o W wE & fe 9w ey w fem
Fd (& H) W a9 =feu?

(a) 13837 (b) 52000

(c) 55350 (d) 56775

A shopkeeper marks up his
wares by 60% and offers 25%
discount. What will be the
selling price (in Rs) if the cost
price i1s Rs 1600?

TF FFERH A9 T H FH 60%
sfw T, 25% B2 3 B Al w5
Te 1600 ® @ dt fagwl geg (¥ )
1 Bm?
(a) 1920
(c) 2100

(b) 2000
(d) 2200

.At 30% discount the selling

price of an article is Rs. 1050.
Whatis the selling price (in Rs)
if the discount is 15%7?

30% T2 W UF T F faw g
1050 & @ 7R @2 15% € i fawt

T (% H) ¥ &2
(a] 1200 (b) 1175
(c) 1100 (d) 1275

A trader had 630 kgs of rice. He
sold a part of it at 15% profit and
the rest at 8% profit, so that he
made a total profit of 12%. How
much rice (in kgs) did he sell
at 8% profit?
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306.

307

308
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T MR & T8 630 faeime wee 309. After two successive discounts

9| U THE UF few 15% o9 3R
TET F 8% o9 F Wy == fEEn, mfE
4w/ 12% = GE Bl IWH 8%
@9 W e ame (fFemm §) =7
(a) 270 (b) 300
(c) 280 (d) 290

.The cost price of 60 articles is

same as the selling price of x
articles, If there 1s a profit of 20%,
then what is the value of x ?

60 x4 Hed X aegei & fawa
Teq % TR 71 9f% 20 vfavm 1 o9
g FA x W OAE w82

(a) 15 (b) 30
(c) 50 (d) 80
An item 1s sold at two

successive gains of 30% and
20%. If final selling price is Rs
31200 then what 1s the cost
price (in Rs).

F a5 H 30% 3T 20% & & Hiuw
endl W S WA g A Sw st
fa%a 7ea 31200 % &, o 9 g
(& ®) F1F?

(b) 15000 (b) 20000
(c) 22250 (d) 24000
.By selling 175 pineapples, the

gain 1s equal to the selling price
of 50 pineapples. What is the

gain perccentage?

175 FFM a=[, W 50 SFAM & o
ﬁm&mmwmmmélmq/

1 wfaea fre 22 )
(a) 28 ()30
(c) 32 o 4

(d) 40 %

.A trader sold an a.t't;ﬂe afs profit

of 20%. Had he bought that
article at 60%@’{933 price and
sold it at Rs 90 less, then he
would have gained 50%.What is
the value (in Rs) of cost price ?
TF A & 35 F 20% F A9 T/
Sl 81 AfE 9% a5 ® 60% A
W el € 991 90 ®. wH W Hdudl ©
, @ 38 50% @9 A 21 FT goA F
A (€ §) fraw 22

(a) 150 (b) 200

(c) 250 (d) 300

310.

311.

of 20% and 12% an article is
sold for Rs 16896. what is the
market price (in Rs)of the
article?

20 % T=M12% F | HiFF T2 F IR
wF 9% # 16896 & W =1 W@l 2
a5 F1 dfFa gea (BH) 1 87

(a) 21500 (b) 23800

(c) 22000 (d) 24000
Mohit buys an old bicycle for
Rs2700 and spends Rs500 on
its repairs, If he sells the
bicycle for Rs3520, then what
is his profit percentage?

Tifed T AT wEfea 2700 %, H Sl
% e 500 & SEH T W @ B
21 4fz 98 Efed &1 3520 %, | S=d &
A swe @ v fra 27

@) 10 (b) 12.5

(c) 15 d) 20 )
Kanchan bought a clock: Vﬁ'th
25% discount on 1narkcd;< pr,],ge
she sold it with 75% ga],f; ou the
price she bought , what was her
profit percentage »é6n the
marked price? i
ERERECES L 11@ ™ 25% FI
e G @'ﬁﬁ?ﬁ'f@ 1%5"‘3@ B T I
T{ 75% e 1 3=t 1 3 e

mqm feemT an?

:a]31 (29 (b) 50

()(56,25 (d) 60

3125“2%. erson bought pens at 25 for

&

313.

"a*’rupee and sold at 15 for a
. rupee.

What 1s his profit
percentage?

T# AfF 1 ® § 25 Ford @ied ¢
A 1% § 15 wed d9dl 21 IHF A5

wfaer o € 2

2 1
(@) 163 (b) 3335

2
() 665 (d) 40

A dealer sells a machine hav-
ing marked price as Rs 3840 at
a discount of 20%. What is the
selling price (in Rs) of the ma-
chine?

T fada 3840 & Afra 7o Ol T
Y N 20% F T2 W A=al &1 WY
#1 fawa gea (BH) 701 &2

(a) 3072 (b) 3500

(c) 4608 (d) 3240

314.

315.

316.

317,
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Profit obtained on selling an ar-
ticle for Rs 540 is equal to the
loss incurred on selling the ar-
ticle for Rs 370. if selling price
is Rs. 910, Then what 1s the
profit percentage ?
5406ﬂﬁaﬁaﬁﬁmmm
a’g 370% ® 991 T W B %
A €1 978 999 9o 910 ® &, d &g

ufayra = 7

2 1
(@) 165 (b) 335
(c) 50 d) 100

A dealer sells two machines
at Rs 12000 each. On one it
gains 32% and on the other
it loqﬁesy32% What 1s 1its
pr_ofq“t/}dscs percentage in the
tyhiavl;e""‘!transaction ?

Cug e @ Wl 1 12000 ® wfd
CHYA R a9 8 T AT 32

Yfaerd 1 @re aur gad JeE W OSE 32
wftera #1 w1 B ¢ 9 °F < H 9
o 3SHH ena/e F1 wfavm Fnogm?

(a) No gain and no loss
(b) 1% loss

(c) 18% profit

(d) 10.24% loss

A trader sells two items at the
rate of Rs 400 each, if he gains
15% on one and losses 15% on
other, then what is the value
(in Rs) of loss?

THF HANE 3 Sl F 400 ® wfq
T F R H I 2 Al 36 TF T
T 15% F 9 T FEd g W
15% =1 & et &, 9 =fF &1 7
(&.9)fFan sm?

(a) 18.41 (b) 22.14

(c) 20.25 (d) 24.36

A shopkeeper allows 25%
discount on the marked price
of an article and he suffered a
loss of 15%. What will be the
profit percent if the article is
sold at marked price ?

UF THEMER OF o F dAfEd eI W
25% #t W e & au @ 15% i
BIf1 et 21 afg o 1 AR gou W
=1 W, fee wfova # ey B ?
(a) 11.76 (b) 12.12
(c) 13.33 (d) 14.28
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318.

319.

320.

321.

322

A man gain 15% by selling a
calculator for a certain price.
If he sells it at the triple price
,then what will be the profit
percentage ?

F Fawa F UF ffEd wE W
o= UL Tk Al B 15% F1 A1 Bl
g1 9fc 9% 39 Fewo HOAH
FHa T F9, o o wfawa 9= s ?
(a)125 (b) 175

(c) 225 (d) 245

A trader allowed a discount of 324

15% on a trolley bag having list
price of Rs. 1360 and earns a
profit of 15.6%. What is the cost
price (in Rs.) of the trolley bag?
TF NN UF el o faaar sifdd
T 1360% &, W 15% 1 92 3 &
adq 15.6% 1 oS FAM & e o
w1 F4 g (& °) fapamn 22

(a) 1000 (b) 1005

(c) 1050 (d) 1156

By selling 90 pens for Rs. 80 a
man loses 20%. What should be
the selling price (in Rs.) of 90
pens for 20% profit?

uF =5 #= 80 T H 90 FaAH F9
20% T F T Bt §1 20% 1 @
FoH & fau 90 wem w1 fowa qoa
(¥ #) = g =nfew?

(a) 90 (b) 100

(c) 110 (d) 120

If a saree is sold for Rs 1900

the seller will face 5% loss, at p

323.

325.

(a)9 (b) 13
(c) 10 d) 12
If a vendor sells apples at Rs

170 per kg he suffers 15% loss.
If he sells at Rs 230 per kg, then

what 1s his profit percentage?
afs w fashar 170 % ofa feam = 9
Ha w9 & d IH 15% THEE i 8l
230 % 9fd fRm W A= | SuE A
wiwm o sme?

(a) 15 (b) 10

(© 5 d) 20

A vendor buys 12 bananas for
Rs 60 and sells 5 bananas for
Rs 32. What will be his gain
[in %)?

T fak 60% F 12 H WlRd 3R
32 T H 5 ol 99 T 39 T4 AH (%
) T =m?

(a) 28 (b) 32

(c) 24 d) 22 o
The cost price of an article,is %
it is marked up by 120:@ Tt)is
sold at Rs 8800 after gw‘mg 20%
discount. What is J:he varue (in
Rs) of x?
mmﬁmwx%m 120%
a fafed FRaLAm B 20% @2 33 B
1% T 8800, € YA Sl 21 x F AT

(& ) 7 &
(a) 7680 (b) 6000
(<), 568‘0 (d) 5000

32@4f,»~2 T— shirts are offered free on

»

what price (in Rs) should he se],].,

the saree to gain 15% proﬁlf}?

afe & T 1900 ® § A e Bl
ﬁaﬁmﬁmﬂaﬂmm% ts@ Evn*q
Hfsa w9 = fou =9

(% ®) W g9 =@fey

(a) 2200
(c) 2500

69@122.5}00
(d) 2300

.A trade buys 800 kgs of toma-

toes for Rs 7200. 10% tomatoes
are damaged in transportain. At
what rate (Rs/kg) should he sell
the rest earn 30% profit?

TF AT 7200 F F 800 fFam. TmR
el &1 uEEd ® 10% 2 BE 8
W B 30% T4 wifsh w % fom s
qaEt 99 2w feme =X (wfwEm) W
T =fegu?
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327.

“ptrchase of 5 T- shirts. What
" is the effective discount (in %)

on each T-shirt?

MsAW R @R W23 W gR
= Y F S, | v 3w
e 82 (% W) o ami

(a) 200/7 (b) 20

(c) 30 (d) 50

A wholesaler sells jacket to a
retailer at a profit of 5% and the
retailer sells it to a customer
at a profit of 10% If the cus-
tomer pays Rs. 4158, What had
it cost (in Rs) to the wholesaler?
TE UiF A 5% % AW W ERERA
AAMH F T AP 391 ¢ 3N G
R 10% & @9 W TeH H ™
dua B Al W 4158F HOPIEE
T, T o = w1 A 95 (F
q) T oq?

328.

(a) 3500 (b) 3400

(c) 3300 (d) 3600

A farmer buys a goat and a sheep
for Rs 3500. He sold the sheep at
a profit of 20 percent and the goat
at a loss of 10 percent. If he sold
both the animals at the same
price, then the cost price (in Rs)
of the cheaper animal was?

uF fEam 3500 & § UF AwG 3R U
5 wiEd 21 3 92 @ 20 yfavd &
o SR TR F 10 o F A W
TSIl 3 IEE SEl e W UE &
FIE T é%n o, § T SEER &
@ q@m (¥ #) &7

(a) 2961@1 J (b) 1500

(c) ;;750 (d) 2250

A‘ tr:ader buys 500 kgs of cotton

.. for Rs 9,000. 10% of this cotton

330.

331.

332
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s Spoiled due to rain. At what

rate (Rs/Kg) should he sell the
rest to earn 10% profit?

TF SN 500 % fF£.77 F9 Rs. 9,000
H wited &1 Afwr & FR0 59 U F
10% T B & ST 21 10% e sfsfa
wH & fou 59 W=l w99 = fFe
(wfwm) w = gm?

(a) 25 (b) 30

(c) 22 (d) 20

A milkman buys milk at Rs. 25
per litre and adds 1/4 of water
to it and sells the mixture at Rs.
26 per litre. His gain (in %) 1s?
@wmwzsﬁuﬁi?ﬂa@@ﬂw
# #R 3gH 1/4 WAl faem € ot @
fagor w1 26 ® W et § S=al 21
IR A (Y% H) e 27

(a) 25 (b) 20

(c) 30 (d) 15

At 20% discount the selling
price of an article 1s Rs 2400,
what is the selling price (in Rs)
if the discount is 32.5%?

20% T2 W T 9 H faw 1eF 2400
T 2, af% B2 32.5% #1 @ a fawr g
(% ®) @11 Bm?
(@) 2125

(c) 2025

(b) 2225
(d) 2325

.A trader had 1200 kgs of rice.

He sold a part of it at 5% profit
and the rest at 11% profit, so
that he made a total profit of
7%. How much (in kg) wheat
did he sell at 5% profit?

www.spardha.guru



333.

334.

335.

336.

info@spardha.guru

TF SAE F W 1200 fRm =rEe o
ST THHI UH BE 5% o9 SR vW
11% o o 9= =, fored 6 59 7% =
el GATET FAmEn S0 fea = (.
. H) 5% o9 W S A2

(a) 900 (b) 600

(c) 400 (d) 800

If a vendor sells a discount at
Rs 24 he makes 20% loss. If he
sells at Rs 36 then what is his
profit percentage?

7fg #iE fagal Rs. 24 o T« s=ar €
Tt 38 20% H THEH T B AR T
39 Rs. 36 ¥ #=a1 &, @ T9F1 @09
yfoera feaen zm?

(a) 10 (b) 20

(c)30 (d) 40

A wholesaler sells a jacket to a
retailer at a profit of 25% and
the retailer sells it to a cus-
tomer at a profit of 20%. If the
customer pays Rs. 2,400, what
had it cost (in Rs) to the whole-
saler?

TF 9is AU 25% & o W OEET
@A 20% F 19 T WEF F 56 =
21 3T WMEF Rs. 2,400 F1 A HL
, A o = A fe (3 9) | wle?
(a)2000 (b) 1600

(c) 1800 (d) 2250

If a wholesaler, sells a tin of

coffee at Re 528 he faces a loss p
of 12%. Now if he decides to sell«’“" )

337.

338.

339.

340.

P

it at Rs 636, what will be }he y

profit (in %)? /

N TF UF SO, 528Fﬁmﬁﬁ¢r
fer S &1 A1 39 Izmmmﬁfm%i
I IR AT T 636 TG M A H
e F@ €, W R (% #) Fm?
(a)7 (b) 5

(c)6 (d) 4

If a saree is sold for Rs. 2880
the seller will face 10% loss,

at what price (in Rs.) should
he sell to gain 20% profit?

ST UF WE 2880% H A S T A

I 71t g 2
(a) 3900 (b) 3840
(c) 3800 (d) 4000

341.

. ticle for Rs.

A man bought 15 mangoes for
a rupee. How many mangoes
were sold for a rupee so that
there 1s a loss of 25%?

T =R 1% F 15 3 S Bl 1%
4 39 e omw = B O S 25%

wt wfA &
(a) 10 (b) 12
(c) 18 (d) 20

By selling a fan for Rs 1900 a
man has a loss of 5%, then at
what price (in Rs) should he sell
the fan to gain 20%?

Weh AT i Uk T@1 1900 % H = 9
5% HI BT ER €, o ve w39 fRw
FHd (5 H) W =T Tifer e 5
FH 20% H 9 Bl?

(a) 2000 (b) 2400

(c) 2600 (d) 2800

A trader gets 25% profit by sell-

342.

mg an article. If he buys at half "/

the rate and sells at the sagi’e
selling price as before, then W}l&t
will be his percentage p <ﬁt'9“
ﬁwwaﬁaﬂzs%%ﬂﬁw
A ¥ AR A AR A W
T & A9 59 Teor ae) foa ged W
?raam%.a’l—ﬁg.@wmwm?
(a) 50 J”j (b) 100

©125 { J7 @@ 150

Py
Proﬁt obtamed on selling an ar-

t10ffe ‘;01 Rs 310 is equal to the

'1@;&;3 incurred on selling that ar-

230. What will be
the loss percentage when sell-
ng price is Rs. 180?

310 ¥ 9 | U 9% HI a1 W WD
9 230 T § IH a%g F A W
Wt B % e ) w1 i Fan g
W& faa g 180 ¥4 =7

1 2

1 1
() 323 (d) 202
On an article the profit is 230%
of the cost price. If the cost
price increases by 50% but the
selling price remains constant,
then what is the new profit per-
centage?

344

345.
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T& 9 W F9 69 W 230% T4 B
21 4k %9 §og | 50% *f g &6t €
AfF fawa g feer e €, A T a9
wferd @1 2rm?

(a) 54.54 (b) 80

(c) 120 (d) 150

A trader buys two articles for Rs
4000 each. While selling if he

gains 12.5% on one and losses
20% on the other, then what will
be the overall loss percentage?
T =AM F age w1 4000% wfq G
F TM W wiEd 21 A d=d g9 39
T T GN2.5% 1 I T T
™ 20/«’53—‘"{ i e, a@ =gl wif
R S anit

WY

@25 (b) 3.75
. 1f@) 5 (d) 5.25
",f-\,3“k3'."A man bought 9 pens for a ru-

pee. How many pens should he
sell for a rupee to gain 50%?

uF A 15 W 9 FA9 BT 1 50%
E Rk | e e B i s o= [ O -
ferat Fom d=At =nfeu?
(a3 (b) 6
(c) 7 d) 8

.On an article the profit is 210%

of the cost price. If the cost
price increase by 40% but the
selling price remains constant,
then approximately what per-
centage of selling price will be
the profit?

TH 9% T FHG Hed H 210% A9 gl
?1 % %9 gea § 40% H gfs o6 €
W foka gea for @@ &, @ @y
fawa Teg &1 e e wfdea gm?
(a) 55 (b) 62

(c) 74 (d) 85

If the price of apple increases
from Rs 80/kg to Rs 100/kg,
then by what percentage a per-
son should decrease the con-
sumption of apple so that his
expenditure remains same?

I Fa =1 Y7 30 % wid fFw | 100%.
yfd foRa. 1 STl &, o U e 5 g
=1 T fea wfave w9 %2 & =g,
aifF a1 T THE w2
(a) 25 (b) 22
(c) 20 d) 18
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347.

348

349.

350.

By selling a table for Rs 2700 a
man gets 10% loss, and then at
what price (in Rs) should he sell

1
to gain 33 —3— %?

UF AfFd | TE AF 2700 F H g9 W
10% 1 211 2t 8, & °1 F1 frg Fha
(% )W s=7 =fen fomw f& 39

1.
33-3 % o ey W Bl

(a) 3000 (b) 3300
(c) 3600 (d) 4000
A trader sells two articles for Rs
14784 each. If he gains 12% on
one and losses 12% on other,

then what is the value (in Rs)
of the loss?

T A S AEgE w1 14784 Wi A
= T W A 21 A 3 U g W 12%
FT A FA A TR W 12% F e B
&, @ = % e (% H) = e

(a) 300 (b) 368

(c) 432 (d) 498

. After giving 20% discount on an

article there is a profit of 20%.
What will be the profit percent-
age when no discount 1s given?

e %] W 20% HT T2 31 & a1 91 20%
1 &9 B ¥ B T 3 R e e
1 o9 Bm?
(a)40
(c) 54

(b) 44
(d) 50

The marked price of a cyclg; \1§;\H “

Rs 5600. If two successive dis-
counts of 10% and 15% are
given, then what w:tﬂ ‘Pe the
selling price (in Rs] éf tlrfe cycle?

UF GrEhe W{ﬂssooﬁ 21
afE 10% ae 15% H S FEE g @
S, ot wefEa w1 fawa e (5 H)
1 B2

(a)4284 (b) 4200
(c)4214 (d) 4314

A trader sold an article at a gain
of 20%. Had he purchased it for
40% more and sold for Rs 24
less, then he would have in-

curred a loss of 20%. What is the
cost price (in Rs) of the article?

354 |
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1
355.The cost of pencil 1s 335

U FAGH UF qE F 20% F A W
Fual B A% mE IW A W 40% Al
M R EiEd 81 G0 24 F A H sear
#, o S® 20% ®T w6 St ¥ o w1 FT
T (5 F) e 87

(a) 150 (b) 300

(c) 450 (d) 600

351.The cost price of a chair is 25%

less than the cost price of a
table. If a man sells 5 chairs at
the cost price of 7 tables, then
what 1s his profit percentage?
T FH F F YA UF WA & FT oA
uw%m%laﬁ@mﬁﬁswﬁaﬂ
7 TSl @ A Hod W de €, @ SEE
@1 wfaer T 82
(a) 33.33

(c) 86.66

(b) 45
(d) 96

352.After giving two successive

discount of 20% and 25% a
cycle 1s sold for Rs 4200. What

356.

o

357.

is the marked price (in Rs ) of ¢ |

the cycle?

20% 71 25% F | FuF T TS
T UF WEfRE # 42005% HaET
Eic ‘%‘| TEfFa &1 sifFd ged &F@ )
1 €2 a)

() 7200 (b), 7000“"'-"‘

(c) 6500 (dY 6200

353.A person sold a boc’rk for Rs 21

and got a losﬁfg percentage which
was numeﬁcaﬂly equal to the

(in Rs}""ﬁfthe book ?

Qﬂ?ﬂfﬁmmﬂwﬁwm%‘
Aeel F1 S YRR WE E S A
(Herer %9 7o % a0 #, 9 frae

N FFT g (FE H) T2

(a) 30 (b) 70
(c) Both 30 and 70
|[d) connot be determined

354.3/4 of marked price 1s equal to

5/6 of selling price. What 1s the
discount percent?

sifra 7o &1 34 faw 99 =+ 56 &
TR 1 B viawd w7

(a) 12.5 (b) 10

(c) 15 (d) 11.11

% less

than the cost price of a pen. If a
man sells 4 pencils at the cost
price of 5 pens. then what 1s his
profit percentage?

; 'f.w.{

358.

359.
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F Ui 1 FH oA UF FoM F FA

1 5
e | 33—% wfowd %4 8 4fc TH
fF 4 qlhamw EaGL| ?EFGE[RI‘:R‘
oAl ® o i @ gm?
(a) 50 (b) 66.66
(c) 75 (d) 87.5
Rohit buys an old bat for Rs 1230
and spends Rs 180 on its repairs.
if he sells it for Rs 1128, then
what i1s his loss percentage?
e T QA A 1230% ° EE &
q 180 & IHF! HOAG W @F F
aﬁa'a'?@n 1128 & H 3l 2, ot SR
il srm‘m 82
[a},12 5 (b) 15
(€20 d) 25
Axtr'ader sells two articles for Rs
#1875 each.If he gains 25% on

orie and losses 25% on other,

then what is the value {in Rs)
of the loss?

TF AR S WA 11875 F U 9%
F M W S &1 A W E A W
25% T AT qA T A W 25% B
Bt 2, @ w1 F WA (§ F) F0 2OM
(a) 150 (b) 250

(c) 400 (d) 500

A purchased an article and sold
it to B at a loss of 20%and B sold
it to C at a gain of 20%. C pur-
chases the article for Rs
480.For what price (in Rs)A has
purchased the article?

ATF TE F G E T B FH 20
ufar # 2t W S 2 ST B SH o
1 C ol 20 Wfawrd & o W S B
C o%q T 480% H @iad g1 A ¥ o
&I o9 <M () | G 17

(a) S00 (b) 450

(c) 420 (d) 480

If 20% of marked price is equal
to 30% of cost price. If no dis-
count is given, then what will
be the profit percentage?
sAferd T 1 20% A T & 30%
o e ¥ 3 R W2 A @ W, Al
H 1 HfaR g

(a) 50 (b) 40

(c) 48 (d) 45
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An article is sold at a profit of
50%. If the cost price is doubled
and the selling price 1s halved,
then what will be the new profit
or loss percentage?

U o ®i 50 gfa9d & @y 9 °=
S &1 4% w5 qed < E mm §
91 fagd qod 141 81 S €, o o
=1 =1fa =1 wfawa = smm?

(a) 62.5 loss (b) 62.5 profit
(c) 37.5 loss (d) 37.5 profit

.By selling a pen for Rs 105

there is a loss of 30% at what
price (in Rs) the pen must be
sold in order to gain 30% ?

TH FHEH FH 105. F W I R 30%
=1 2149 21 21 o9 =1 fHE Tm (%
H) 9 =" WH W 30% FHT AT B2
(a)215 (b) 165

(c) 195 (d) 200

The ratio of marked price and
cost price of an article 1s 6:5 if
15% discount is given, then
how much is the profit {in Per-
cent)?

T 9% % Hihd qed a1 %9 J&d H
aﬁtnassﬁ‘lﬂﬁ 15 gfowrd &1 g2 9

e, e (wReE W) w0 8?

(a)4 (b) 0.2

(c)2 (d) 1

Cost price and selling price of
an article are in ratio 13:9. If
the loss incurred on article is

Rs 320, What is the sum (in Rs)

of cost. and selling prices?

F 9 & F4 Waww&wwx
S 13:9 B Afg o W 320% 1 )

e Bt 7, WWWWW

wiig (.H) foal 87

£ _’?.?T,;"""
(a) 1480 (b) 4620
(c) 1500 14 1760

By selling 64 appTes Yor Re 60 &
person gains 25%. In order to
have 40% loss, how many apples
shall he sell for Rs 36?7

64TE F 0% W 99 T TF =AM
F 25 wfaw #1 ee B 21 40
wfoera 17 & fore, 39 36@.d foad
Ty oo e’
(a) 80
(c) 60

(b) 70
(d) 50

365.An article 1s sold at a discount

of 35%. If the selling price of
the article is Rs. 2275, then
what is the marked price (in
Rs.) of the article?

F T F 35% F HZ W A= Sl 2
afg o 1 foa e 2275 W@ B,
a5 # iR gea (T #) F 82
(a) 3250 (b) 3300

(c) 3000 (d) 3500

366.A man sells two articles each

for 240. He sells one at a profit
of 20% and sells the second at
a loss at 25%. What is the net
profit or loss in the whole trans-
action?

TF =Afad IS W ¥ y@E 1 240
A dua &) 4fE ww a5 ®H 20% P @

W A T A # 25% oA W
A 81 R A2 § el () emE o

71 &1 ufaer @ gm? b
(a) 9.09% Profit (b) 7.69% Exof}
(c) 7.69% Loss (d) 9. 09% Loss

367.Rahul sells a machine fo‘i‘ Rs 50

lakhs at a loss. H;ad__\he sold 1t
for Rs 60 lakhs, Hs;gain would
have been 7 times “the earlier
loss. What-ié- tfi'e cost price of
the machme?

Ted mtrsﬁ‘-'r 50 o F9 H uR §
ol %l Afe S S8 60 @ § S
ﬂmmm @19 3HE g H 7 I
‘ERTN oY F F e 2

. |a)Rs.51.25 lakhs
Py
(b) Rs.58.75 lakhs

(c) Rs.67.14 lakhs
(d) Rs.43.75 lakhs

368. A wholesaler sells a watch to a

retailer at a gain of 32% and the
retailer sells it to a customer
at a loss of 20% If the customer
pays Rs 1,953.6, what had it
cost the wholesaler?

T A A UF GRU AN 0
bt 32% @9 F WY a9 o T AN
TET A 3H TR H 20% B &
Y A9 W 2 AR Wed 7 1,953.6
FE F QA T Y, 9 o s
H TOW P d?
(a) Rs. 2063

(c)Rs. 1850

(b) Rs. 2394
(d) Rs. 1637

369.

370.

371.

372.
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A rice trader buys 25 quintals of
rice for Rs 1825. 27% rice is lost

in transportation. At what rate
should he sell to earn 20% profit.

UF = AR 1825 T H 25 faew
A B 8 27% FEa uiEe
WA E S 8 SH 20% 9 |
T % oAU fFa 2 W =Ee s =fen?
(a] Rs. 44.4 per quintal

(b) Rs.120 per quintal

(c) Rs. 87.6 per quintal

(d) Rs.115.8 per quintal

A Vendoﬁ’buys chikoos at 15 for
eﬁndfthen sells at 10 for
Ra 6 What will be the result?

_wﬁaﬁmSwﬁlszﬁm'@ﬂ?m%
AT 6 7w 7 10 3 & &1 T

(a) 12.5% loss (b) 11.11%loss
(c) 12.5% gain (d) 11.1%loss
If a merchant offers a discount
of 4% on the list price, then she
makes a loss of 10%. What %
profit or % loss will she make if
she sells at a discount of 20%
of the list price?

At oF = P T W 4% FW G
TS ®, O S® 10% H THEE S
21 oW 98 g YeT W 20% F FE W
el J=dt, B df 99 e % oy a e
% BT BFI?

(a) 25% loss (b) 4% loss

(c) S0% profit (d) 26% profit
Raj sells a machine for Rs. 51
lakhs at a loss. Had he sold it
for Rs. 60 lakh, his gain would
have been 8 times the earlier

loss. What 1s the cost price of
the machine?

U9 TF W9 51 o 94 § 9 H
I B Az 3T S¥ 60 T ' A
=1 B, @ SUE 9 SHF Ud SR
8 T E HYiH T %A qed 2
(a) Rs. 59 lakhs

(b) Rs. 52 lakhs

(c) Rs. 66.375 lakhs

(d) Rs. 45 lakhs

| 355
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376.

377.

At 22% discount the selling
price of a refrigerator is Rs.
26000, what is the selling price
if the discount 1s 40%?

22% # B2 3 W TH WL H
fa#l #ma 26000 94 21 Al T2

40% < Wil €, d Suw fawl e 378

FI Em?

(a)Rs. 12000 (b) Rs. 14640
(c)Rs. 21840 (d) Rs. 20000
A rice trader buys 16 quintals

of rice for Rs. 1,280. 18% rice
is lost in transportation. At
what rate should he sell to earn
23% profit?

TF dEd AN 1,280 F@ R 16
foriee w@@ wica 21 18% W@
gfEea § e/ 8 W € 39 23%

@ w7 # faw et o 379.

=Ed 49 Jifee?

(a)Rs. 53.33 per quintal

(b) Rs. 98.4 per quintal

(c) Rs. 122.5 per quintal

(d) Rs. 120 per quintal

When a discount of 20% is
given on a movie ticket, the

profit 1s 34%. If the discount is
15%, then the profit 1s:

S T T fee W 20% # g & S
2, @ 34% 1 w1 AR T 15%
&, @ @ fRan g

(a) 49% (b) 42.375%
(c)55.625%  (d) 35.75%
A shopkeeper,

if he decides to sell it at Rs 133 1.4
per kg, what will be the g,esult'-’

T FHAER 1210 % Wi wY
H@gﬂﬁméﬁm%ﬁﬂlwﬂlﬁiﬂ%ﬂm

#1 57 T 1331 T W) Bl & de
e e %, o shEy S oo 2
(b) 6.4 % loss (b) 3.2 % gain
(c) 6.4 % gain (d) 3.2 % loss
A wholesaler sells a watch to a

retailer at a profit of 25% and
the retailer sells it to a cus-
tomer at a loss of 12%. If the
customer pays Rs 1045, what
had it cost the wholesaler?

TF oiF SAWH TF GEa S F T
o2 25% 9 F WY 39 qW & &R

356 |
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sold dried _ ...
apricots at the rate Rs 1210 a /~
kg and bears a loss of 12%. Now\«

TR AR 39 TS H 12%8H &
g A @ 2 AR Wewk 1045 ® F
M F ¢, A o S oarE
#1167

(a) Rs.950
(c) Rs. 1244

(b) Rs. 1149
(d) Rs. 751

.A shopkeeper, sold coco seeds

at the rate Rs.1330 a kg and
bears a loss of 15%. Now if he
decides to sell it at Rs 1463 per
kg, what will be the result?
TF TR 1330 ® Flﬁi feimm &t
W H FEH A duar & R 15% Bl
qeT FO B 3@ IHH 1463 ® Ul
foran 21 o= 1 ufomm g2

(a) 13% loss (b) 6.5 % gain
(c) 6.5 % loss (d) 13 % gain
A wholesaler sells a watch to a
retailer at a gain of 37% and the ¢

retailer sells it to a customer
at a loss of 25%. If the wstosﬁer
pays Rs 2620.125, what}had it

cost the wholesaler? / _J

T o o T G5 amwf‘fﬁ =
et J%ﬂﬁﬁ-‘ma%é‘cﬂ%éﬁiqm
qumaﬁmaﬂzw%mﬁﬂ?ma?ﬁr
T # Afz 620.125 T FHT
rar F, e i
ESI ?ﬂ7 "‘.___,{
(a) R@2550
[(,}R '52'3327

(b) Rs 2692
(d) Rs 2408

\:Apa “trader had 22 quintals of
"wheat. He sold a part of it at
; 23% profit and the rest at 33%

profit, so that he made a total
profit of 27%. How much wheat
did he sell at 33% profit?

TH =AEE % T 22 fEew W o se
w9 fewm 23% @M S A fewm 3%
o WA o, TR U I e 27% o
TN I 33% A W FBRaT W A=
(a) 1320 kg (b) 440 kg

(c) 880 kg (d) 1760 kg

.If a merchant offers a discount

of 10% on the list price, then
she makes a loss of 25%. What
% profit or % loss will she make
if she sells at a discount of 20%

of the list price?

g wF = gE ged W 10 % F
P2 WA Fl 24 3 25% FH TFAA
T 1 3R 9% YA g W 20% FI

382.

' [g} 1.2% loss

y 383
& 4

384.

385.
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T W A e € 59 FRe % erw
=1 famad % wift gnfi?

(a] 5 % profit

(b) 33.33 % loss

(c) 90 % profit

(d) 20 % profit

A shopkeeper sold cashew nuts
at the rate Rs 1,260 a kg and
Now if he
decides to sell it at Rs 1,386 per
kg, what will be the result ?
TF gHEASR 1260 ® yfd fmm st x|
FTS, AT $,30 8% B o F |
mmj;‘i&‘gﬁmuﬁﬁsmawm
mfm"af 24 zmea Fan uftomm B

[a}i 2% gain (b) 2.4% gain
(d) 2.4% loss

‘A shopkeeper sold dried apri-
cots at the rate Rs 1,310 kg and
bears a loss of 13%. Now if he
decides to sell it at Rs 1,440 per
kg, what will be the result ?
& gFEER 1,310 ® ufd fem &t 3
g gEl TEtEr a9 € @R 13% @
oo A 1 o SEA 14,41 ® wfw
mE 4 F Rgen fE E A sHe =
aftome grm?

(a) 8.6% loss  (b) 4.3% profit
(c) 4.3% loss  (d) 8.6% profit
A vendor buys some bananas at
the rate of 2 for Rs 1 and sells
at the rate of 10 for Rs 7. What
will be the result?

wwAFm s T 1EH 2% femm §
wiEa & $R 7® § 10 $ fewm € a9
& 21 THE A R g

(a) 40% loss b) 28 .57 %
gain

(c) 40% gain  (d) 28.5% loss
At 9% discount the selling price
of a washing machine is Rs.
14000, what is the price if the
discount 1s 22% ?

9% Tl B2 T W TF FUS HH FI WA
1 fagl #imd 14000% &, 4 g2 22%
& S T uE faw ge = g
(a) Rs.12000

(b) Rs.9360

(c) Rs.10202.4

(d) Rs.13322.4

bears a loss of 8%.
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386.A rice trader buys 22 quintals

387.

388.

389
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of rice for Rs 3,344. 24% rice is
lost in transportation. At what
rate should he sell to earn 30%
profit?

UF WEe =t 3,344 ® ¥ 22 fégEe
e Gled §1 24% wEe iEe |
TUEAH B ST €1 38 30% o W
A % 0 fFH W =Ed a9 9feu?
(a)Rs. 88.86 per quintal

(b)Rs. 197.6 per quuntal

(c)Rs. 269.2 per quintal

(d) Rs. 260 per quintal

A vendor buys some lemons at
therate of 11 for Rs 10 and sells
at the rate of 4 for Rs 5. What
will be the result?
wfEaas g 0Ed 11 = frum
@ @l € 6k 5 ® W 4 % fewe 4 6w
1 ?1 T F0 wfomm Em?

(a) 37.5 percent loss

(b) 27.2 percent gain

(c)37.5 percent gain

(d)27.2 percent loss

A rice trader buys 26 quintals
of rice for Rs 1872. 28% rice
is lost in transportation. At
what rate should he sell to
earn 10% profit?

TF A= A 1872 ® ° 26 faes
=TaE BRI €1 28% A TEed §
BYE/H B Sl €l 3@ 10% wr

390.

391.

392.

A wholesaler sells a watch to a
retailer at a profit of 33% and
the retailer sells it to a cus-
tomer at a loss of 20%. [f the
customer pays Rs 2181.2, what
had it cost the wholesaler?

TF 9l AR TF GIA AN Hl Th
ot 33% 9 F WA AT 0 E SR G
MR 39 TEH &l 20% 814 & W 99
¥ € AR Wew 21812 € W OPEE
2 A 1 e e o 1 s 2 B
(@)Rs 2050  (b) Rs 2320

[c)Rs 2712 (d) Rs 1780

Raghuram sells a machine for
Rs 43 lakhs at a loss. Had he
sold it for Rs 53 lakhs, his gain

would have been 7 times the
former loss. Find the cost price

of the machine.

TRW TE WY 43 @ ® W AR

A= €1 A 3E 3 53 W ® W s O
B, ﬁ‘lmwwm‘ﬁqﬁw7*‘

T FEN O F T oI A Eh}:
(a)Rs 51.75 lakhs :
(b)Rs 59.14 lakhs /)
(c) Rs 36.75 lakhs _ Ld
(d)Rs 44.25 lakhs, '~

Raghavendra seﬁ% ‘a machlne
for Rs 43 lakhs at a loss. Had
he sold it fof“R€ 52 lakhs. his
gain WOU,l(i Hdve been 5 times
the former,;loss Find the cost
pricg; *o? ‘the machine.

T T W 43 T § o ¥
%l\ﬂﬁfmaﬂsﬂmﬁwma‘r

| w1 & fow fFadt 92 9 9Ed

=1 wTfeu?
(a)Rs 110 per quintal

(b)Rs 47.12 per quintal £

(c)Rs 79.2 per quintal
(d)Rs 102.4 per qulnt,a‘]f

.'),g'
If a merchant offeﬁ/ audiscount

of 10% on the list ptice, then
she makes a los§ of 16%. What
% Profit or % loss will she make
if she sells at a discount of 25%
of the list price?

7 TF = G e W 10% F g
TEH F €, A 59 16% P THEE el
#1 R 9% g god W 25% K B W
Hrel dadl €l 38 e % s A e
o BT E?

(a) 32% profit
(c) 30% loss

(b) 33.33% loss
(d) 5% profit

"’--auem Y IHF qH AL R S5 A B
N R W A qd WS Al

393.

(a) Rs 50.5 lakhs
(b) Rs 60.6 lakhs
(c) Rs 44.5 lakhs
(d) Rs 38.5 lakhs

Rajat sells a machine for Rs 53
lakhs at a loss. Had he sold it
for Rs 64 lakhs, his gain would

have been 10 times the former
loss. Find the cost price of the
machine.

ToTd ek H¥IE 53 @@ ® ° = F a=al
21 af 399 39 64 @ ® H =0 B,
Al 3IHHE 9 IHE Yd W & 10 T
FIa1 WY F HT qed i H
(a) Rs 63 lakhs

(b) Rs69.3 lakhs

(c) Rs 45 lakhs

([d) Rs 54 lakhs

394.

395.

396.

397

398.
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A dishonest milkman buys
milk at Rs 30 per litre and adds
1/5 of water to it and sells the
mixture at Rs 32 per litre. What
will be his gain?

TF AL JUAEN 30 ' wfa oiex # g9
Tt & @i 39H 1/5 9 S fagm
F1 32 & Wi ot & fegm | 9= a1 2
SGEHE AH fRaT B2

(a) 33.33% (b) 50 %

(c) 28 % (d) 25 %
Marked price of an item is Rs
100. On purchase of 2 items
discount’is 25%, on purchase
of 1 ]S,B'éfxﬂ,s discount is 43%.

Regaél buys 6 items, what 1s the
e_ﬂ_‘éet}we discount?

A 1 fafed w100 ® §12 T%]
O BT T 25% BT, 4 9] H TR W

43% w2 frerdlt ¢ TSt 6 A wdE
2, @ 8 faadt waret g2 faent?

(a) 37% (b) 26.25%

(c) 9.6% d) 24.6%

If the selling price 18 Rs 1680

after getting a discount of 16%,
what was the marked price?

afz 16% F g2 fAer & &= faw ge
1680 & 2, & 3ua#! fafea #iaq = «f?
(a) Rs 2000 (b) Rs 1948.8
(c)Rs 1411.2  (d) Rs 1448

.When a discount of 25% 1s

given on a cruise trip, the profit
is 41%. If the discount is 26%,
then the profit is.

59 UF F fod W 25% # g & S
2@ 41% 1 o9 B 21 AT W 26%
1, @ @9 fFa g

(a) 39.12% (b) 67 %

(c) 94.88% (d) 11.24 %

A vendor buys apples at the rate
of 21 for Rs.7 and sells at the

rate of 5 for Rs.2. what will be
the result?

T fapm 7T 21 F oo € O
TEa € AR 2% H 5% fevm § W
a1 THe F ufom g

(a) 20 % loss

(b) 20 % gain

(c) 16.66 % gain,

(d) 16.66 % loss

|" 357
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400

401

402

When a discount of 25% 1s
given on a box of popcorn, the
profit 1s 25%. If the discount is
10%, then the profit is.

W9 UF UOEH & A W 25%
B & IR T, @ 25% F A9 B 2
aft 72 10% @, &t @ fFa em?
(a)35 % (b) 50 %
(c) 20 % (d) 65 %

.A shopkeeper, sold walnuts at

the rate Rs. 1,190/ kg and
bears a loss of 10%. Now if he
decides to sell it at Rs. 1,249.5/
kg.What will be the result ?
TF gFEAER 1,190 ® ufq fm &t <X
q srEde S € 3R 10% @i 98
FT T o HY 1,249.5 ® ¥ fEm.
§ = w1 FHen w2, @ @ w;n
gfomm g,
()11 % loss
(c) 5.5 % gain

(b) 5.5 % loss
(d) 11 % gain

.The total cost of a stove with

cooker was Rs 13,125. The
cooker was sold at a profit of
30% and the stove at a loss of
20%. If the sale price was the
same in both the items, then
the cost price of the cheaper
item was

F W9 S HH HI Fol FiAd 13,125
& offl T FH 30% o9 F WA R
wE #1 20% I F | ae & T

afe <l aegel i fornt god waE an, d
&l % B FT Yol 4 9n? ,:_v"".‘__x

(a)Rs. 8125

(c)Rs. 6562.5 (d) Rs. 6175,

.Rajan sells a machin ﬁ){ Rs.
52 lakhs at a 1031?‘51\;&6 sold

it for Rs 62 lakh, hi€ gain would
have been 9 tﬂ?s the former
loss. What 1s

the machine?

T TF W99 52 o ® § T H
491 €1 A% 394 39 62 @@ ® | *=
BT, W IHF T IEH T A T 9
T BN WU FwOHI FA B
(a)Rs 61 lakhs

(b) Rs 53 lakhs

(c) Rs 67.77 lakhs
(d) Rs 45 lakhs

cost price of
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403.A shopkeeper,sold coco seeds

at the rate Rs1,230 a kg and
bears a loss of 5 %. Now if he
decides to sell it at Rs 1,353 per
kg, what will be the result ?
TF RN 1,230 ¥ 9fd R & R
A FIH o S F 5 %, B A
T © 3 o ST 1,353 % Wi R
M I F hEer fEA T, A @
11 9fome g

(a) 4.5 percent gain

(b) 9 percent gain

(c) 4.5 percent loss

([d) 9 percent loss

404. Daily local train ticket costs Rs

30 and Monthly Pass costs Rs
670.8. If I buy the monthly Pass
and travel for 26 days in a
month than I save?

el 3 ® o o w1 gem 30 %

tl%ﬁﬂ%fﬂme ?ﬁfﬁij
fraeT s it

(@) 12 %
(c) 25 %

(b) 14 %64
(d) 10%"55

405.1f a merchant offers a dlscount

of 20% on the ll,éi:* pnce then
he makes a loss 0f“10%. What
% profit or "/%flosg will she make
if he sells at-a_discount of 5% of
the list p’ncc@

ﬂﬁWWWWWQO% Ff
@mm% dl 38 10% %1 THEHA

Fidh8l TR 9 Gl 9ed W 5% &1 g2
C e et £ SR R % o o

~, fEad % =it =mi?

(a) 6.875 % profit
(b) 20 % profit

(c) 14 % profit

(d) 30 % loss

406.A trader had 16 quintals of

wheat. He sold a part of it at
17% profit and the rest at 27%
profit, so that he made a total
profit of 21%. How much wheat
did he sell at 27% profit?

TF ANE F I 16 T W 36
w9 fewmn 17% @ & art 1 fewar
27% | o% 7= fean, 39 ywR SH w5
21% =g g IEH 27% WY W
foma g a=m
(a) 960 kg
(c) 320 kg

(b) 640 kg
(d) 1280 kg

407.

408.

409.

410.
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The total cost of a washing
machine with an electric
chimney was Rs 57,750. The
electric chimney was sold at a
profit of 34% and the washing
machine at a loss of 24%. If the
sale price was the same in both
the items, then the cost price
of the cheaper item was__

us afein e SR gefRs faud
Fd FAA 57,750 % off1 weifags fawdt
1 34% o9 % WY AR afin weiE w5
24% =M & Wy 99 e @ afe e
% 1 fasel gog |99 o, 9 "%t o

ENNET 2l a7
(b) Rs 2 &50 (b) Rs 20900
[clRéCZB*B?S (d) Rs 25850

A ricg “trader buys 12 quintals

«""Of:ﬂce of Rs 1,870. 15% rice is

% i wfrs Tw =1 e 670.80 % 3 o5 _-\jbﬂlst in transportation, At what

afx & wfew 9 @dwa §, o w0

rate should he sell to earn
20% profit?

TF FEd AN 1870 € | 12 e
ae wiEd g 15% @ee uiEed |
TR B S 21T 20% T U FE
% fou foradt @ W 9@ s=a =fen?
(a) Rs.110.3 per quintal

(b) Rs.187 per quintal

(c) Rs.220 per quintal

(d) Rs.224 per quintal

A man spends 68% of his in-
come and saves the rest. What
percentage of his expenditure
does he save?

TF ASHT 39T 2119 F1 68% TH =
£ 4R TR F S F € TR A9
w1 fherfl wfaem e w7

(a) 83.64 % (b) 95.88 %

(c) 102.68 %  (d) 47.06 %

If a merchant offers a discount
of 40% on the list price, then
he makes a loss of 10%. What
% profit or % loss will he make
if he sells at a discount of 20%
of the list price?

Af u A A qeT W 40% H B
TEH w1 €, @l 39 10% F1 THEE el
#1 3R 9% g go9 W 20% H g2 W
T S, IS R % ey A iR
% BT 217

(a) 4 % loss
(c) 5.5 % loss

(b) 14 % profit
(d) 20 % profit
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A wholesaler sells a watch to a
retailer at a gain of 35% and the
retailer sells it to a customer
at a loss of 25%. If the customer
pays Rs 2379.375, what had it
cost the wholesaler?

TF o ATH TF GaU AUH F TH
el 35% @9 F WY 99 Lo & SR gE
MR 39 e FI 25% B F WY 59
< B A% TEE 2379375 T F TH
6| B 1 o 1 e e ) | R
(a)Rs 2350  (b) Rs 2409
(c)Rs 2928  (d) Rs 2291
The total cost of a washing
machine with a toaster was Rs
10500. The toster was sold at a
Profit of 22% and the washing
machine at a loss of 12%. If the
sale price was the same in both
the items, then the cost price
of the cheaper item was___

o Ay Wi AR G ) we aﬁna
10500 & ©ftl 2T i 22% @ & WY 3iK
= T F12% =T F e == e
T Afe S aRgEt s ged |EE e,
Al Tt g B G A7

(a) Rs 4100 (b) Rs 3250
(c)Rs 7100 (d) Rs 4400
Rajesh sells machine for Rs 57
lakhs at a loss. Had he sold it
for Rs 67 lakhs, his gain would
have been 7 times the former
loss. Find the cost price of the
machine.

[T UF WY 57 @ F H AR H aear )

21 9fx 36 39 67 @@ ® | d= g,
9 SEF 9 IUE qH I W 7 11311
w WA T F e A, ;‘“
(a)Rs 58.25 lakhs
(b)Rs 65.75 lakhs
(c)Rs 75.14 lakhs#
(d)Rs 50.75 la%hs ‘
If 2 pair of trousers is offered
free on purchase of 3 pair of
trousers priced Rs 900 each.
What is the effective discount
on each pair of trousers?

afe Y&F 900 & FHIFd Jel 3 Taed &
SIS @ BT W2 W ® SISl IR
TR F Y F S E, A ok g
+ Il U 99E g2 A s
(a)40% (b) 33.33%

(c) 30% (d) 20%

.\y‘

416.

417.

418.

415.Marked price of an item i1s Rs

900. On purchase of 2 items
discount is 6%, on purchase of
3 items discount is 12%. Rajani
buys 5 Items. What is the ef-

fective discount?

ferelt =g =1 @feRd ged 900% B1 2l
1 @lE W 6% w2 e €, 3 et #
TlT W 12%, 92 ekt 81 T 5 95T
i 2, @ S8 fradt vt g2 frent?
(a) 17.5% (b) 9.6%

(c) 35% (d) 37%

The total cost of a microwave
oven with mixer was Rs
36750.The mixer was sold at a
profit of 32% and the microwave
oven at a loss of 22%. If the sale

price was the same in both the
items, then the cost price of the

cheaper item was:-

36750 ¥ ot fAFR = 32% am@?
T AR TR e F 22% ’aﬁ 3
o a9 fgan mm afz <= aﬁm*‘aﬁ
frspt g3 w9 A m?'r‘r m‘ém ERt
qed 41~ )

(a)Rs 13100 (B)Ré .-18375
(c) Rs 13650 \‘d]Rs 16850

A rice trac!,br bli(ys 16 qulntals
of rice for~ Rs;5632 20% rice is

lost in, transportaion. At what
rate’ sﬁcﬁld he sell to earn 25%

pre aﬁt'J o

{-@aﬁaawrﬂnﬁszﬁn 16 forfeat
e R §1 20% 9Ea uftEe |
) EUEAH B S RS9 25% o e

FH % fou fFad 5T W o=EE ==
=feu?

(a) Rs 225.2 per quintal

(b) Rs 550 per quintal

(c) Rs 440 per quintal

(d) Rs 225.2 per quintal

When a discount of 20% is
given on a monthly train pass,
the profit 1s 44%._ If the discount
18 29%, then the profit is

w4 UH WiEF T TH W 20% F G2
& it € d 44% 1 o g #1 o
Tz 29% I, @ @9 zm

(a) 73 percent loss

(b) 118.2 percent loss

(c) 17.4 percent profit

(d) 27.8 percent profit

L4

419.

420.

422.

423.
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ta] Rs 30000
J€) Rs 40000

A shopkeeper by selling 11 Tag
Heuer watches, earns a profit
equal to the selling price of 3
Tag Heuer watches. His profit
percentage 1is

TF GHAER &I 11 31 @ ufed 99
F 3 o T i i Ol wwa ®
qUEL A BIA € IEH ad e
T #rm?

(a) 27.2% (b) 54.4 %

(c) 37.5 % (d) 16.9 %

At 10% discount the selling
price of a grinder is Rs 48000,

what is the selling price if the
discount JS 25%.

10% @é’qgﬁﬁ W TF TEST Fit Gt
WBO@OE%’ uﬁzg%%aﬁwﬁ
21 @ o fot qem g
(b) Rs 33000
(d) Rs 45000
A wholesaler sells a watch to a
retailer at a gain of 36% and the
retailer sells it to a customer
at a loss of 25%._ If the customer
pays Rs 2499, what had it cost
the wholesaler?

o2 36% 9 F T A &1 2, 3 T
AN 39 WEF FI 25% @ F |/g 5=
3 €1 AR Wew 2499 ® F FIAH FLl
%, @ e SO Y o @ efi?

(a) Rs 2548 (b) Rs 2450
(c)Rs 3123 (d) Rs 2352
Marked price of an item is Rs
800. On purchase of 1 item dis-
count 18 15%, on purchase of 4
items discount is 38%. Rajshri
buyvs 5 items, what is the
efffective discount?

et a5 &1 Sifha qoq 800 & T TH
oH H TR W 15% w2 fert @, 4
agel # wlE W 38% @ fHed 2
Tesdt 5 wEE wiEd €, df 5@ fea
g B fAerit?

(a)33.4 % (b) 16 %

(c)9 % d) 17.5 %
When a discount of 25% 1s
given on a wedding gown, the
profit is 32%. If the discount is
17% then the profit 18

9 TF AfST M W 25% H g2 G
S €, 91 32% 1 @1 gl €1 At g2
17% &, & =9 ...,

(a) 46.08 % (b) 49 %

(c) 51.92 % (d) 43.16 %
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At 24% discount the selling
price of a washing machine is
Rs. 38000, What is the selling
price if the discount is 40% ?
24% = B ¥ W FIE 47 g
1 fast wime 38000 ® 2, af% @2
40% & <t &, @ fast gem 0 Tm?
(a)Rs 18000 (b) Rs 30000
(c) Rs 22320 (d) Rs 31920

A vendor buys oranges at the
rate of 5 for Rs 6 and sells at
the rate of 2 for Rs. 3. What will
be the result?

uF fag@ 6 ® ¥ 5% feum o ot
T & SR 3® H2F feva ¥ A9
@ 21 39E F 9o 2

()25 % loss  (b) 25 % gain
(c)20 % gain (d) 20 % loss
The total cost of a dishwasher
with a vaccum cleaner was Rs
78750. the vaccum cleaner was
sold at a profit of 37% and the
dishwasher at a loss of 27%. If
the sale price was the same in
both the items, then the cost
price of the cheaper item was__

T fevEnn & dHE TR FoHA
F9d 78750 & i IFH FR I
37% w9 F Wy AR fevEwn #=7
27% &f1 & wy &= fean mn afg A
gl w1 fawl geg e o1, 9 "
I H FA Hed__ AN

(a)Rs 51375  (b) Rs 29375
(c)Rs 30750  (d) Rs 27375

Rajeev sells a machine for Rs |

55 lakhs at a loss. Had he sold / :

if for Rs 67 lakhs,
would have been 5 times the./
former loss. Find the cosi;«*pﬁce

of the machine. y "‘4’_
TS Tk HEE 55 & R b
o EAf e 39 67 @i & § A
T, SEH 9 BEF P W F 5
TS WY w1 %A e R
(a)Rs. 65 lakhs

(b) Rs. 57 lakhs

(c) Rs. 78 lakhs

(d) Rs. 49 lakhs

A trader had 6 quintals of
wheat, he sold a part of it at 7%
profit and the rest at 17% profit,
so that he made a total profit of
11%. How much wheat did he
sell at 17 % profit?

360 |
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his gain. - »

TF ANE F IH 6 e 7 an 5w
9 6 7 % @9 i 9w W= e
17 % =9 W 39 fa=n, 70 v 30 5
11% o9 g 383 17% @19 ®

fopa € ==
(a) 360 kg (b) 240 kg
(c) 120 kg (d) 480 kg

429, Raheem sells a machine for Rs

48 lakhs at a loss. Had he sold
it for Rs 60 lakhs, his gain
would have been 5 times the
former loss. Find the cost price
of the machine.

TEH UH 93T 48 7@ F | = A sl
%1 afk 3% 39 60 @@ ® ® o g,
Al IUH 9 IHE Y9 WIS H 5 T
a1 WY 1 % Hod U H

(a) Rs. 58 lakhs

(b) Rs. 69.6 lakhs

(c) Rs. 42 lakhs

(d) Rs. 50 lakhs P
430.Raghunandan sells a machme

for Rs 45 lakhs at a loss: ‘Had
he sold it for Rs 55 13121’18" his

gain would have been 9 “times
the former loss. e}3"111(1 the cost

price of the machu{e

T Th e 48)era & § uR A
a8 A ST 55 e ® F A
e, mm IHE Y4 W H 9
el 2l Wi 1 %A Hed W F
ta};‘Rs 45 lakhs (b) Rs.46 lakhs
{gle 60 lakhs (d) Rs.38 lakhs

431 At 15% discount the selhng

", price of a microwave oven is Rs.

34000, what is the selling price
if the discount is 37.5%?

15% 1 §2 3 W TF Highiad ad
1 fskl 194 34000 & #, afX g2 37.
5% @ St €, @ 39w fawl gew @
Tm?

(a) Rs. 25000
(c) Rs.17968.75
(d) Rs. 29218.75

(b) Rs. 5625

432. A shopkeeper sold pistachios at

the rate Rs 1140 a kg and bears
a loss of 5%. Now if he decides
to sell it at Rs 1260 per kg, what
will be the result?

TF HEAER 1140 ® 9fd fmm #t w
forea e € @i 5% wfT aed s B
| O 1260 ® wfa fem @ =1 W
Fgen fFa 2, @ 79 F 9o gy

433

434
e

(a) 10 % gain  (b) S % gain
(c) S % loss (d) 10 % loss

.The total cost of refrigertor with

an oven was Rs.12000. The oven
was sold at a profit of 20% and
the refrigerator at a loss of 28%.
if the sale price was the same
in both the items, the cost price
of the cheaper item was:

wF e 3R e # ose wibd
12000. & off| =" F 20% &9 =
Y I W w1 28% e & Y
o9 e wm A <A1 FEgE @ fawt g

Ww,?{@ﬂﬂﬂ%ﬂ 17
(a) Rs 4500 (b) Rs. 7500
(c) Ré 6000 (d) Rs. 5000

A Wl’fo]esalPr sells watch to a

” re___téjler at a gain of 20% and the
(“retailer sells it to a customer

435

436.
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at a loss of 10% if the customer

pays Rs 874.8, what had it cost
the wholesaler ?

TF o4F AN TF G50 ANE F TR
TR 20% T4 F e 3= 3 ¢ i g
SN 39 Wesk F 10 % w19 % g 5=
W ¥ AR Wew I 874.8 ® F TN
1 I ol o e s e 0 )
(a) Rs 945 (b) Rs. 810

(c) Rs. 994 (d) Rs. 675

.A vendor buys pens at the rate

of 4 for Rs 5 and sells at the
rate of 4 for Rs 3. What will be

the result?

wEEm s s 4% feom o W
TN E 33 T H 4 % fewa ¥ 99
3 #1 The @ uform B
(a)40% gain  (b) 66.6 % loss
(c) 66.6% gain(d) 40 % loss
Daily ticket of a local train
costs Rs. 140 and Monthly pass
costs Rs. 3276. If Mohan buys
the Monthly pass and travels for

30 days in a month then what
amount does he save?

e 3 # I fome ®1 gew 140
w9 £ iR Wifgs 99 #1 9eq 3276
w9l ¥ aft wie A a wlea @
s W § 30 fam A wTaw €, Al
SHFE R = B

(a] 18% (b)16%

(c) 15% d) 22%
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The cost price of an article is
Rs x. It 1s marked up by 200%.
It is sold at Rs. 540 after giving
25% discount. What 1s the value
of x (in Rs)?

fft ag #1 @ e x wOH B oI
200% ¥ Fere sifwd faan w1 25%
T 3 B 9% TH 540 T H &= T4
x & 94 (F9df §) F0 87

(a) 360 (b) 250

(c) 300 (d) 240

The selling price of an article
is Rs. 816 if the discount on it
18 15%. What would be the sell-
ing price of the article (in Rs) if
the discount on it is 25%?

forlt =g 1 o Tea 816 ®99 & Af 39
W 15% 3 & St § 4 25% 2 & -
oAy = R e (W) T o
(a) 750 (b) 720

(c) 800 (d) 700

If a vendor sells a coconut at
Rs. 14.4 he makes 10% loss. If
he wants to make 25% profit,

then at what price (in Rs)
should he sell?

afc w¢ fa@a 14.4 =9 § =fEe
o € @ 38 10% THEA B 21 Al
e 25% W9 FHAA FEdl ¢ al 59 e
FAd W (& H) TEa a=4 87

(a) 18 (b) 20

(c)16 (d) 22

At a village trade fair a man buys
a horse and a camel together for

Rs. 51,250. He sold the horse at
a profit of 25% and the camel at 3.
a loss of 20%. If he sold both the_;j’f

ammals at the same price, th
the cost price of the chgépcr
animal was Rs._ .
s % At ¥ uF A 3 v
F Fe wA faert 51250
@ﬂmm%ﬁ%%mmaﬂr
% 1 20% B gL A e Ak se
AT SR F A e WA 9 '
e F AR Yo ... F T 4t

(a) 6600 (b) 7500

(c) 25000 (d) 20000

On a certain item profit 1s 150%.
If the cost price increases by
25%. What will be the new profit
margin (in %)?

frdt favm aeg w9 150% 21 afx
A 25% 9 STt € at 74 e wiie
(% ®) @ gm?

(b) 50
(d) 75

(a) 25
(c) 100

442.1f a website is selling smartphone

at Rs 18,000 which 1s marked at
Rs 25,000 then what 1s the
discount(in%) at which the
smartphone is being sold?

e I FEEIEE 25000 T HH A fHEr
P B H 18,000 € H 59 W@ 2 Al
WEEH W o g2 % #) firet @ 82
(a) 25 (b) 22

(c) 28 (d) 20

443.A shopkeeper marks up his

wares by 125% and offers 25%
discount. What will be the sell-
ing if the cost price (in Rs) is
Rs 6407

125% § @1 21 & 3N 25% 2 241 81 4

’Jﬁﬁmﬁzm“ﬁw%ﬁ’rﬁmﬁw
(TwEi |) =R g

(a) 1080 (b) 100f
(c) 920 (),860

444 A trader had .ZOQﬂ kgs of rice.

He sold a part of itet 10% profit
and the restfat‘/lﬁ% profit, so
that he rnédtt"a total profit of
14.2%. How “much rice (in kg)
did He séﬂl at 10% profit?

ol Torsh <6 T 2000 fohan, <o &1

AEHE T T AT 10% TH T
T B HIT T 16% W9 T A=A S qE
V0 SH e WY 14.2% B 594 foned TR

@ 10% oY 9 w5917
(a) 1400 (b) 600
(c) 800 (d) 1000

3131 a:ﬂ? 445. A used car dealer sells a car for

Rs 7.6 lakhs and makes some
loss. If he had sold if for Rs 9.2

lakhs his profit would been
thrice his loss. What was the cost

price of the car (in Rs lakhs)?
T € HN SR SRl HW A 7.6 7RI
T d9a1 ¢ R I8 HY THEE o &
A% 7% W 9.2 TG T H oaw @ SHH
@Y IHSE! B T A AT BN HW HT
w4 Hed F 917 (e T H)

(a)8.5 (b) 8.75

(c) 8.25 d) 8

446.

447.

448.

449.
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A and B invest in a business in
the ratio 2 : 5. If 50% of the to-
tal profit goes to charity and A's
share is Rs 3.6 lakhs, the total
profit is Rs__ lakhs.

Adn B3 2:5% aua ¥ frdt
fasm # fraor fram afe %@ eng &1
50% wf &1 W & SR A w e
3.6 @ % & A HeA 9.7 &l
(a) 12.6 (b) 25.2

(c) 37.8 d) 16.8

If the cost price of an article is
Rs X. Itji‘§ ‘marked up by 100%.
It is stild 4t Rs 1,200 after giv-
ing, 29% discount. What 1is

__..value of X?
f.'ﬁf?{:ﬁﬁqﬂﬂﬁ?)(?%l‘sﬂ
100% wert sfra fEam T =g

20% ¥2 31 % 9" 1200 ¥ H &=
T X w1 A 7

(a) 750 (b) 1500

(c) 1000 (d) 2000

The price of a product after get-
ting 20% discount is Rs 3,024
which inchides 5% tax on sell-
ing price. What was the marked
price (in Rs) of the product?
20% T2 & uva fdl owg =1 ®ia
3,024 % ¢ fomd fasg qe9 W 5%
I (F) o wife ¥ S oA W
#trd gea (% ) # 8?

(a) 3780 (b) 2742

(c) 3600 (d) 2880

An oil refinery buys oil at Rs 3600
per barrel. There is 10% wastage.
If the retinery wants to earn 5%
profit then at what price should
it sell including 8% tax on sell-
ing price? (in Rs per barrel)

F e At 3600 ¥ ufd s
% feum @ o wled 2 o@d ®©
10% =1¢f & < €1 afE ReeTd 5%
1 U F Ared & a3 sifee fEy
qed W d= =ifen o 8% ot
wfaa &1 (g Wit W H)

(a) 3674 (b) 3711

(c) 4219 (d) 4536
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A vendor sells a cocorut at Rs 24
and suffers 24% loss. If he wants
to make 14% profit, then at what
price (in Rs) should he sell?

afe &g fagkar TMEA F1 24 79 H
T B A I 24% TEEA 2 2 Aty
a8 14% @19 FAF 9 € 9 39 fFa
Hed (T W) W I S= Afe?
(a)32 (b) 30

(c) 36 (d) 28

A villager buys a goat and a
sheep together for Rs 14,250.
He sold the sheep at a profit of

10% and the goat at a loss of
20%. If he sold both the ani-
mals at the same price, then
what was the cost price of the
cheaper animal?

UF U Al 3 TR aed SR Th
92 uF g 14,250 ¥ ® w5 39
2 F1 10% e F Wer 3 "awh
20% #f1 | &= afs 3T A SEe
F FAA Hed T d9 d TR S
w7 A F

(a) 8250 (b) 6600

(c) 7500 (d) 6000

On a certain item profit is
120%. If the cost price increases
by 10% then what will be the
new profit margin (in %) if sell-
ing price remains the same?

fotl e W e 120% 1 47 %4
qea 10% @ @2 w1 2 @i fawa
qed F8 ® ot 74 end wifsa @
BM? (% )
(a)50
(c) 100

(b) 60
(d) 90

A retailer marks up his gogxds} "

by 150% and offers 40% dis-
count. What will be the isé]llng
price (In Rs) if the cogf p}lce is
Rs 8007

U G T aru-—r WH &1 oA
150% B wEER AfwnoAT aﬂT
40% 1 ¥ d?\ﬁiglwﬁﬂﬂaﬂ‘fﬂ
{00 ® g A1 39 fawt g (wud
#) 1 grm?

(a) 1200 (b) 1500

(c) 1000 (d) 2000

On a television of brand A the
discount is 25% and on televi-
sion of brand B the discount is
40%. The price of B after dis-
count Rs 2,250 greater than
the price of A after discount.
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What is the marked price A (in

Rs) if marked price or B is
35,0007

WE Ah T oiias 9K 25% Hl ¥
% 3R &E B% efifasd W 40% &1
2 B W2 & 9%, BH God WL B TR
A HEa 9 2250 T HUF T AH
sifenn Hed (w9d §) w41 2, 9fc B
oA qea 35,000 T 72

(a) 18750 (b) 21000

(c) 25000 (d) 17850

455.1f 60% discount of offered on the

marked price and selling price
becomes equal to cost price
then what the % mark up?

9% e Hod W 60% W2 T GHT
&1 ot & ain fafs goa end god &

W%’laﬁ%,ﬁwﬁmﬁ%ﬁrm

T FHfora Toran o’
(a) 100
(c) 150

¥
&

40 _taD

456.A vendor buys bananas At 9 for

Rs 8 and sells at 8 fji‘Rs 9.
What will be the p,a‘oﬁt or loss

(1n%)? AN

TF I 8 ® H9 a4 e £ 9
QEHSWW%WWHW
THIH (%*ﬁh = Em?

(a) 13 ’28956 proﬁt/'13 28% ™9

:b]’26 56% loss/26.56% BT
IejQﬁ 56% profit/26.56% w9

.~ (d) 13.28 loss/13.28 Bl
£ 457 If a stall sells a pizza at Rs 200

he makes 20% loss if he wants
to make 10% profit then at
what price (in Rs) should he
sell?

afs #1E w=fer 200 & § fowan d=a @
Al SW 20% 1 THAF Bl B, 3R B
10% T St FT e ¢, @ T/
FH gea ¥ (% §) g9 =nfsu?

(a) 250 (b) 300

(c) 275 (d) 325

458. A wholesaler had 200 dozens of

mangoes. He sold some of the
these mangoes at 20% profit
and the rest at 10% profit, so
that he made 13% profit on sell-
ing all the mangoes. How many
mangoes (in dozens) did he sell
at 20% profit?

(b) 250

459.

460:
\_‘_by 120% and offers 30%
““discount. What will be the

461.

462.
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TF 4i% A9R F 9 200 T AH
d| I W | HD AH FI 20% TN
W 3R 99 A E 10% Y W A,
i a5 | AW FH g W 13%
T FHH Heh | THA 20% o9 W

AW (TS H) F9?
(a) 140 (b) 60
(c) 80 (d) 120

If the selling price is tripled and
cost price doubled the profit
would become 65%. What is the
present profit (in%)?

A Tkl o1 4 i T 8 A AT
T TAT B A OEH 65% B SO
Hios1 (_'IT}?‘ f % ®) ¥ §?

(2) 2’9; \J (b) 15

[c) 25 (d) 10

A trader marks up in his goods

selling price (in Rs.) if the cost
price is Rs. 750 ?

TF TR A9 FRga W e 120%
@ wgrE fafed w3 € 3K 30% %
g2 3 F1 A @E ged 750 T
g @ faw e (v ) @ e
(a) 1225 (b) 1080

(c) 1280 (d 1155

A vendor buys bananas at 7 for
Rs. 6 and sells at 6 for Rs. 7.
What will be the result ?

T fagdr 6% | 7 Fel THE ¢ 3R
7 v H 6 el w=al g1 3EE g
B

(a) 36.1 % loss /=¥

(b) 26.5 % Profit/=mv

(c) 36.1 % Profit/=m9

(d) 26.5 % loss /=7

A miner sells a diamond to a
trader at a profit of 40% and the
trader sells it to a customer at
a profit of 25%. If the customer
pays Rs. 56 lakhs to buy the
diamond, what had it cost the
miner (in Rs. lakhs) ?

U= wfe fRdl = F 40% & o1y
T UF A= @ 2 = e 25%
F o9 W AEF HI d=dl ¢ A uew
% 30 €1 F wlE & fo 56 e w9
%1 P fma €, @ |t | 98 @
fored vl (e vl o) o fien?
(a) 30 (b) 28

(c) 25 @ 32
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463.

464.
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A grocer had 1600 kgs of wheat.
He sold a part of it at 20% profit
and the rest at 12% profit, so
that he made a total profit of
17%. How much wheat (in kg)
did he sell at 20% profit?

T I faga  9d 1600 fFemmy
g € THF T 90 F SE 20% @Y
TR A SR A S g ar w 12%
G T A T WER W FHol 17% =y
Il IEH 20% ¥ W fRaw T
(feeimm o) =12

(a) 600 (b) 1000
(c) 800 (d 1200
A used two wheeler dealer

sells a scooter for Rs. 46,000
and makes some loss. If he
had sold it for Rs. 58,000 his
profit would have been double
his loss. What was the cost
price (in Rs.) of the scooter?
WH TR & fawar 4 Uw e
46,000 €941 § a1 3R 38 F THEH
Tam =fz 3T 78 58,000 i H &=
Tl o SHHE o9 $9F THAE W A
Bl et 1 A Yod (F9E W)
o7

(a) 52000 (b) 54000
(c) 48000 (d 50000
P

465.

466.

A retailer marks up his goods
by 20% and then offers 25%
discount. What will be the sell-
ing price on an item that he
sells if its cost price (in Rs) is
Rs 2500?

T Fewt faEmd 20% a6 AT HHA F
sifea a2 ol fvr 25% =2 2 21
gt Fa (¥ ) F 2, s ITE
@M FIHA 2500 & €7

(a) 2400 (b) 3000
(c) 2750 (d) 2250
A trader buys jowar at Rs 30 per
kg. 20% of the grain gets
wasted. He plans to sell the re-

maining grain so that he

makes 40% overall profit. At ¢~
what price (in Rs. per kg) &

should hLe sell the gra_in?: f ‘:
TF AN 30 & v fEma w5 ‘é‘;a’f{
w1 3 amaa:rzmsﬁiﬁm
%1 9% 9 oS # 'a’gm § &=
Ao A & it A 40 T e
FA T | IH [FR FET W (F 9
feram) aw?c"ai[{ﬁam =ifeu?

o (b) 50
«-~ d) 47.5

467

468.

O
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.If a vendor sells a watermelon

at Rs 69 he makes 8% loss. If
he wants to make 16% profit

then at what price (in Rs)
should he sell?

AR FE famdl 69 & | UH TS F=5d
2 @ S 8% THIM B B AR 9T 16
% TATF FHA R € 9 IQ 9 TGS
frg Fma W (F. H) 39 Tifeu?
(a)91 (b) 83

(c) 87 (d) 79

The cost of 25 items 1s the
same as ithe revenue by sell-
ing X ite :s Find X, if the profit
made in the transaction is 25%

25 $Eg %1 v X oEeA A A

aﬁuﬁm % e 81 X 91 #, 4 7
(R H W g A9 25%

(a) 25
(c) 20

(b) 16.67
(d) 32

.An item 1s sold for Rs 7130

making a 15% profit. What is
the cost price (in Rs) of this
item?

UF T 7130 & F 5= o & R 15%
A B €139 WS H AN oA (& W)
1 2?
(a] 6000
(c) 6250

(b) 6125
(d) 6200

| 363
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q” ANswER KEY “F

1. (a) 48. (a) 95. (a) 142.(b) 189.(d) 236.(a) 283.(c) 330.(c) 377.(a) 424. (b)
2. () 49. (c) 96. (c) 143.(q 190. (b) 237.(h) 284.(a) 331.(c) 378.(c) 425.(d)
2. (o) 50. (b) 07. (d) 144. (b) 191.(d) 238.(b) 285.(h) 332.(d) 379 (a) 426.(d)
4. ) 51. () 98. (c 145.(b) 192.(d) 239.(c) 286.(b) 333.(0) 380.(c) 427.(b)
5. (a) 52. (b) 99. (d) 146. (a) 193.(c) 240.(b) 287.(c) 334. (b 381.(h) 428.(d)
6. (a) 53. (o) 100. (a) 147. () 194.(b) 241.(c) 288. (d) 335.(¢) 382.(a) 429 .(d)
7. 54. (a) 101.(c) 148.(g) 195.(c) 242.(c) 289.(b) 336.(b) 383.(c) 430.()
8. (b 55. (a) 102. () 149.(c) 196. (c) 243.(d) 290.(c) 337.(d) 384.(c) 431.(a)
9. (d 56. (d) 103.(c) 150. (a) 197.(a) 244.(d) 291.(c) 338.(0) 385.(a) 432.(b)
10. (c) 57. (c) 104.(d) 151.(c) 198.(a) 245.(b) 292.(b) 339.(d] 386.(d) 433.(a)
11. (b) 58. (c) 105. (d) 152.(d) 199.(c) 246.(d) 293.(a) 340.(a) 387.(c) 434.(b)
12. (d) 59. (b) 106. (b) 153.(d) 200.(d) 247 .(c) 294.(d) 341.(c) ‘,f"} 388.(a) 435.(d)
13. (b) 60. (a) 107.(b) 154.(¢) 201.(d) 248.(d) 205. (c) 342. {b};{» Ej389-{0} 436. (d)
14. (4 61. (b) 108. (b) 155.(c) 202.(c) 249.(c) 296. (b) 343%b) \ 1 390.(a) 437.(d)
15. (d) 62. (b) 109. (c) 156. (a) 203.(b) 250.(a) 297.(b) 344+(a) J 391.(d) 438.(b)
16. () 63. (b) 110. (c) 157.(h) 204.(a) 251.(c) 298. (b) 345{4% 392.(c) 439.(b)
17. (¢ 64. (b) 111.() 158.(d) 205.(d) 252.(b) 299.(b) | © 346.(d) 393.(d) 440.(d)
18. (c) 65. (c) 112.(d) 159.(a) 206. (b) 253.(d) 300. (d)f 647 (<) 394.(c) 441.(c)
19. (a) 66. (b) 113.(d) 160.(d) 207.(a) 254.(b) 301-{6% \ “348.(d) 395.(a) 442.(c)
20. (c) 67. (c) 114.(c) 161.(c) 208.(b) 255.(d) 30_2-{aif 349.(a) 396.(a) 443.(a)
21. (d) 68. (c) 115.(c) 162.(d) 200. (b) 256.(c) i(d) 350. (b 397.(a) 444 .(b)
22. () 69. (c) 116.(c) 163.(c) 210.(a) 257.(d) 4i(a) 351.(¢) 398.(b) 445.(d)
23. () 70. (a) 117.(c) 164. (a) 211.(a) 258.(a) \”5150 (€) 352. (b 399.(b) 446. (b)
24. (d) 71. (b) 118.(a) 165. (a) 212.(a) 259.(0) 7, _J306. (b) 353.(q) 400.(b) 447.(a)
25. (c) 72. (b) 119.(c) 166. (a) 213.(c) 263 (c) . 307.(d) 354.() 401.(h) 448.(c)
26. (c) 73. (b) 120. (b) 167.(a) 214.(d) “a), 7| 308.(a) 355.(d] 402.(h) 449.(d)
27. (b) 74. (d) 121.(c) 168.(c) 215.(a) fd} 309.(d) 356. () 403.(a) 450.(¢)
28. (a) 75. (b) 122.(d) 169. (a) 216.(d) 263 (c) 310.(a) 357. (b) 404 (b) 451.(d)
29. (b) 76. (d) 123.(d) 170. (c) 217.(c). f 7264, (a) 311.(a) 358.(a) 405.(a) 452.(c)
30. (b) 77. (o) 124.(b) 171.(h) 218.(d T/ 265.(c) 312.(c) 359.(a) 406. (b) 453.(a)
31. (b) 78. (d) 125.(d) 172.(c) 2194b))}” 266.(b) 313.(a) 360. (a) 407.(b) 454.(c)
32. (a) 79. (b) 126. (d) 173. (b _ &y 267. (b) 314.(b) 361.(c) 408.(c) 455.(c)
33. (b) 80. (b) 127.(a) 174. (b %2}5’% c) 268.(c) 315.(d) 362. (¢ 409.(d) 456.(c)
34. (d) 81. (h) 128 (b) 175.(b) 299 (a) 269 (h) 316.(a) 363.(d) 410.(d) 457 .(c)
35. (a) 82. (a) 129, (d) 176. {a}r”\ 23.(c) 270.(c) 317.(c) 364. (a) 411.(a) 458.(h)
36. (o) 83. (4 130.(b) 177.@) 201 224.(Q) 271.(d) 318.(d) 365. (d] 412.(d) 459.(d)
37. (o) 84. (b) 131.(c) 178.c) 225.(c) 272.(c) 319.() 366. (c) 413.(8) 460.(d)
38. (a) 85. (c) 132.(b) ,1‘79@} 226.(b) 273.(h) 320.(d) 367.(a) 414.(a) 461.(c)
39. (d) 86. (d) 133.(a) | .. '180.(c) 227.(c) 274.(c) 321.(d) 368. (o) 415.(0) 462.(d)
40. (a) 87. (a) 134. (b]eq _A81.(0 228.(d) 275.(c) 322.(b) 369.(b) 416.(c) 463.(b)
41. (o) 88. (a) 135.() . 182.(q) 229.(d) 276.(b) 323.(a) 370.(a) 417.(h) 46, (d)
42. (b) 89. (a) 1364(¢) ©183.(d) 230.(c) 277.(c) 324.(a) 371.(a) 418.(d) 465.(d)
43. (b) 90. (d) {b]r 184.(a) 231.(h) 278.(c) 325.(d) 372.(h) 419.(c) 466.(c)
44. (a) 91. (¢ 1387 (c) 185.(d) 232.(c) 279.(h) 326._(a) 373.(d) 420.(c) 467.(c)
45. (c) 92. (d) [%.239.(c) 186.(c) 233.(b) 280.(b) 327.(d) 374.(d) 421.(b) 468.(c)
46. (b) 93. (¢~ | "140.(c) 187.(a) 234.(b) 281.(b) 328. (b) 375.() 422.(3) 469.(d)
47. (a) 94. (@7 “141.(0) 188.1(a) 235.(a) 282 .(c) 329.(c) 376.(d) 423.(a)
364 ”
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